
CHEMISTRY

AAKASH INSTITUTE ENGLISH

THE P-BLOCK ELEMENTS

Example

1. Why does boron triflouride behave as a Lewis acid ?

Watch Video Solution

2. Possible oxidation states of boron family elements are :

A. +1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qUTvXtylqRTw
https://dl.doubtnut.com/l/_Q1iOBomTgNJL


B. +2

C. +3

D. +4

Watch Video Solution

3. Give colour of bead when glassy bead reacts with TiO.

Watch Video Solution

4. What is the basicity of orthoboric acid ?

Watch Video Solution

5. Why boron fibre is used in body armour?

https://dl.doubtnut.com/l/_Q1iOBomTgNJL
https://dl.doubtnut.com/l/_ui2xeIEF66jW
https://dl.doubtnut.com/l/_Np6ZvQ6u7lfo
https://dl.doubtnut.com/l/_fQbXYSBj9NWM


Watch Video Solution

6. The control rods used in a muclear reactor can be made up of

Watch Video Solution

7. Name an aluminium compound that can be used in

chromatography.

Watch Video Solution

8. On moving down the group in carbon family stability of group

oxidation state +4 decreases why?

Watch Video Solution

https://dl.doubtnut.com/l/_fQbXYSBj9NWM
https://dl.doubtnut.com/l/_oaLejWUNbK3x
https://dl.doubtnut.com/l/_PYjfiqB4G4G1
https://dl.doubtnut.com/l/_bVAjg0AiAf8M


9. At room temperature,  is a gas while  is a solid because

Watch Video Solution

CO2 SiO2

10. Why  cannot exist?

Watch Video Solution

[SiCl6] −

11. Give correct order of increasing first ionization energy in carbon

family.

Watch Video Solution

12. For , one mole of  and three moles of 

are at pressure of 4 atm. Equilibrium pressure is found to be 3 atm.

Hence,  is:

N2 + 3H2 ⇌ 2NH3 N2 H2

Kp

https://dl.doubtnut.com/l/_AbnAJu1CEsz3
https://dl.doubtnut.com/l/_ERRwHAL4Hukb
https://dl.doubtnut.com/l/_tejLTR8kdyDp
https://dl.doubtnut.com/l/_ueM3qDS9y5Td


Watch Video Solution

13. Which element of the carbon family does not dissolve in aqueous

NaOH to evolve hydrogen gas?

Watch Video Solution

14. Given three reasons for anomalous behaviour of carbon.

Watch Video Solution

15. What is hybridisation of carbon in ?

Watch Video Solution

CO2

16. Silicones are used as.

https://dl.doubtnut.com/l/_ueM3qDS9y5Td
https://dl.doubtnut.com/l/_uB2QaypAEaF4
https://dl.doubtnut.com/l/_IHxcft3nftRT
https://dl.doubtnut.com/l/_NO8bCPU4b9YD
https://dl.doubtnut.com/l/_WlflxtgEP15d


Watch Video Solution

17. Why silicon dioxide in non-reactive?

Watch Video Solution

18. (a) Though nitrogen exhibits  oxidation state, it does not form

pentahalide. Give reason. 

(b)  has lower boiling point than . Why ?

Watch Video Solution

+5

PH3 NH3

19.  has lower boiling point than . Why?

Watch Video Solution

PH3 NH3

https://dl.doubtnut.com/l/_WlflxtgEP15d
https://dl.doubtnut.com/l/_RuYtv6fHHTpD
https://dl.doubtnut.com/l/_RNSEmHbvTUjL
https://dl.doubtnut.com/l/_XAGxYhNttpv3


20. Write the reaction of thermal decomposition of sodium azide

Watch Video Solution

21. Why does  acts as a Lewise base?

Watch Video Solution

NH3

22. why does  dimerise?

Watch Video Solution

NO2

23. How can it be proved that  is basic in nature?

Watch Video Solution

PH3

https://dl.doubtnut.com/l/_66zFQBnYB3JK
https://dl.doubtnut.com/l/_3NCSIwddbPWu
https://dl.doubtnut.com/l/_C5P4p5sYAhtA
https://dl.doubtnut.com/l/_UA63ATHNYQv2


24. Why does  fume in moisture ?

Watch Video Solution

PCl3

25. In  phosphorus is in  d hybridised state but all its five

bonds are not equivalent. Justify your answer with reason.

Watch Video Solution

PCl5 sp3

26. How do you account for reducing behaviour of  on the

basis of its structure?

Watch Video Solution

H3PO2

27. Write the structure of pyrophosphoric acid.

Watch Video Solution

https://dl.doubtnut.com/l/_NijfKq6KYq2D
https://dl.doubtnut.com/l/_pm3Yw8ILqO40
https://dl.doubtnut.com/l/_ZoWcgzMfmpPn
https://dl.doubtnut.com/l/_oM3UgiZvayD5


28. Which among the elements of group 16 is radioactive ?

Watch Video Solution

29. is less acidic than . Why?

Watch Video Solution

H2S H2Te

30. Why is  less acidic than  ?

Watch Video Solution

H2S H2Te

31. Predict hybridisation and shape of  molecule.

Watch Video Solution

SF4

https://dl.doubtnut.com/l/_oM3UgiZvayD5
https://dl.doubtnut.com/l/_9EbOqDAlbmci
https://dl.doubtnut.com/l/_Z5A9w9Ahavts
https://dl.doubtnut.com/l/_tmUxZTgtupnM
https://dl.doubtnut.com/l/_ntxUDsO4pBTl


32. What happens when 

(i) Concentrated  is added to calcium fluoride 

(ii)  is passed through water?

Watch Video Solution

H2SO4

SO3

33. Give one example each of acidic, basic, amphoteric and neutral

oxides.

Watch Video Solution

34. Draw structure of peroxodisulphuric acid. 

Watch Video Solution

https://dl.doubtnut.com/l/_uCONoO0nEntB
https://dl.doubtnut.com/l/_lgQKXj6l1hX9
https://dl.doubtnut.com/l/_Oo1DVENxYPjD


35. Why do halogens have maximum negative electron gain enthalpy

in the respective periods of the periodic table?

Watch Video Solution

36. Although  of fluorine is less negative than that of chlorine,

but fluorine is a stronger oxidising agent than chlorine. Why?

Watch Video Solution

ΔegH

37. Fluorine exhibits only -1 oxidation state whereas other halogens

show +1, +3, +5 and +7 oxidation states also. Explain.

Watch Video Solution

38. Give correct order of boiling point of hydride of group 17.

https://dl.doubtnut.com/l/_KNiQiGlvjCuE
https://dl.doubtnut.com/l/_MqlLaLU1ATrn
https://dl.doubtnut.com/l/_1refJnLSADIw
https://dl.doubtnut.com/l/_zidjamPE6f8k


Watch Video Solution

39. Write balanced equation for reaction of  with hot and conc.

NaOH is this reaction a disproportionation one? Justify.

Watch Video Solution

Cl2

40. Give two use of 

Watch Video Solution

Cl2

41. When HCl reacts with finely powdered iron, it forms ferrous

chloride and not ferric chloride, why?

Watch Video Solution

https://dl.doubtnut.com/l/_zidjamPE6f8k
https://dl.doubtnut.com/l/_XisGG989sjaD
https://dl.doubtnut.com/l/_9Sjh4lVrma1t
https://dl.doubtnut.com/l/_lAFtcdgvZ1Ac


42. Deduce the molecular shape of  on the basis VSEPR theory.

Watch Video Solution

BrF3

43. Why elements of group 18 known as noble gases?

Watch Video Solution

44. Why do noble gases have low boiling points ?

Watch Video Solution

45. Does the hydrolysis of  lead to a redox reaction?

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_JHGB1bPn5QIz
https://dl.doubtnut.com/l/_DmCnVYx8DiSK
https://dl.doubtnut.com/l/_STfj3YExHgTv
https://dl.doubtnut.com/l/_aoQFFCwlqJ9b


Try yourself

46.  is insoluble in anhydrous HF but when little KF is added to

the compound it becomes soluble. On addition of  is

precipitated. Write balanced chemical equation.

Watch Video Solution

AlF3

BF3, AlF3

47. A mixture  is given to you. How would

you separate it??

Watch Video Solution

Al(OH)3 and Fe(OH)3

1. 

Watch Video Solution

BF3 + HF →

https://dl.doubtnut.com/l/_HliYBvOQBNbV
https://dl.doubtnut.com/l/_Cpc4CtZ5if9P
https://dl.doubtnut.com/l/_IpdoK3wrzbW4
https://dl.doubtnut.com/l/_FJD3jHAPKSgQ


2. Give one method of preparation of 

Watch Video Solution

Na2B4O7

3. Give hydrolysis product of trihalides of boron family.

Watch Video Solution

4. What is the oxidation number of Fe and Cr in 
​

A. +2 and +3

B. 0 and +2

C. +2 and+6

D. +3 and +6

Watch Video Solution

FeCr2O4

https://dl.doubtnut.com/l/_FJD3jHAPKSgQ
https://dl.doubtnut.com/l/_z6M0csWKlgNc
https://dl.doubtnut.com/l/_s7nvysApS7tL


5. What happens when aluminium is treated with conc. ?

Watch Video Solution

HNO3

6. Give oxidation state of all boron atom in borax.

Watch Video Solution

7. Give chemical composition of glassy bead.

Watch Video Solution

8. Give colour of bead produced when glassy bead reacts with CuO

Watch Video Solution

https://dl.doubtnut.com/l/_s7nvysApS7tL
https://dl.doubtnut.com/l/_hyO178ZRhj1c
https://dl.doubtnut.com/l/_jUM8bZEP9m5i
https://dl.doubtnut.com/l/_R0QAK2LUbPwl
https://dl.doubtnut.com/l/_M0OtGhbZft4g


9. How would you prepare boric anhydride from boric acid?

Watch Video Solution

10. How would you prepare tetraboric acid from boric acid?

Watch Video Solution

11. Name anhydride of boron family which is highly unstable.

Watch Video Solution

12. Name a compound which is artifical Lapis-Lazuli.

Watch Video Solution

https://dl.doubtnut.com/l/_16Gowc397LeZ
https://dl.doubtnut.com/l/_EPknRuxbrPKf
https://dl.doubtnut.com/l/_h8WxHADPXGFz
https://dl.doubtnut.com/l/_9uqq7y7aQ3H1


13. Give an example of the following:

A carbon compound containing two double bonds.

Watch Video Solution

14. Give one use of alum.

Watch Video Solution

15. Name an aluminium compound that can be used in manufacture

of dyes, drugs and perfumes.

Watch Video Solution

16. Which is the hardest compound of boron?

Watch Video Solution

https://dl.doubtnut.com/l/_pBBYp6jvQuv0
https://dl.doubtnut.com/l/_ZttdgUYT8bi3
https://dl.doubtnut.com/l/_6OU2kgNF6TUH
https://dl.doubtnut.com/l/_gy6G3r2GO3UY


17. Give one use of borax.

Watch Video Solution

18. The order of catenation power is

A. C>Si>Ge>Sn

B. Si>C>Ge>Sn

C. Ge>Sn>Si>C

D. Ge>Sn>C>Si

Watch Video Solution

https://dl.doubtnut.com/l/_gy6G3r2GO3UY
https://dl.doubtnut.com/l/_K8hAZ6msSdbm
https://dl.doubtnut.com/l/_2exWlC1P7EIL


19. Explain, why is the +2 oxidation state of lead more stable than

the +2 oxidation state of tin.

Watch Video Solution

20. Why m.p. and b.p. of group 14 elements are higher in comparison

to group 13?

Watch Video Solution

21. Why tetrahalides other than carbon can increase its co-

ordination number?

Watch Video Solution

22. Name the type of bonding in lead.

https://dl.doubtnut.com/l/_STG9HfZ68Nv3
https://dl.doubtnut.com/l/_TJ1FNDvSYu4K
https://dl.doubtnut.com/l/_HQqFBljvWAR8
https://dl.doubtnut.com/l/_3dzCRobN4cyn


Watch Video Solution

23. A compound of Xe and F is found to have 53.3% Xe (At. mass

=133). Oxidation number of Xe in this compound is

Watch Video Solution

24. Name the element in carbon family that can be afected by water.

Watch Video Solution

25. name two form of graphite.

Watch Video Solution

26. What is the type of graphite structure?

https://dl.doubtnut.com/l/_3dzCRobN4cyn
https://dl.doubtnut.com/l/_JMFjPsIWbiSZ
https://dl.doubtnut.com/l/_WnIOCPfvo1Od
https://dl.doubtnut.com/l/_VFYETnxDSlDN
https://dl.doubtnut.com/l/_E1SFAlRzC2Ji


Watch Video Solution

27. Explain why graphite is soft and can be used as a lubricant.

Watch Video Solution

28. How can you obtain lamp black?

Watch Video Solution

29. It requires 40.05 ml of 1M  to titrate 20ml of 1 M  to 

 . What is the oxidation state of the cerium in the product

Watch Video Solution

Ce4 + Sn2 +

Sn4 +

30. How will you prepare fullerene?

https://dl.doubtnut.com/l/_E1SFAlRzC2Ji
https://dl.doubtnut.com/l/_79Ptc1NjhvgG
https://dl.doubtnut.com/l/_GCqwpMWSItVe
https://dl.doubtnut.com/l/_n9J9wzcELQjz
https://dl.doubtnut.com/l/_2Zu8utq2bWB7


Watch Video Solution

31. The oxidation number of C atom in  and  are

respectively

Watch Video Solution

CH2Cl2 CCl4

32. What is glass?

Watch Video Solution

33. Compound that is used as catalyst in petrochemical industries.

Watch Video Solution

34. Name one natural silicate and one synthetic silicate?

https://dl.doubtnut.com/l/_2Zu8utq2bWB7
https://dl.doubtnut.com/l/_bOIYn8QpNsww
https://dl.doubtnut.com/l/_LLz2ia9NIcpG
https://dl.doubtnut.com/l/_Idm2UdqlhVIb
https://dl.doubtnut.com/l/_WaUrb5fOgdU1


Watch Video Solution

35. What is the hybridisation of silicon in orthosilicate?

Watch Video Solution

36. Why are pentahalides of P, As, Sb and Bi more covalent than their

trihalides?

Watch Video Solution

37. Why is  the strongest reducing agent amongst all the

hydrides of Group 15 elements ?

Watch Video Solution

BiH3

https://dl.doubtnut.com/l/_WaUrb5fOgdU1
https://dl.doubtnut.com/l/_OjNsGKUMuUKR
https://dl.doubtnut.com/l/_Xot6ajLGsX01
https://dl.doubtnut.com/l/_MCCp5u3i62SP


38. Why is  less reactive at room temperature?

Watch Video Solution

N2

39. Mention the conditions required to maximise the yield of

ammonia

Watch Video Solution

40. How does ammonia react with a solution of ?

Watch Video Solution

Cu+
2

41. (a) Bond angle in  is higher than that in . Why? 

(b) What is formed when  reacts with an acid?

Watch Video Solution

PH
+

4 PH3

PH3

https://dl.doubtnut.com/l/_8qv9pxnCxcms
https://dl.doubtnut.com/l/_Ap1aG3hBxSRE
https://dl.doubtnut.com/l/_oLvBa7RfSckS
https://dl.doubtnut.com/l/_0ru97ONxeErQ


42. What happens when white phosphorus is heated with

concentrated NaOH solution in an inert atmosphere of  ?

Watch Video Solution

CO2

43. What happens when  is heated ?

Watch Video Solution

PCl5

44. Write a balanced equation for the reaction of  with water.

Watch Video Solution

PCl5

45. What happens when phosphorus acids  is heated ?

Watch Video Solution

(H3PO3)

https://dl.doubtnut.com/l/_0ru97ONxeErQ
https://dl.doubtnut.com/l/_z5DcFQ8Ht1uF
https://dl.doubtnut.com/l/_7746cQy9NQfV
https://dl.doubtnut.com/l/_Bi505K42Lfnx
https://dl.doubtnut.com/l/_do15ydJWixWl


46. List the important sources of sulphur.

Watch Video Solution

47. Why is  a liquid and  a gas ?

Watch Video Solution

H2O H2S

48. Write the order of thermal stability of the hydrides of Group 16

elements

Watch Video Solution

49. Anomalous behaviour of oxygen is due to

Watch Video Solution

https://dl.doubtnut.com/l/_do15ydJWixWl
https://dl.doubtnut.com/l/_8p2VlrOeazZs
https://dl.doubtnut.com/l/_fklOMBxYiBPC
https://dl.doubtnut.com/l/_PfghC0p0as1e
https://dl.doubtnut.com/l/_cZQ2xam5SV0r


50. Which of the following does not react with oxygen directly? 

Zn, Ti, Pt, Fe

Watch Video Solution

51. Complete the following reactions: 

(i)  

(ii) 

Watch Video Solution

C2H4 + O2 →

4Al + 3O2 →

52. Why does  act as a powerful oxidising agent?

Watch Video Solution

O3

https://dl.doubtnut.com/l/_cZQ2xam5SV0r
https://dl.doubtnut.com/l/_Cmsl6NZNDlP6
https://dl.doubtnut.com/l/_MncvjJplFHcK
https://dl.doubtnut.com/l/_Wn8k8gYD6Ud6


53. How is  estimated quantitatively?

Watch Video Solution

O3

54. What happens when sulphur dioxide is passed through an

aqueous solution of Fe(III) salt?

Watch Video Solution

55. Comment on the nature of two S–O bonds formed in 

molecule. Are the two S–O bonds in this molecule equal ?

Watch Video Solution

SO2

56. How is the presence of  detected ?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_h9Qu9GaowTkI
https://dl.doubtnut.com/l/_xHJYBdY6ZHQS
https://dl.doubtnut.com/l/_gjku9phzC2xG
https://dl.doubtnut.com/l/_lnzn1KecBUEJ


57. Mention three areas in which  plays an important role.

Watch Video Solution

H2SO4

58. Write the conditions to maximise the yield of  by Contact

proces.

Watch Video Solution

H2SO4

59. Why is  for  in water ?

Watch Video Solution

Ka2 < < Ka1 H2SO4

60. Considering the parameters such as bond dissociation enthalpy,

electron gain enthalpy and hydration enthalpy, compare the

https://dl.doubtnut.com/l/_lnzn1KecBUEJ
https://dl.doubtnut.com/l/_FwmYf6KVMcvc
https://dl.doubtnut.com/l/_WV804Y7P9aCq
https://dl.doubtnut.com/l/_orM9Cl24kUwq
https://dl.doubtnut.com/l/_xXFSsq46Mte8


oxidising power of 

Watch Video Solution

F2 and Cl2

61. Give two examples to show the anomalous behaviour of fluorine.

Watch Video Solution

62. Give two examples to show the anomalous behaviour of fluorine.

Watch Video Solution

63. Sea is the greatest source of some halogens. Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_xXFSsq46Mte8
https://dl.doubtnut.com/l/_xyoS0eQ6rC1Z
https://dl.doubtnut.com/l/_3uN46Hr6a220
https://dl.doubtnut.com/l/_FLOkzvDx2a3Z


64. Name two poisonous gases which can be prepared from chlorine

gas.

Watch Video Solution

65. Why is ICl more reactive than ?

Watch Video Solution

I2

66. Draw structure and give hybridisation of .

Watch Video Solution

IF7

67. Why is helium used in diving apparatus?

Watch Video Solution

https://dl.doubtnut.com/l/_IKth1IZg18sa
https://dl.doubtnut.com/l/_ju0ZqSwy35cU
https://dl.doubtnut.com/l/_ANanaZaWma69
https://dl.doubtnut.com/l/_ziKvBRCVIxQ1


68. Balance the following equation:

Watch Video Solution

XeF6 + H2O → XeO2F2 + HF

69. Why has it been difficult to study the chemistry of radon?

Watch Video Solution

70. List the uses of neon and argon gases.

Watch Video Solution

71. Complete the reaction :


Watch Video Solution

BF3 + HF →

https://dl.doubtnut.com/l/_DsD5KplM9zHl
https://dl.doubtnut.com/l/_3XPgl4l2BMYe
https://dl.doubtnut.com/l/_FBTRvQZnhOdi
https://dl.doubtnut.com/l/_klmeCUjMrwuu


72. give one method of preparation of 

Watch Video Solution

Na2B4O7

73. Give hydrolysis product of trihalides of boron family.

Watch Video Solution

74. 2Sn (s) + 2 NaOH (aq) + 

Watch Video Solution

2H2O →

75. What happens when aluminium is treated with conc. ?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_PUQUTqB6CwYo
https://dl.doubtnut.com/l/_OD1koFoXCifW
https://dl.doubtnut.com/l/_b4TWViJjjX1J
https://dl.doubtnut.com/l/_5SsTMRXgJIew


76. Give oxidation state of all boron atom in borax.

Watch Video Solution

77. Give chemical composition of glassy bead .

Watch Video Solution

78. Give colour of bead produced when glassy bead reacts with CuO

Watch Video Solution

79. How would you prepare boric anhydride from boric acid ?

Watch Video Solution

https://dl.doubtnut.com/l/_Sa8wCAYSqFgx
https://dl.doubtnut.com/l/_8zHdL9v7jORb
https://dl.doubtnut.com/l/_6uXKalFweexS
https://dl.doubtnut.com/l/_9QFDGj35VaFs


80. How would you prepare tetraboric acid from boric acid ?

Watch Video Solution

81. Name anhydride of boron family which is highly unstable.

Watch Video Solution

82. Name a compound which is artifical Lapis-Lazuli.

Watch Video Solution

83. What is the percentage of sulphur in ultramarine ?

Watch Video Solution

https://dl.doubtnut.com/l/_k7RtX4zInmDW
https://dl.doubtnut.com/l/_T6A8dOH9ObI8
https://dl.doubtnut.com/l/_yinfOpZmyJN3
https://dl.doubtnut.com/l/_8ghnYGlapzg5


84. Give one use of Alum.

Watch Video Solution

85. name an aluminium compound that can be used in manufacture

of dyes, drugs and perfumes.

Watch Video Solution

86. Which is the hardest compound of boron?

Watch Video Solution

87. Give one use of borax.

Watch Video Solution

https://dl.doubtnut.com/l/_Erdumu2Qeua1
https://dl.doubtnut.com/l/_ZYMG4CRbUuJU
https://dl.doubtnut.com/l/_K4A0U8WlP0wa
https://dl.doubtnut.com/l/_nbD82iBktPdG


88. Give decreasing order of catenation of carbon family .

Watch Video Solution

89. Why +2 oxidation state is more predominant for lead

compounds ?

Watch Video Solution

90. Why m.p. and b.p. of group 14 elements are higher in comparison

to group 13?

Watch Video Solution

91. Give hydrolysis product of .

Watch Video Solution

CCl4

https://dl.doubtnut.com/l/_RWoWI9yMIPer
https://dl.doubtnut.com/l/_1qjsA1BxJSYU
https://dl.doubtnut.com/l/_WVtUDujDffNN
https://dl.doubtnut.com/l/_DCZM4WtQBQyH


92. Give hydrolysis product of .

Watch Video Solution

SiF4

93. Why tetrahalides other than carbon can increase its co-

ordination number?

Watch Video Solution

94. Name the type of bonding in lead.

Watch Video Solution

95. Name the type of bonding in  and 

Watch Video Solution

SnF4 PbF4

https://dl.doubtnut.com/l/_DCZM4WtQBQyH
https://dl.doubtnut.com/l/_oCyoPZosaXhJ
https://dl.doubtnut.com/l/_GgyyRK7snzMi
https://dl.doubtnut.com/l/_REvYvdZs0UCK
https://dl.doubtnut.com/l/_ZKHUyFqK5WFU


96. Name the element in carbon family that can be affected by water.

Watch Video Solution

97. Give number of pentagonal rings in fullerence .

Watch Video Solution

98. name two form of graphite.

Watch Video Solution

99. What is the type of graphite structure?

Watch Video Solution

https://dl.doubtnut.com/l/_ZKHUyFqK5WFU
https://dl.doubtnut.com/l/_z5BBmZ2eWoTl
https://dl.doubtnut.com/l/_L1kV46rDzaaA
https://dl.doubtnut.com/l/_jIKRJX6MJrOG
https://dl.doubtnut.com/l/_76ruhyeVjEj1


100. Why graphite is preferred over grease as lubricating agent?

Watch Video Solution

101. How can you obtain lampblack?

Watch Video Solution

102. Name the superior quality of coal which burns with non-smoky

flame.

Watch Video Solution

103. How will you prepare fullerene?

Watch Video Solution

https://dl.doubtnut.com/l/_Pz5mphlmJ0IY
https://dl.doubtnut.com/l/_uMQyesgJY3n6
https://dl.doubtnut.com/l/_VkuSg28a6Bo6
https://dl.doubtnut.com/l/_1pdxwDiSRscv


104. The Avogadro's number is  per gm mole and

electronic charge is C . The Faraday's number is

Watch Video Solution

6.02 × 1023

1.6 × 10− 19

105. What is glass?

Watch Video Solution

106. Name a compound that is used as catalyst in petrochemical

industries.

Watch Video Solution

107. Name one natural silicate and one synthetic silicate?

Watch Video Solution

https://dl.doubtnut.com/l/_yj8OwXlZpXep
https://dl.doubtnut.com/l/_9ZgdhkFOa38c
https://dl.doubtnut.com/l/_Qyf6bzgqpwze
https://dl.doubtnut.com/l/_NqSDLhy1lGhR


108. What is the hybridisation of silicon in orthosilicate?

Watch Video Solution

109. Why are pentahalides of P, As, Sb and Bi more covalent than

their trihalides?

Watch Video Solution

110. Why is  the strongest reducing agent amongst all the

hydrides of Group 15 elements ?

Watch Video Solution

BiH3

111. Why is  less reactive at room temperature?N2

https://dl.doubtnut.com/l/_NqSDLhy1lGhR
https://dl.doubtnut.com/l/_QjHFaDLqmQ3b
https://dl.doubtnut.com/l/_pURv36anNyDT
https://dl.doubtnut.com/l/_eFLOQTMu71IB
https://dl.doubtnut.com/l/_VYWwwXrpkcNe


Watch Video Solution

112. Mention the conditions required to maximise the yield of

ammonia

Watch Video Solution

113. How does ammonia react with a solution of  ?

Watch Video Solution

Cu2 +

114. What is the covalence of nitrogen in  ?

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_VYWwwXrpkcNe
https://dl.doubtnut.com/l/_0D5Dp6lTR3wY
https://dl.doubtnut.com/l/_PLfxr8RnYJZI
https://dl.doubtnut.com/l/_eGuIzHPzom2l


115. (a) Bond angle in  is higher than that in . Why? 

(b) What is formed when  reacts with an acid?

Watch Video Solution

PH
+

4 PH3

PH3

116. What happens when white phosphorus is heated with conc.

NaOH solution in an inert atmosphere of  ?

Watch Video Solution

CO2

117. What happens when  is heated ?

Watch Video Solution

PCl5

118. Write balanced equation for reaction of  with heavy water .

]

PCl5

https://dl.doubtnut.com/l/_sUTNxO2upJdV
https://dl.doubtnut.com/l/_1kakS8kcZocq
https://dl.doubtnut.com/l/_aUk1emPgXjok
https://dl.doubtnut.com/l/_tcIwJzOFeplJ


Watch Video Solution

119. What is the basicity of ?

Watch Video Solution

H3PO4

120. What happens when  is heated ?

Watch Video Solution

H3PO3

121. List the important sources of sulphur.

Watch Video Solution

122. Why is  a liquid and  a gas ?

Watch Video Solution

H2O H2S

https://dl.doubtnut.com/l/_tcIwJzOFeplJ
https://dl.doubtnut.com/l/_7GzFZNQoSXFq
https://dl.doubtnut.com/l/_BbhGp48ey46I
https://dl.doubtnut.com/l/_TQ46DPS3kU8T
https://dl.doubtnut.com/l/_RElMeMd8qaJM


123. Write the order of thermal stability of the hydrides of Group 16

elements

Watch Video Solution

124. Anomalous behaviour of oxygen is due to

Watch Video Solution

125. Which of the following does not react with oxygen directly? 

Zn, Ti, Pt, Fe

Watch Video Solution

https://dl.doubtnut.com/l/_RElMeMd8qaJM
https://dl.doubtnut.com/l/_im3jOR7tdv5a
https://dl.doubtnut.com/l/_biAAVXkzVow5
https://dl.doubtnut.com/l/_4Ut7lVazfBwd


126. Complete the following reactions: 

(i)  

(ii) 

Watch Video Solution

C2H4 + O2 →

4Al + 3O2 →

127. Why does  act as a powerful oxidising agent?

Watch Video Solution

O3

128. How is  estimated quantitatively?

Watch Video Solution

O3

129. What happens when sulphur dioxide is passed through an

aqueous solution of Fe(III) salt?

https://dl.doubtnut.com/l/_WHnQYtloH3vD
https://dl.doubtnut.com/l/_yMWb1ev6FX2o
https://dl.doubtnut.com/l/_uYLOhe97dn1f
https://dl.doubtnut.com/l/_yTy4kq11uigX


Watch Video Solution

130. Comment on the nature of two S–O bonds formed in 

molecule. Are the two S–O bonds in this molecule equal ?

Watch Video Solution

SO2

131. How is the presence of  detected ?

Watch Video Solution

SO2

132. Mention three areas in which  plays an important role.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_yTy4kq11uigX
https://dl.doubtnut.com/l/_QqX8LTLqvWI8
https://dl.doubtnut.com/l/_PdcwCYPMu7Si
https://dl.doubtnut.com/l/_Cq78lqMVJ33L


133. Write the conditions to maximise the yield of  by

Contact proces.

Watch Video Solution

H2SO4

134. Why is  for  in water ?

Watch Video Solution

Ka2 < < Ka1 H2SO4

135. Considering the parameters such as bond dissociation enthalpy,

electron gain enthalpy and hydration enthalpy, compare the

oxidising power of 

Watch Video Solution

F2 and Cl2

https://dl.doubtnut.com/l/_He4eIeRVJuIK
https://dl.doubtnut.com/l/_ZBEfaryYVI06
https://dl.doubtnut.com/l/_gSjiI28gEKu0


136. Give two examples to show the anomalous behaviour of

fluorine.

Watch Video Solution

137. Sea is the greatest source of some halogens. Comment.

Watch Video Solution

138. Give the reason for bleaching action of .

Watch Video Solution

Cl2

139. Name three gases which can be prepared from chlorine gas.

Watch Video Solution

https://dl.doubtnut.com/l/_Tuc892Q5RWRL
https://dl.doubtnut.com/l/_x0V4nzNehKJ3
https://dl.doubtnut.com/l/_2KYq2VYvgdUx
https://dl.doubtnut.com/l/_urUpGWQcw2kj


140. Why is ICl more reactive than ?

Watch Video Solution

I2

141. Draw structure and give hybridisation of .

Watch Video Solution

IF7

142. Why is helium used in diving apparatus?

Watch Video Solution

143. Balance the following equation:

Watch Video Solution

XeF6 + H2O → XeO2F2 + HF

https://dl.doubtnut.com/l/_ynvZVMArEWkN
https://dl.doubtnut.com/l/_qFYUYV0atiKO
https://dl.doubtnut.com/l/_rEIRW2SowtpM
https://dl.doubtnut.com/l/_GpcRV4OLGTqS


Assignment Section-A)

144. Why has it been difficult to study the chemistry of radon?

Watch Video Solution

145. List out the uses of Neon.

Watch Video Solution

1. How do the Density property vary on moving down the group 13?

A. Increases

B. Decreases

C. First decreases then increases

D. Remains same

https://dl.doubtnut.com/l/_e8glpfVbdA4m
https://dl.doubtnut.com/l/_f5AYg8ZQJhdS
https://dl.doubtnut.com/l/_dx7LuGHBWLBv


Answer: A

Watch Video Solution

2. Boron has an extremely high melting point because of

A. Small covalent molecule

B. Giant covalent molecule

C. Giant covalent solid

D. Giant ionic molecule

Answer: C

Watch Video Solution

3. Which element of group 13 forms covalent compounds only

https://dl.doubtnut.com/l/_dx7LuGHBWLBv
https://dl.doubtnut.com/l/_jcD5BTVSuNsX
https://dl.doubtnut.com/l/_DpUhqqoi8rsV


A. Size of ions is small

B. Sum of three ionisation energies is very high

C. Electronegativity values are high

D. All of these

Answer: D

Watch Video Solution

4. On moving down the group, the basic nature of hydroxide of

boron family.

A. Decreases

B. Increases

C. First decreases then increases

D. Remains same

https://dl.doubtnut.com/l/_DpUhqqoi8rsV
https://dl.doubtnut.com/l/_QKWVsC8JYC6Z


Answer: B

Watch Video Solution

5. General oxidation state shown by group 13 elements is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+1 and + 3

+1, + 2 and + 3

+2, + 3 and + 4

+1 and + 4

6. Which one of the following elements of group 13 can react with

alkali solutions to give  gas?H2

https://dl.doubtnut.com/l/_QKWVsC8JYC6Z
https://dl.doubtnut.com/l/_KHtcGSM22xD1
https://dl.doubtnut.com/l/_EjuzoUchZBC4


A. Boron

B. Aluminium

C. Gallium

D. All of these

Answer: D

Watch Video Solution

7. Why does the Lewis acid strength of boron halides follow the

order  ?

A. 

B. 

C. 

D. 

BBr3 > BCl3 > BF3

Bl3 > BBr3 > BCl3 > BF3

BF3 > BCl3 > BBr3 > Bl3

BCl3 > BF3 > BBr3 > Bl3

Bl3 > BBr3 < BF3 < HCl3

https://dl.doubtnut.com/l/_EjuzoUchZBC4
https://dl.doubtnut.com/l/_HK9D3Z0C10nW


Answer: A

Watch Video Solution

8. Dimer  is formed because

A. Al is electron rich

B. Aluminium is having lone pair of electron

C. aluminium forms covalent bonds with chlorine to complete its

octet

D. Aluminium donates lone pair to form bridge

Answer: C

Watch Video Solution

Al2Cl6

https://dl.doubtnut.com/l/_HK9D3Z0C10nW
https://dl.doubtnut.com/l/_8uKGxbioDJ1T


9. When we heat borax strongly then it will yield the following

compound

A. 

B. 

C. 

D. Both 1 and 2

Answer: D

Watch Video Solution

NaBO2

B2O3

Na2B4O7

10.  will accept how many  ions?

A. 1

B. 2

B(OH)3 OH −

https://dl.doubtnut.com/l/_e0m1cQxKkRdI
https://dl.doubtnut.com/l/_RdLxIOwQA9gP


C. 3

D. 4

Answer: A

Watch Video Solution

11. Boric acid is polymeric due to 

(a) its acidic nature , (b) the presence of hydrogen bonds 

(c) its monobasic nature , (d) its geometry

A. Basic nature

B. Acidic nature

C. Hydrogen bonds

D. Co-ordinate bonds

Answer: C

https://dl.doubtnut.com/l/_RdLxIOwQA9gP
https://dl.doubtnut.com/l/_FNWdonK8xBuq


Watch Video Solution

12. Select the incorrect statement for 

A. It contains B-B ionic bond

B. Each boron is  hybridised

C. it has two types of hydrogen bonds

D. All of these

Answer: A

Watch Video Solution

B2H6

sp3

13. If diborane each boron has three electrons bonds around each B

atom and form

A. Two

https://dl.doubtnut.com/l/_FNWdonK8xBuq
https://dl.doubtnut.com/l/_saLKd1Qh3PRL
https://dl.doubtnut.com/l/_jgE5lcLMia0b


B. Three

C. Four

D. Five

Answer: C

Watch Video Solution

14. Which of the following structure is similar to graphite.

A. Boron nitride

B. Boron carbide

C. Aluminium oxide

D. Aluminium carbide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jgE5lcLMia0b
https://dl.doubtnut.com/l/_tK9FB6VKU6pt


15. The number of sigma and pi bonds present in inorganic benzene

are respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3σ, 12π

12σ, 3π

3σ, 3π

12σ, 12π

16. Why are alloys used for making standard resistance coils?

A. Resistance to corrosion

B. Poor conductivity

https://dl.doubtnut.com/l/_tK9FB6VKU6pt
https://dl.doubtnut.com/l/_ZcwHUTRXvchO
https://dl.doubtnut.com/l/_di7Ea07SLAfK


C. heaviness

D. All of these

Answer: A

Watch Video Solution

17. Which of the following alkali metal does not form alum ?

A. Li

B. Na

C. K

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_di7Ea07SLAfK
https://dl.doubtnut.com/l/_6n4m7MCFbPYz
https://dl.doubtnut.com/l/_W7AvBPF4IQZg


18. Write the general valence shell electronic configuration of group

14 elements.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns2

ns2np4

ns2np6

ns2np2

19. Tendency of carbon for catenation is because carbon-carbon

atoms bond energy is

A. Low

B. High

https://dl.doubtnut.com/l/_W7AvBPF4IQZg
https://dl.doubtnut.com/l/_KuERdFzRvTIB


C. Zero

D. Negative

Answer: B

Watch Video Solution

20. All elements except carbon have tendency to show maximum

covalency of six

A. Due to absence of vacant d-orbitals

B. Due to presence of vacant d-orbitals

C. Due to presence of partially filled d-orbitals.

D. Due to presence of completely filled d-orbitals.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KuERdFzRvTIB
https://dl.doubtnut.com/l/_bNG7v6iN2iFH


21. Most abundant metal in earth crust is :

A. Silicon

B. Germanium

C. Aluminium

D. Arsenic

Answer: C

Watch Video Solution

22. Metalloid among the following is

A. Carbon.

B. Germanium

C. Lead

https://dl.doubtnut.com/l/_bNG7v6iN2iFH
https://dl.doubtnut.com/l/_0XX1WvassK7w
https://dl.doubtnut.com/l/_XMckdZMZQDDj


D. All of these

Answer: B

Watch Video Solution

23. On moving down the group, acidic nature of oxides of group 14.

A. Decreases

B. Increases

C. Remains same

D. Increases then decreases

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XMckdZMZQDDj
https://dl.doubtnut.com/l/_kmmbrhIM3kcp


24. Which one of the following elements forms double or triple bond

involving  bonding?

A. Carbon

B. Silicon

C. Germanium

D. Tin

Answer: A

Watch Video Solution

pπ − pπ

25. Allotropy is due to

A. Difference in the number of atoms in the molecules in the

crystal

https://dl.doubtnut.com/l/_hDW7rnFUgeUq
https://dl.doubtnut.com/l/_PCBLASTFKNQY


B. difference in the preparation

C. Difference in physical properties

D. All of these

Answer: D

Watch Video Solution

26. Which of the following elements exhibit maximum number of

allotropes ?

A. Tin

B. Germanium

C. Silicon

D. Lead

Answer: A

https://dl.doubtnut.com/l/_PCBLASTFKNQY
https://dl.doubtnut.com/l/_x2D2AcwBdRVD


Watch Video Solution

27. For diamond, state the element present at the lattice sites, the

number of nearest neighbours for each atom and the type of cell.

State the hybridization of the carbon atom in diamond.

A.  hybridisation

B.  hybridisation

C.  hybridisation

D.  hybridisation

Answer: A

Watch Video Solution

sp3

sp

sp2

sp3d2

28. Graphite has a two dimensional sheet-like structure in which

each carbon atom is  hybridized .sp3

https://dl.doubtnut.com/l/_x2D2AcwBdRVD
https://dl.doubtnut.com/l/_UEQGnPL6mq7N
https://dl.doubtnut.com/l/_OcJIbvFT5Dt7


A. 2-D sheet structure

B. Van der waals forces between different layers

C.  hybridised carbon linked with other three carbon atoms in

hexagonal planar structure

D. All of these

Answer: D

Watch Video Solution

sp2

29. Assertion : Fullerenes are the only pure form of carbon. 

Reason : It contains twenty, five membered rings and twelve, six

membered rings.

A. Interlocking of hexagonal carbon rings

B. Interlocking of pentagonal carbon rings

https://dl.doubtnut.com/l/_OcJIbvFT5Dt7
https://dl.doubtnut.com/l/_VydGZyXylWLJ


C. Interlocking of hexagonal and pentagonal carbon rings

D. Interlocking of hexagonal and heptagonal carbon rings

Answer: C

Watch Video Solution

30. Graphite is

A. Ionic

B. Covalent

C. Co-ordinate

D. Metallic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VydGZyXylWLJ
https://dl.doubtnut.com/l/_CMey94Esgwpx
https://dl.doubtnut.com/l/_hX4l64VUZkS0


31. Which one of the following is properties of CO gas?

A. It is a colourless gas

B. it is an odourless gas

C. it is a neutral oxide

D. All of these

Answer: D

Watch Video Solution

32. Carbonic acid is a

A. Weak tribasic acid

B. Weak dibasic acid

C. Strong tribasic acid

https://dl.doubtnut.com/l/_hX4l64VUZkS0
https://dl.doubtnut.com/l/_eX2uonmeaUfe


D. Strong dibasic acid

Answer: B

Watch Video Solution

33. Organosilicon polymers containing Si-O-Si linkage is called

A. Silicates

B. Silicones

C. Glass

D. Silica

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eX2uonmeaUfe
https://dl.doubtnut.com/l/_iNV7MvogmtxB


34. Number of points at which tetrahedral units are linked in

pyrosilicates is

A. Five point

B. Six point

C. Two point

D. One point

Answer: D

Watch Video Solution

35. The geometry of  ion is

A. Triangular

B. Tetrahedral

SiO
4 −
4

https://dl.doubtnut.com/l/_kIa0RnRcWVtp
https://dl.doubtnut.com/l/_OOcC0NiQena8


C. Pentagonal bipyramidal

D. Linear

Answer: B

Watch Video Solution

36. A liquid which is permanently supercooled is frequently called a

……….. .

A. Glass

B. Silicates

C. Silicones

D. Silica garden

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OOcC0NiQena8
https://dl.doubtnut.com/l/_i6jyrTOr9m7u


37. Which is mismatched ?

A. halogens- group 17

B. Chalcogens-group 16

C. Pnictogens - group 14

D. Noble gases - group 18

Answer: C

Watch Video Solution

38. Fluoroapatite is represented by the formula

A. 

B. 

C. 

CaF2

Na3AlF6

Ca3(PO4)2

https://dl.doubtnut.com/l/_i6jyrTOr9m7u
https://dl.doubtnut.com/l/_sfLtxaFLdpD3
https://dl.doubtnut.com/l/_F4lJfViOBpFl


D. 

Answer: D

Watch Video Solution

3Ca3(PO4)2 ⋅ CaF2

39. Correct order of electronegativity of group 15

A. N>P>As>Sb

B. Sb>As>P>N

C. N>As>P>Sb

D. N>As>Sb>P

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_F4lJfViOBpFl
https://dl.doubtnut.com/l/_5slxO3JIiZen


40. Maximum covalent character is shown by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NCl3

PCl3

AsCl3

SbCl3

41.  on disproportionation gives  and

A. 

B. 

C. NO

HNO2 HNO3

NO2

N2O5

https://dl.doubtnut.com/l/_K2qVNduexbti
https://dl.doubtnut.com/l/_Qb7P2miQMWui


D. All of these can form

Answer: C

Watch Video Solution

42. The correct order of acidic character is

A. 

B. 

C. 

D. All of the above

Answer: D

Watch Video Solution

P4O10 > P4O6

N2O5 > N2O3

N2O3 > P4O6

https://dl.doubtnut.com/l/_Qb7P2miQMWui
https://dl.doubtnut.com/l/_4WunUNaUJCbT


43. In which of the following reactions, products given are not

correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(NH4)2Cr2O7

Δ
−−→ N2 + 4H2O + Cr2O3

Ba(N3)2

Δ
−−→ Ba + 3N2

3Mg + N2

Δ
−−→ Mg3N2

NH4Cl + NaNO2 → NaCl + NH3 + NO2

44. Oxide of nitrogen which is acidic in nature and blue solid

A. 

B. 

N2O

NO

https://dl.doubtnut.com/l/_yRG3ocPGv6gb
https://dl.doubtnut.com/l/_5rDAwxkaVeEy


C. 

D. 

Answer: C

Watch Video Solution

N2O3

NO2

45. Valency and oxidation number of nitrogen in 

A. 5,+5

B. 4,+5

C. 3,+3

D. 3,+5

Answer: B

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_5rDAwxkaVeEy
https://dl.doubtnut.com/l/_VGtlNm5T2Re8
https://dl.doubtnut.com/l/_8ZhNMSVOgTtc


46. Which has maximum bond angle?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

PH3

AsH3

SbH3

47.  


Compound (A) is

A. 

B. 

C. 

(A) + SbF5 → [XeF3] + [SbF6] −

XeF2

XeF4

XeF6

https://dl.doubtnut.com/l/_8ZhNMSVOgTtc
https://dl.doubtnut.com/l/_XpCBsVP55soW


D. Both 1 and 2

Answer: B

Watch Video Solution

48. Which set of oxide of nitrogen is paramagnetic in monomeric

state?

A. No, 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O

NO2, N2O

NO, NO2

N2O, NO, NO2

https://dl.doubtnut.com/l/_XpCBsVP55soW
https://dl.doubtnut.com/l/_zjnMDkiW3Cqa
https://dl.doubtnut.com/l/_MRMq3yLQeKjH


49. The incorrect statement among the following is

A. Reducing character of hydrides of group 15 increases down

the group

B. Basicity of hydrides of group 15 increases down the group

C. Phosphorus and arsenic can form  bond

D.  does not exist

Answer: B

Watch Video Solution

pπ − dπ

NCl5

50. products 


the products formed in above reaction is

A. 

B. 

Cu + HNO3
( conc . )

→

CuO + NO

Cu(NO3)2 + N2O

https://dl.doubtnut.com/l/_MRMq3yLQeKjH
https://dl.doubtnut.com/l/_iIskgyeRQ6Nc


C. 

D. All of these can form

Answer: C

Watch Video Solution

Cu(NO3)2 + NO2

51. Which of the following metals does not dissolve in concentrated

 ?

A. Cr

B. Zn

C. Al

D. Both 1 and 3

Answer: D

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_iIskgyeRQ6Nc
https://dl.doubtnut.com/l/_5GN1XCktbTOz


52. In brown ring test for nitrate ions, brown ring is formed due to

complex

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(H2O)6}
2 +

[Fe(H2O)5NO]
2 +

[Fe(H2O)5NO]
3 +

[Fe(H2O)5NO2]
2 +

53. Allotrope of phosphorus which is polymeric consisting of chains

of  tetrahedral linked together is

A. White phosphorus

P4

https://dl.doubtnut.com/l/_5GN1XCktbTOz
https://dl.doubtnut.com/l/_2l3HUEHnnzJR
https://dl.doubtnut.com/l/_TbeW9jFNOYPI


B. Red phosphorus

C. Black phosphorus

D. Both 1 and 2

Answer: B

Watch Video Solution

54.  


Product (A) is used in

A. Holme's signal

B. Smoke screen

C. Manufacture of 

D. Both 1 and 2

Answer: D

Ca3P2 + H2O → Ca(OH)2 + (A)

NH4NO3

https://dl.doubtnut.com/l/_TbeW9jFNOYPI
https://dl.doubtnut.com/l/_ycHQxj46dDpB


Watch Video Solution

55. Which is dibasic?

A. Orthosphoric acid

B. Pyrophosphoric acid

C. phosphorus acid

D. Hypophosphorus acid

Answer: C

Watch Video Solution

56. In a cyclotrimetaphosphoric acid molecule, how many P-Osingle

and double bonds are present ?

A. 5,3

https://dl.doubtnut.com/l/_ycHQxj46dDpB
https://dl.doubtnut.com/l/_OOj6FKIkTMEw
https://dl.doubtnut.com/l/_6x9bjNutsR2E


B. 3,5

C. 3,6

D. 5,6

Answer: C

Watch Video Solution

57. Which is mismatched regarding the formula?

A. Epsom salt 

B. Baryte-

C. Copper pyrite-

D. Galena

Answer: B

Watch Video Solution

−MgSO4.7H2O

BeSO4

CuFeS2

−PbS

https://dl.doubtnut.com/l/_6x9bjNutsR2E
https://dl.doubtnut.com/l/_mMGz1sejI6DM


58. The one with lowest electron affinity in group 16 is

A. Oxygen

B. Sulphur

C. Selenium

D. Tellurium

Answer: A

Watch Video Solution

59. The set having correct possible oxidation state for oxygen is

A. 0, +4 only

B. 0, -6 only

https://dl.doubtnut.com/l/_mMGz1sejI6DM
https://dl.doubtnut.com/l/_Vv4bdvAxegCU
https://dl.doubtnut.com/l/_qL9OAzOyrJ0Q


C. 

D. 0,+2,+4,+6`

Answer: C

Watch Video Solution

−2, − 1, + 1, + 2

60. Which has maximum number of lone pair of electrons present on

central atom i.e., xenon?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4

XeO2F2

XeF2

XeOF4

https://dl.doubtnut.com/l/_qL9OAzOyrJ0Q
https://dl.doubtnut.com/l/_jd3MfpM0bUOx


61. The boiling points of hydrides of group 16 are in the order

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O < H2S < H2Se < H2Te

H2Te < H2Se < H2S < H2O

H2S < H2Se < H2Te < H2O

H2O < H2Te < H2Se < H2S

62. Dioxygen can be prepared by

A. heating 

B. Thermal decomposition of oxides like  etc.

C. Electrolysis of water

KClO3

Ag2O, Pb3O4

https://dl.doubtnut.com/l/_jd3MfpM0bUOx
https://dl.doubtnut.com/l/_bjqVetNYq2ab
https://dl.doubtnut.com/l/_enEXoqpWgmyn


D. All of these

Answer: D

Watch Video Solution

63. The set containing acidic oxides only are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO2, Cl2O7, CO

Al2O3, NO, N2O5

N2O, N2O3, N2O5

V2O5, SO2, N2O5

https://dl.doubtnut.com/l/_enEXoqpWgmyn
https://dl.doubtnut.com/l/_IQgnqQL9kVuy


64. The incorrect statement regarding structure of ozone

A. The two oxygen-oxygen bond length in ozone are identical

B. It is linear

C. Bond angle is less than 

D. Both 2 and 3

Answer: B

Watch Video Solution

120∘

65. Form of sulphur which shows paramagnetic behaviour

A. -Rhombic

B. -Monoclinic

C.  is vapour state

S8

S8

S2

https://dl.doubtnut.com/l/_ARlC9qlnSIXg
https://dl.doubtnut.com/l/_GqBDtcPuzBB4


D. Not possible

Answer: C

Watch Video Solution

66. ? 


The product formed in above reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeS2 + O2 →

FeO + SO2

Fe2O3 + SO2

Fe2O3 + SO3

FeO + SO3

https://dl.doubtnut.com/l/_GqBDtcPuzBB4
https://dl.doubtnut.com/l/_HTdtbRwbJ2gb
https://dl.doubtnut.com/l/_IiEWe8xarbEV


67. Which has bleaching action due to reducing property and it is

temporary?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2

O3

SO2

Cl2

68. On reaction of moist  with potassium permangnate (Acidic)

which is correctly observed?

A. Colour of  is decolourised

B.  is oxidised to 

SO2

KMnO4

SO2 SO3

https://dl.doubtnut.com/l/_IiEWe8xarbEV
https://dl.doubtnut.com/l/_IkPndh6U7GPN


C.  is reduced to 

D. All of these

Answer: A

Watch Video Solution

MnO
−
4 MnO2

69.  bond is present in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S − S

H2S2O7

H2S2O8

H2S2O6

H2SO3

https://dl.doubtnut.com/l/_IkPndh6U7GPN
https://dl.doubtnut.com/l/_GTAQfJrezeAZ
https://dl.doubtnut.com/l/_oFLe2cNQbNK5


70. In the reaction 

 


 behaves w.r.t. Cu as

A. Dehydrating agent

B. oxidising agent

C. An acid

D. All of these

Answer: B

Watch Video Solution

Cu + H2SO4
(Conc . )

→ CuSO4 + SO2 + H2O

H2SO4

71.  is manufactured by

A. Ostwald process

B. Haber's process

H2SO4

https://dl.doubtnut.com/l/_oFLe2cNQbNK5
https://dl.doubtnut.com/l/_pkfAXfUAZ83Y


C. Contact process

D. Frasch process

Answer: C

Watch Video Solution

72. Radioactive element of group 17 is

A. Polonium.

B. Francium

C. Astatine

D. Radium

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pkfAXfUAZ83Y
https://dl.doubtnut.com/l/_18cTY9S01Tqz
https://dl.doubtnut.com/l/_y2UVkKTn0oeu


73. Deacon's process of manufacture of chlorine is represented by

the equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO2 + HCl → MnCl2 + Cl2 + H2O

KMnO4 + HCl → KCl → MnCl2 + H2O + Cl2

HCl + O2

CuCl2
−−−→ Cl2 + H2O

NaCl + MnO2 + H2SO4 → Cl2 + MnCl2 + NaHSO4 + H2O

74. The colour shown by halogen is incorrectly given by

A. =yellow

B. =colourless

F2

Cl2

https://dl.doubtnut.com/l/_y2UVkKTn0oeu
https://dl.doubtnut.com/l/_WGdEO6Bd2exa


C. =Red

D. =Violet

Answer: B

Watch Video Solution

Br2

I2

75. Which is incorrectly given according to order indicated?

A. Oxidising power

B. : Acidic strength

C. , Bond dissociation enthalpy

D. , Boiling point

Answer: C

Watch Video Solution

F2 > Cl2 > Br2 > l2,

Hl > HBr > HCl > HF

F2 > Cl2 > Br2 > l2

HF > Hl > HBr > HCl

https://dl.doubtnut.com/l/_WGdEO6Bd2exa
https://dl.doubtnut.com/l/_3qFWRWPbf9BQ
https://dl.doubtnut.com/l/_r4maF7O1oWfR


76.  on reaction with excess of  gives

A. 

B. 

C.  only

D. 

Answer: A

Watch Video Solution

Cl2 NH3

NH4Cl + N2

NCl3 + HCl

NCl3Cl

NH4Cl + NCl3

77. Complete the following chemical reaction equations : 

(i)  


(ii)

A. NaOCl

B. 

NaOH
( cold and dilute )

+ Cl2 →

XeF6
( excess )

+ H2O →

NaClO3

https://dl.doubtnut.com/l/_r4maF7O1oWfR
https://dl.doubtnut.com/l/_6EEHumpFInA7


C. 

D. 

Answer: A

Watch Video Solution

NaClO4

NaClO2

78.  


Shape of compound (A) is

A. (A) Linear

B. (B) Tetrahedral

C. (C) Bent T Shape

D. (D) Trigonal bipyramidal

Answer: C

Watch Video Solution

Cl2 + F2
(Excess )

573K
−−→ (A)

https://dl.doubtnut.com/l/_6EEHumpFInA7
https://dl.doubtnut.com/l/_MUG4IwGFNpN8


79. The correct order of acidic strength is

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

HClO4 > HClO3 > HClO2 > HClO

HClO3 > HBrO3 > HlO3

H3PO2 > H3PO3 > H3PO4

80. The one with maximum oxidising power is

A. Hypochlorous acid

B. Chlorous acid

C. Chloric acid

https://dl.doubtnut.com/l/_MUG4IwGFNpN8
https://dl.doubtnut.com/l/_6I8xCI6BaLIv
https://dl.doubtnut.com/l/_epVlyQC9Bd4m


D. Perchloric acid

Answer: A

Watch Video Solution

81. Total number of F-l-F bond angles which are  present in  is

A. zero

B. Two

C. Five

D. Ten

Answer: D

Watch Video Solution

90∘ lF7

https://dl.doubtnut.com/l/_epVlyQC9Bd4m
https://dl.doubtnut.com/l/_2WcQIUL8QFr1


82. Assertion : Interhalogen compounds are more reactive than

halogens (except fluorine) 

Reason : They all undergo hydrolysis giving halide ion derived from

the smaller halogen and anion derived from larger halogen.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

83.  is used in the preparation of poisonous gases, one of them is

mustard gas, which can be represented by the formula

Cl2

https://dl.doubtnut.com/l/_UmVgUQostbik
https://dl.doubtnut.com/l/_eXmqR7u7a0n8


A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: D

Watch Video Solution

CHCl3

COCl2

CCl3NO2

ClCH2CH2SCH2CH2Cl

84. Anamolous behaviour of fluorine in group 17 is due to

A. (a) Small size

B. (b) High electronegativity

C. (c) Low F-F bond dissociation enthalpy and absence of vacant

d orbital

D. (d) All of these

https://dl.doubtnut.com/l/_eXmqR7u7a0n8
https://dl.doubtnut.com/l/_a0UelieVcY8q


Answer: D

Watch Video Solution

85.  


Radon is prepared by -decay from radium, in above reaction A and

Z are respectively

A. (A) 226, 86

B. (B) 222,90

C. (C) 222,86

D. (D) 230,90

Answer: C

Watch Video Solution

.226
88 Ra → .AZ Rn + .4

2 He

α

https://dl.doubtnut.com/l/_a0UelieVcY8q
https://dl.doubtnut.com/l/_b4Ptx5OUFbGE


86. Noble gases are mostly inert. Assign reasons.

A. Completely filled electronic configuration

B. High ionisation enthalpy

C. More positive electron gain enthalpy

D. All of these

Answer: D

Watch Video Solution

87.  


The compound formed in above reaction is

A. 

B. 

Xe + F2
( 1 :20 )

573K , 60 − 70  bar
−−−−−−−−−−→ ?

XeF2

XeF4

https://dl.doubtnut.com/l/_opk8ZocBTw3w
https://dl.doubtnut.com/l/_q0x4y5ysqkud


C. 

D. 

Answer: C

Watch Video Solution

XeF6

XeOF4

88. Why is helium used in diving apparatus?

A. 

B. Ne, Ne

C. He, He

D. He, Ar

Answer: A

Watch Video Solution

He, Ne

https://dl.doubtnut.com/l/_q0x4y5ysqkud
https://dl.doubtnut.com/l/_zV3uF3DlD178
https://dl.doubtnut.com/l/_jX3dzjehh3DE


89. Which is mismatched regarding the shape?

A. =Square planar

B. =Square pyramidal

C. =Distorted octahedral

D. =Bent T shape

Answer: D

Watch Video Solution

XeF4

XeOF4

XeF6

XeO3

90. Compound of which of the noble gases, are neither isolated nor

identified?

A. He,Ne,Ar,Kr,Rn

B. He,Ne,Kr

C. He,Ne,Ar

https://dl.doubtnut.com/l/_jX3dzjehh3DE
https://dl.doubtnut.com/l/_kisQ5rJqE46z


D. He only

Answer: C

Watch Video Solution

91. Structure of  is correctly represented by

A. 

B. 

C. 

D. Both 2 and 3

XeO2F2

https://dl.doubtnut.com/l/_kisQ5rJqE46z
https://dl.doubtnut.com/l/_Qy2TJr3rcIoh


Answer: B

Watch Video Solution

92. Why has it been difficult to study the chemistry of radon?

A. it is radioactive with short half life

B. it is chemically inert

C. its compound is not isolated

D. it has low boiling point

Answer: A

Watch Video Solution

93. The ease of liquefaction of noble gases decreases in the order

https://dl.doubtnut.com/l/_Qy2TJr3rcIoh
https://dl.doubtnut.com/l/_RYAwfFXlTpty
https://dl.doubtnut.com/l/_WFAlQAoPG7JV


A. HegtNegtArgtKrgtXe

B. XegtKrgtArgtNegtHe

C. NegtArgtKrgtXegtHe

D. He=Ne=Ar=Kr=Xe

Answer: B

Watch Video Solution

94. Noble gases are sparingly soluble in water due to

A. London forces

B. Dipole-dipole interaction

C. dipole-induced dipole interaction

D. lon-dipole interaction

Answer: C

https://dl.doubtnut.com/l/_WFAlQAoPG7JV
https://dl.doubtnut.com/l/_DOSz9CM2MFk0


Assignment Section-B)

Watch Video Solution

1. In the structure of diborane,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[BH2] + [BH4] −

h ⋅

H

∣

B
∣

H

−

H

∣

B
∣

H

⋅ H

https://dl.doubtnut.com/l/_DOSz9CM2MFk0
https://dl.doubtnut.com/l/_RhkjscY4QHap


2. The following sequence of reactions is used to convert borax into

boron (B). 

 


Reagents X and Y are respectively

A. Acid, Al

B. Base, C

C. Base, Fe

D. Acid, Mg

Answer: D

Watch Video Solution

Na2[B4O5(OH)4]
Borax

.8H2O
x

−−→ H3BO3

Δ
−−→ B2O3

Y
−−→ B

Boron

3. Which of the following reaction represents the correct product

formation?

https://dl.doubtnut.com/l/_GatWIdVFTVYu
https://dl.doubtnut.com/l/_jegNy8ecp3fl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Al4C3 + H2O → CH4

Mg2C3 + H2O → CH ≡ CH

CaC2 + H2O → C2H4

Be2C + H2O → CH3 − C ≡ CH

4. Stability of trivalent and mono valent cation of group 13 (Boron

family) will be in order :

A. 

B. 

C. 

D. 

Ga3 + > ln3 + > Tl3 +

Tl3 + > ln3 + > Ga3 +

Tl+ > In+ > Ga+

ln3 + > Ti3 + > Ga3 +

https://dl.doubtnut.com/l/_jegNy8ecp3fl
https://dl.doubtnut.com/l/_wFaTZaXoWAKZ


Answer: A

Watch Video Solution

5. Ionisation of boric acid in aqusous medium gives which one of the

following?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[B(OH)4]
−

[B(OH)2O]
−

[B(OH)O2]2 −

[BO3]3 −

6. Shortest C-O bond is present in

https://dl.doubtnut.com/l/_wFaTZaXoWAKZ
https://dl.doubtnut.com/l/_U4va2Qu9bcUs
https://dl.doubtnut.com/l/_2PrpTSEcHrq0


A. Carbon monoxide

B. Carbon dioxide

C. Carbonate ion

D. Acetone

Answer: A

Watch Video Solution

7. Boron halides behave as Lewis acid because of their ___ nature.

A. Ionisation property

B. Electron deficient nature

C. Acidic nature

D. Covalent nature

Answer: B

https://dl.doubtnut.com/l/_2PrpTSEcHrq0
https://dl.doubtnut.com/l/_NdgNUlhOW5Xf


Watch Video Solution

8. In graphite, electrons are

A. Localised on each carbon-atom

B. Localised on every third C-atom

C. Delocalised within the layer

D. Present in anti-bonding orbital

Answer: C

Watch Video Solution

9. From , all the following can be prepared except

A. 

B. 

B2H6

H3BO3

B2O3

https://dl.doubtnut.com/l/_NdgNUlhOW5Xf
https://dl.doubtnut.com/l/_Oyuoucd2QSAT
https://dl.doubtnut.com/l/_QPv5iLbesjnf


C. 

D. 

Answer: C

Watch Video Solution

B2(CH3)6

NaBH4

10. Thermodynamically the most stable form of carbon is 

(a) diamond , (b) graphite 

(c) fullerenes , (d) coal

A. Diamond

B. Graphite

C. Peat

D. Coal

Answer: B

https://dl.doubtnut.com/l/_QPv5iLbesjnf
https://dl.doubtnut.com/l/_NTcojb72cXZk


Watch Video Solution

11. Specify the coordination geometry around and the hybridisation

of  and  atoms in  complex of  and .

A. N is tetrahedral, , B is tetrahedral, 

B. N is pyramidal, , B is pyramidal, 

C. N is pyramidal, , B is planar, 

D. N is pyramidal, , B is tetrahedral 

Answer: A

Watch Video Solution

N B 1: 1 BF3 NH3

sp3 sp3

sp3 sp3

sp3 sp2

sp3 sp3

12. Carbondioxide is used for extinguishing fire because

A. it has a relatively high critical temperature

https://dl.doubtnut.com/l/_NTcojb72cXZk
https://dl.doubtnut.com/l/_NUlQzjKlA01Q
https://dl.doubtnut.com/l/_WiOlHiLu3oty


B. In solid state, it is called dry ice

C. It is neither combustible nor a supporter of combustion

D. it is a colourless gas

Answer: C

Watch Video Solution

13. Boron nitride on reacting with steam gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

N2O

Na2BO2

NO2

https://dl.doubtnut.com/l/_WiOlHiLu3oty
https://dl.doubtnut.com/l/_Iks4aiaKgxmk


14. Borax is written as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2[B4O5(OH)4] ⋅ 8H2O

Na2B4(OH)7O2 ⋅ 3H2O

Na2OB4O8H2

Na2B4O17H2O

15. Write the chemical reactions of  with cold and hot water.

A. Ortho phosphoric acid

B. Meta phosphoric acid

P4O6

https://dl.doubtnut.com/l/_Iks4aiaKgxmk
https://dl.doubtnut.com/l/_N3gqegCRsVGW
https://dl.doubtnut.com/l/_qaqH1aRnzqte


C. Pyrophosphoric acid

D. Hypophosphorous acid

Answer: A

Watch Video Solution

16. Which of following trihalides of nitrogen behaves as the weakest

base?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NF3

NCl3

NBr3

Nl3

https://dl.doubtnut.com/l/_qaqH1aRnzqte
https://dl.doubtnut.com/l/_WHkXqNGi8WXS


17. Arrange the following molecules in the decreasing order of bond

angle. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O
I

, H2S
II

, H2Se
III

, H2Te
IV

H2O > H2S > H2Se > H2Te

H2O > H2Te > H2Se > H2S

H2S > H2Se > H2S > H2Te

H2O > H2S > H2Te > H2Se

18. The colour of  is violet because it

A. Absorbs violet light

I2

https://dl.doubtnut.com/l/_WHkXqNGi8WXS
https://dl.doubtnut.com/l/_iHaqHWklqxlW
https://dl.doubtnut.com/l/_oIY8m1wzfINZ


B. Does not absorb light

C. Absorbs yellow and green light

D. property of 

Answer: C

Watch Video Solution

l2

19. When  is heated, the gas evolved is

A. Heating 

B. Heating 

C. 

D. 

Answer: A

Watch Video Solution

(NH4)2Cr2O7

NH4NO2

NH4NO3

Mg3N2 + H2O

NH4Cl

https://dl.doubtnut.com/l/_oIY8m1wzfINZ
https://dl.doubtnut.com/l/_8a3NGxFykZJr


20. products 


the oxidation state of chromium changes from

A.  to +6

B.  to +6

C.  to +3

D.  to +4

Answer: C

Watch Video Solution

K2Cr2O7 + SO2

H +
−−→

+12

+3

+6

+6

21.  is a mixed anhydride because it

A. Is a mixture of 

B. Decomposes into two oxides of nitrogen

N2O4

N2O3 and N2O5

https://dl.doubtnut.com/l/_8a3NGxFykZJr
https://dl.doubtnut.com/l/_CzA3fpSjXNYZ
https://dl.doubtnut.com/l/_D1BJsJAIZmX0


C. Reacts with water to give nitric acid

D. Reacts with water to form two acids

Answer: D

Watch Video Solution

22. The percentage of available chlorine in a commercial sampleof

bleaching powder is

A. 0.12

B. 0.35

C. 0.58

D. 0.85

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_D1BJsJAIZmX0
https://dl.doubtnut.com/l/_irWPdHsXXWof


23. A certain compound when burned gives three oxides. The first

turned lime water milky, the second turned anhydrous  blue

and the third formed an aqueous solution of low pH. The elements

present in the compound are

A. (a) C,S,Ca

B. (b) N,S,K

C. (c) C,H,S

D. (d) C,H,Ca

Answer: A

Watch Video Solution

CuSO4

24. Which of the following gas has highest solubility in water?

https://dl.doubtnut.com/l/_irWPdHsXXWof
https://dl.doubtnut.com/l/_q46GLVvI4mwK
https://dl.doubtnut.com/l/_aaQ63B3UEn2t


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO

CO2

SO3

CO

25. Which of the following compound is paramagnetic?

A. 

B. 

C. 

D. 

Answer: B

N2O4

ClO2

Cl2O7

N2O

https://dl.doubtnut.com/l/_aaQ63B3UEn2t
https://dl.doubtnut.com/l/_tIHn7UEzTrA7


Assignment Section-C)

Watch Video Solution

26. The strongest oxidising agent among the following is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ClO
−
4

BrO
−
4

lO
−
4

ClO3

1. Which of the following compounds are acidic?

https://dl.doubtnut.com/l/_tIHn7UEzTrA7
https://dl.doubtnut.com/l/_mi0p8r2Ue8ko
https://dl.doubtnut.com/l/_EWS00IJfwy36


A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

B(OH)3

Al(OH)3

BF3

CO2

2. Which of the following compounds contain boron?

A. Borax

B. Colemanite

C. Feldspar

D. kernite

Answer: A::B::D

https://dl.doubtnut.com/l/_EWS00IJfwy36
https://dl.doubtnut.com/l/_nFXy57QbOhWB


Watch Video Solution

3. Which of the following compound react with ?

A. Ethers

B. 

C. Ethylalcohol

D. 

Answer: A::B::C::D

Watch Video Solution

BF3

H2O

NH3

4. Which of the following statement is/are correct regarding B-F

bond in ?BF3

https://dl.doubtnut.com/l/_nFXy57QbOhWB
https://dl.doubtnut.com/l/_UFWZ8J4SsoGd
https://dl.doubtnut.com/l/_O1iG0HVmg5hB


A. All the three B-F bond lengths are equal and each of them is

shorter than the sum of the covalent radii of boron and

fluorine

B. The bond energy of the B-F bond is very high, higher than for

any other single bond

C. The unusual shortness and strength of the B-F bond may be

explained by  interaction between boron and fluorine

atoms

D. The unusual shortness and strength of the bonds may be

explained by a  interaction between boron and

fluorine atoms.

Answer: A::B::C

Watch Video Solution

pπ − pπ

pπ − dπ

https://dl.doubtnut.com/l/_O1iG0HVmg5hB
https://dl.doubtnut.com/l/_4DALTf0k7Yd2


5. Which of the following compound react with ?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

B2H6

Cl2

CO

NH3

(CH3)3N

6. Which of the following statement is/are correct?

A.  partially reacts with water to form  and

 and behaves like a weak acid

B.  behaves like a strong monobasic acid in presence of

sugars and this acid can be titrated against NaOH solution

B(OH)3 H3O
+

[B(OH4)] −

B(OH)3

https://dl.doubtnut.com/l/_4DALTf0k7Yd2
https://dl.doubtnut.com/l/_sF1FScCTvjk7


using phenolphthalein as an indicator

C.  does not donate a proton and hence does not form

any salt with NaOH

D.  reacts with NaOH, forming 

Answer: A::B::D

Watch Video Solution

B(OH)3

B(OH)3 Na[B(OH)4]

7. Which of the following molecules have zero dipole?

A. 

B. 

C. 

D. 

Answer: A::B::C

CS2

CO2

CCl4

CH2Cl2

https://dl.doubtnut.com/l/_sF1FScCTvjk7
https://dl.doubtnut.com/l/_hWA08JnXRFds


Watch Video Solution

8. Which of the following halides of carbon are solids?

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

CF4

CCl4

CBr4

CI4

9. Borazine is the product of reaction between

A. 

B. 

B2H6

NH3

https://dl.doubtnut.com/l/_hWA08JnXRFds
https://dl.doubtnut.com/l/_depbFtg1LYO2
https://dl.doubtnut.com/l/_eKeiJizFmBmX


C. 

D. 

Answer: A::B

Watch Video Solution

BF3

BCl3

10. Which of the followig statements is/are correct?

A. The carbon-di-oxide molecule behaves as a nonpolar molecule

even through two of its resonating structures.

 are dipolar

B. Carbon di-oxide is the anhydride of the unstable dibasic acid

C. The carbon dioxide molecule is linear because the carbon

atom utilizes its sp orbitals to form  bonds

. − O − C ≡ O+ and O+ ≡ C − O−

O = C(OH)2

σ

https://dl.doubtnut.com/l/_eKeiJizFmBmX
https://dl.doubtnut.com/l/_1aioPbPRgU3I


D. The carbon atom is - hybridised in the  molecule as

well as the molecule of its hydrate 

Answer: A::B::C

Watch Video Solution

sp2 CO2

H2CO3

11. Which of the following statement is/are correct?

A. Aluminium carbide as well as beryllium carbide produce

methane gas on treatment with water

B. On reacting with water, calcium carbide  produces

acetylene while magnesium carbide  gives propyne

C. Calcium carbide has one sigma and two pi bonds

D. Diamond is more stable than graphite.

Answer: A::B::C

(CaC2)

(Mg2C3)

https://dl.doubtnut.com/l/_1aioPbPRgU3I
https://dl.doubtnut.com/l/_wkra8BffN9Mg


Watch Video Solution

12. Choose the correct statement regarding oxy acids of halogens

A. F does not form oxy acid

B.  is stronger acid than 

C. All oxy acids are monobasic

D.  is stronger oxidising agent than 

Answer: B::C

Watch Video Solution

HClO4 HBrO4

HClO4 HBrO4

13. Which of the following compounds give ammonia with water?

A. 

B. 

Mg3N2

AlN

https://dl.doubtnut.com/l/_wkra8BffN9Mg
https://dl.doubtnut.com/l/_xXXwLYV1JWv4
https://dl.doubtnut.com/l/_UmKVVWRyjJgq


C. 

D. 

Answer: A::B::C

Watch Video Solution

CaCN2

Ca(CN)2

14. Which of the following oxides are amphoteric?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

CO

SnO2

ZnO

BeO

https://dl.doubtnut.com/l/_UmKVVWRyjJgq
https://dl.doubtnut.com/l/_IlBn6s6n6PEl
https://dl.doubtnut.com/l/_RppE1Y3BC5NC


15. Which of the following ammonium salt evolves  on heating?

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

N2

(NH4)2SO4

NH4NO2

NH4NO3

(NH4)2Cr2O7

16. Bromine react with NaOH to produce

A. NaBr and  in hot solution

B. NaBr and  in cold solution

C. NaBr and NaBrO in hot solution

NaBrO3

NaBrO

https://dl.doubtnut.com/l/_RppE1Y3BC5NC
https://dl.doubtnut.com/l/_6SPmjPYlAG03


D. Only NaBr in cold and NaBrO in hot

Answer: A::B

Watch Video Solution

17. Which of the following compounds have same hybridisation?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

ClF3

PF5

XeF4

SF4

https://dl.doubtnut.com/l/_6SPmjPYlAG03
https://dl.doubtnut.com/l/_iEk3UOfwE7Zw


18. Which of the following statement is/are correct regarding

halogens?

A. All halogens form oxyacids

B. Oxidising power of halogen 

C. Electron affinity of fluorine is highest

D. All halogens show oxidation state from -1 to +7.

Answer: A::B

Watch Video Solution

F2 > Cl2 > Br2 > l2

19. Which of the following are correctly matched?

A. Thermal stability

B.  Acid strength.

HClO < HClO2 < HClO3 < HClO4 →

HClO < HClO2 < HClO3 < HClO4 →

https://dl.doubtnut.com/l/_oCL6U3u1gt9v
https://dl.doubtnut.com/l/_YGjuslGipX1o


C.  Oxidising power

D.  Acidic strength

Answer: A::B

Watch Video Solution

HClO < HClO2 < HClO3 < HClO4 →

Hl < HCl < HBr < H − F →

20. For  the correct choice is

A.  is a dibasic acid

B.  is a tribasic acid

C.  is a reducing agent

D.  is a reducing agent

Answer: A::B::D

Watch Video Solution

H3PO3 and H3PO4

H3PO3

H3PO4

H3PO4

H3PO3

https://dl.doubtnut.com/l/_YGjuslGipX1o
https://dl.doubtnut.com/l/_DtH9OqVkVUnD
https://dl.doubtnut.com/l/_ELm01d0oW3sC


21. Which of the following pairs are correctly matched?

A. Habar's process 

B. Bayer's process 

C. Birkeland-Eyde process 

D. Solvay process 

Answer: A::C::D

Watch Video Solution

(NH3)

(H2SO4)

(HNO3)

(Na2CO3)

22. Which of the following compounds show self ionisation in liquid

state?

A. 

B. 

C. 

NO2

ClF3

BrF5

https://dl.doubtnut.com/l/_ELm01d0oW3sC
https://dl.doubtnut.com/l/_oEKn3nSfZ0DN


D. 

Answer: A::B::C

Watch Video Solution

PCl5

23. Which of the following compound(s) contains(s) N-N bond?

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

N2O3

N2O5

N3H

N2O4

https://dl.doubtnut.com/l/_oEKn3nSfZ0DN
https://dl.doubtnut.com/l/_2CSC9ciz7NuM


Assignment Section-D)

1.  


Q. In the above reaction the product (C) resembles with

A. Graphite

B. Benzene

C. Fullerene

D. Diamond

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sPIX7Z2vDwPY


2.  


Q. Hybridization of B in compound (B) is

A.  hybridisation

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3

sp2

dsp2

sp3d2

https://dl.doubtnut.com/l/_lc4SF2mNwpN7


3.  


Q. Borax structure contains

A. Two  groups and two  groups

B. Four  groups only

C. Three  and one  groups

D. 

Answer: A

Watch Video Solution

BO4 BO3

BO4

BO4 BO3

https://dl.doubtnut.com/l/_e708ZcUmzPM7


4. Q. Which of the following statement is correct regarding 

fullerene?

A. It contains 20, six membered ring and 12, five membered rings

B. It contains 20, six membered ring and 10, five membered rings

C. It consist of 25, six membered and 12, five membered rings

D. It consists of 12, six membered and 25, five membered rings.

Answer: B

Watch Video Solution

C60

5. Allotropes of carbon: There are three forms of carbon. i.e.,

diamond, graphite and fullerene which exxist in crystalline form.

Graphite and diamond occur in nature. The structure of diamond is

tetrahedral with  hybridisation and diamond exist in 3-D netowrk

solid. in graphite, carbon is  hybridised. each carbon linked to

sp3

sp2

https://dl.doubtnut.com/l/_oyK0nobvoJTb
https://dl.doubtnut.com/l/_BqFasJqJzn2A


other carbon linked to other carbon atom forms hexagonal ring. it

has a layered structure. diamond and graphite are purest form of

carbon. Fullerene constitute a new family of carbon allotropes. 

Consisting of large spheroidal molecule of compound with general

formula . common fullerene , contain 5 and 6 membered

rings. 

Q. Which of the following statement is incorrect for graphite?

A. Very small, the layers being tightly packed

B. Many times larger than the covalent radius of carbon

C. More than twice the covalent radius of carbon

D. The same as the covalent radius of carbon

Answer: C

Watch Video Solution

C2n C6, C70

https://dl.doubtnut.com/l/_BqFasJqJzn2A


6. Allotropes of carbon: There are three forms of carbon. i.e.,

diamond, graphite and fullerene which exist in crystalline form.

Graphite and diamond occur in nature. The structure of diamond is

tetrahedral with  hybridization and diamond exist in 3-D network

solid. in graphite, carbon is  hybridized. Each carbon linked to

other carbon atom forms hexagonal ring. it has a layered structure.

Diamond and graphite are purest form of carbon. Fullerene

constitute a new family of carbon allotropes. 

Consisting of large spheroidal molecule of compound with general

formula . common fullerene , contain 5 and 6 membered

rings. 

Q. Which of the following statement is incorrect for graphite?

A. Its density is lower than that of diamond

B. It has a layered structrue and the bonding

C. its layers are very tightly packed, almost without any space

between them

sp3

sp2

C2n C6, C70

https://dl.doubtnut.com/l/_SZbrHaOxJDcz


D. it cleaves easily between the layers which accounts for the

remarkable softness of the crystals

Answer: C

Watch Video Solution

7.  


If (C) is silicone, then answer the following questions. 

Q. (A) and (B) are

A. 

B. 

C. 

D. 

R2SiCl2&R2Si(OH)
2

R2SiCl2&R2Si = O

RSiCl3&Rsi(OH)
3

RSiCl3&R

O

∣ ∣

Si − OH

https://dl.doubtnut.com/l/_SZbrHaOxJDcz
https://dl.doubtnut.com/l/_jmqbp4PuUCYu


Answer: C

Watch Video Solution

8.  


If (C) is silicone, then answer the following questions. 

Q. Mode by which polymerisation is undergoing is

A. Addition

B. Substitution

C. Elimination

D. Condensation.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jmqbp4PuUCYu
https://dl.doubtnut.com/l/_fMYypiQqBEwO
https://dl.doubtnut.com/l/_Ksyy4Xxx5UTa


9.  


If (C) is silicone, then answer the following questions. 

Q. Structure of 'C' is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ksyy4Xxx5UTa
https://dl.doubtnut.com/l/_oDtzOX5p69EH


10. Nitrogen forms largest number of oxides in which oxidation

state of nitrogen varies from +1 to +5

 respectively. The largest

number of oxides are formed due to capability of forming stable

multiple bonds by nitrogen with oxygen. 

Q. Which of the following is/are correct statement(s)?

A. In  the N-N bond length is longer than the usual N-N

single bond distance

B.  molecule is angular and N-O bond length is intermediate

between a single and a double bond

C.  is linear molecule and has small dipole moment

D. All of these

Answer: D

Watch Video Solution

N2O, NO, N2O3, N2O4 and N2O5

N2O4

NO2

N2O

https://dl.doubtnut.com/l/_oDtzOX5p69EH
https://dl.doubtnut.com/l/_BQ4XngRGZ7i2


11. Nitrogen forms largest number of oxides in which oxidation state

of nitrogen varies from +1 to +5 

respectively. The largest number of oxides are formed due to

capability of forming stable multiple bonds by nitrogen with oxygen.

Q. Which of the following oxides is known as anhydride of nitric

acid?

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

N2O, NO, N2O3, N2O4 and N2O5

N2O5

N2O3

NO

https://dl.doubtnut.com/l/_BQ4XngRGZ7i2


12. Nitrogen forms largest number of oxides in which oxidation state

of nitrogen varies from +1 to +5 

respectively. The largest number of oxides are formed due to

capability of forming stable multiple bonds by nitrogen with oxygen.

Q. Which of the following statements is/are correct regarding oxides

of nitrogen?

A. Dinitrogen trioxide dissolves in KOH forming potassium

nitrate

B. Aqueous solution by nitrogen dioxide behave both as a

reducing an as an oxidising agent

C. Nitrous oxide is fairly soluble in cold water and turns blue

litmus red

D. Nitrogen dioxide is soluble in water to form nitric acid only

Answer: B

N2O, NO, N2O3, N2O4 and N2O5

https://dl.doubtnut.com/l/_RlbzqCZTptmD


Watch Video Solution

13. Tin and lead form divalent Sn (II) and lead (II) and tetravalent i.e.,

Tin (IV) and lead. (IV) compounds. Tetravalent and dioxides of lead

and Tin are amphoteric in nature. Lead tetra fluorite is ionic solid

where as  is covalent.  does not exist. Lead (II) halides are

white whereas  is yellow in colour. 


Q. Reaction of SnO with NaOH gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PbCl4 Pbl4

Pbl2

Na2SnO2

H2SnO2

Na3SnO2

SnO2

https://dl.doubtnut.com/l/_RlbzqCZTptmD
https://dl.doubtnut.com/l/_H8rOsyvyQtwB
https://dl.doubtnut.com/l/_4BK774ruJTuU


14. Tin and lead form divalent Sn (II) and ead (II) and tetravalent i.e.,

Tin (IV) and lead. (IV) compounds. Tetravalent and dioxides of lead

and Tin are amphoteric in nature. Lead tetra fluorite is ionic solid

where as  is covalent.  does not exist. lead (II) halides are

white whereas  is yellow in colour. 


Q.  does not exist due to

A. Inert pair effect

B. High reducing power of 

C. High oxidising power of 

D. High electronegativity of l.

Answer: B

Watch Video Solution

PbCl4 Pbl4

Pbl2

Pbl4

l−

l−

https://dl.doubtnut.com/l/_4BK774ruJTuU


Assignment Section-E)

15. Tin and lead form divalent Sn (II) and lead (II) and tetravalent i.e.,

Tin (IV) and lead. (IV) compounds. Tetravalent and dioxides of lead

and Tin are amphoteric in nature. Lead tetra fluorite is ionic solid

where as  is covalent.  does not exist. lead (II) halides are

white whereas  is yellow in colour. 


Q.  is solid whereas  is liquid, this is because?

A.  is ionic whereas  is covalent

B.  is covalent whereas  is ionic

C.  exist in polymeric form

D.  is linear and  is square planar in-structure.

Answer: A

Watch Video Solution

PbCl4 Pbl4

Pbl2

SnCl2 SnCl4

SnCl2 SnCl4

SnCl2 SnCl4

SnCl2

SnCl2 SnCl4

https://dl.doubtnut.com/l/_cdiDNF4wMal7


1. Assertion : Boron forms only covalent compounds. , 

Reason : Boron has very small size.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

2. Statement-1: White  is considered as the elemental state of P. 


Statement-2: White P is most stable allotropic state of P.

P

https://dl.doubtnut.com/l/_isqiXxp2OA1I
https://dl.doubtnut.com/l/_UO5lYIcyKkXt


A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

3. Statement-1: Aluminium chloride has chloro-bridged structure in

vapour phase. 

Statement-2: Aluminium chloride in acidified aqueous solution forms

[Al(H2O)6]
3 +

https://dl.doubtnut.com/l/_UO5lYIcyKkXt
https://dl.doubtnut.com/l/_lvC1689Fu4js


A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

4. Statement-1:  behaves as a lewis acid. 


Statement-2: Second ionisation is very much difficult in boric acid.

A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B(OH)3

https://dl.doubtnut.com/l/_lvC1689Fu4js
https://dl.doubtnut.com/l/_kHXEMw2DO7qw


B. (b) Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. (c) Statement-1 is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

5. Statement-1: B does not form  


Statement-2: Co-ordination number of B is 4.

A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. (b) Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

[BF6]3 −

https://dl.doubtnut.com/l/_kHXEMw2DO7qw
https://dl.doubtnut.com/l/_FuBYFFGxI5uy


C. (c) Statement-1 is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

6. Statement-1:  on heating with excess of ammonia forms

boron nitride. 

Statement-2:  contain three centre two electron pair bonds.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

B2H6

B2H6

https://dl.doubtnut.com/l/_FuBYFFGxI5uy
https://dl.doubtnut.com/l/_FLAtMOM3ztcW


D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

7. Statement-1:  and  do not undergo hydrolysis. 


Statement-2: Both B and carbon do not have empty d-orbitals.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

BCl3 CCl4

https://dl.doubtnut.com/l/_FLAtMOM3ztcW
https://dl.doubtnut.com/l/_s6LA0ohG0bZc


Watch Video Solution

8. Statement-1: Silicones are used as high class industrial insulators. 

Statement-2: Silicones are large covalent solids so bad conductors

of electricity.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_s6LA0ohG0bZc
https://dl.doubtnut.com/l/_Yrhrf9mfHh7j
https://dl.doubtnut.com/l/_Du6V9TA0a99H


9. Statement-1: Pyro-silicates are 1-D polymers. 

Statement-2: In pyro-silicates two orthosilicates are connected

through one oxygen atom common.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Du6V9TA0a99H


10. Statement-1: Inter-stitial carbides are formed when heavy metals

react chemically with C(gas). 

Statement-2: In such carbides 'C' occupy voids available in heavy

metals.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YPqX6PQdBRwx


11. Assertion: All clatharate compound of noble gas are the

compounds in which the molecules of noble gases are trapped in

cavities in te crystal lattice of other compounds. 

Reason: He and Ne having smaller size do not form clathrate

compound molecules because they are small enough to escape from

cavities.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vk6apo9QkIPu


12. Assertion:  is covalent in gaseous and liquid states but ionic

in solid state. 

Reason:  in solid state consits of tetrahhedral  cation

and octahedral  anion.

A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. (b) Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. (c) Statement-1 is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

PCl5

PCl5 PCl
+
4

PCl−
6

https://dl.doubtnut.com/l/_vk6apo9QkIPu
https://dl.doubtnut.com/l/_FySKb0JNrJz6


13. Statement-1: Bond energy of Hl is smaller than that of HBr. 

Statement-2: HBr is stronger acid than Hl.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

14. Statement-1:  is hydrolysed by water by  is not

hydrolysed. 

NCl3 NF3

https://dl.doubtnut.com/l/_kFFH0yaQHIg9
https://dl.doubtnut.com/l/_b0MgyTECGz2N


Statement-2: N does not has vacant orbital for expansion of octet.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

15. Statement-1: Peroxomonosulphuric acid has low basicity. 

Statement-2: It has one O-O bond.

https://dl.doubtnut.com/l/_b0MgyTECGz2N
https://dl.doubtnut.com/l/_19ECxKyARjEz


A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. (b) Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. (c) Statement-1 is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

16. Statement-1: HF is weaker acid than HCl. 

Statement-2:  has high hydration energy than 

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

F − Cl−

https://dl.doubtnut.com/l/_19ECxKyARjEz
https://dl.doubtnut.com/l/_tuoQoXH1ZduB


B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

17. Statement-1:  is a linear compound. 


Statement-2: In , I is sp hybridised.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

IClΘ
2

IClΘ
2

https://dl.doubtnut.com/l/_tuoQoXH1ZduB
https://dl.doubtnut.com/l/_dPoaQMWyJaA2


C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

18. Statement-1:  is more basic than  


Statement-2: F is more electronegative than H.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

NH3 NF3

https://dl.doubtnut.com/l/_dPoaQMWyJaA2
https://dl.doubtnut.com/l/_Si2ZFnGpkyfJ


Answer: A

Watch Video Solution

19. Statement-1:  is weak diprotic acid. 


Statement-2: Salt of aq.  has pH greater than 7.

A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. (b) Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. (c) Statement-1 is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

H2S

Na2S

https://dl.doubtnut.com/l/_Si2ZFnGpkyfJ
https://dl.doubtnut.com/l/_9JtvlYbaBwbQ


20. Statement-1: All noble gases are considered as unreactive. 

Statement-2: Down the group, melting and boiling point increases.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

21. Statement-1:  evolve a gas on addition of NaOH. 


Statement-2: Same gas is evolved on addition of NaoH on 

NH4NO3

NaNO3

https://dl.doubtnut.com/l/_tXjVVaYXTfGZ
https://dl.doubtnut.com/l/_v8sFViJs3XnM


in presence of Cu.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

22. Statement-1:  is an unstable orange yellow coloured solid. 


Statement-2: In , bond order of O-F is less than 1.

O2F2

O2F2

https://dl.doubtnut.com/l/_v8sFViJs3XnM
https://dl.doubtnut.com/l/_redRZLJlIkVo


A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

23. Statement-1: All oxy acid of P are good oxidising agents. 

Statement-2:  is monobasic.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

H3PO2

https://dl.doubtnut.com/l/_redRZLJlIkVo
https://dl.doubtnut.com/l/_DzeRfUrW9AP1


B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

24. Statement-1: HBr can be obtained by treating NaBr with . 


Statement-2:  is stronger acid than HBr.

A. (a) Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. (b) Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

H3PO4

H3PO4

https://dl.doubtnut.com/l/_DzeRfUrW9AP1
https://dl.doubtnut.com/l/_mKADzB7DKo2I


Assignment Section-F)

C. (c) Statement-1 is true, statement-2 is false

D. (d) Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

1. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_mKADzB7DKo2I
https://dl.doubtnut.com/l/_xnSjdilIhcuT


2. Match the following 

Watch Video Solution

3. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_NizEWwmCRyxZ
https://dl.doubtnut.com/l/_wZVlnyQ9he7x


4. Match the following 

Watch Video Solution

5. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_AfMlRX4rdqj8
https://dl.doubtnut.com/l/_Y5pCQ7PabQAv


Assignment Section-G)

6. Match the following 

Watch Video Solution

7. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_IfBVRmTVdMfZ
https://dl.doubtnut.com/l/_9B1uRP3HDYOl


1. How many water molecules of crystallisation are present in borax,

 ?

Watch Video Solution

Na2B4O7.10H2O

2. Determine the product of metalloids and the radio-active

elements present in group-13 & group -14

Watch Video Solution

3. Number of oxygen atoms shared per  tetrahedron in single

chain silicates are .

Watch Video Solution

SiO
4 −
4

_________________

4. How many nitrogen is/are . Hybridised in hydrazoic acid?sp2

https://dl.doubtnut.com/l/_PSukGagJvuR6
https://dl.doubtnut.com/l/_qHg4ki4UBkTO
https://dl.doubtnut.com/l/_4ZLN1duUEaIh
https://dl.doubtnut.com/l/_JFYQ3eXQKnKe


Watch Video Solution

5. What is the Oxidation
 number of Xe in mixture of

?

Watch Video Solution

XeF6 and XeF4

6. How many N-O bonds are present in product when  is

strongly heated (above )?

Watch Video Solution

NH4NO3

300∘C

7. What will be the maximum valency of P with Cl?

Watch Video Solution

https://dl.doubtnut.com/l/_JFYQ3eXQKnKe
https://dl.doubtnut.com/l/_uAlgyNqqKeyA
https://dl.doubtnut.com/l/_ZzzEnAFOV530
https://dl.doubtnut.com/l/_XNyaGTZj22Jj


Assignment Section-H)

8. How many P-P bonds are present in ?

Watch Video Solution

P4S5

9.  Product. 


How many hybrid orbitals will be present in Xe in product?

Watch Video Solution

XeF6 + H2O
excess
−−−→

1. Statement-1: Sodium silicate is called water glass. 

Statement-2:Salts of lead are poisonous in nature. 

Statement-3: Producer gas is a mixture of CO and N.

A. TTT

https://dl.doubtnut.com/l/_8JYvRfcJlEXf
https://dl.doubtnut.com/l/_O15I724OAujS
https://dl.doubtnut.com/l/_GRUNwMeA10ON


B. TFT

C. FFT

D. FTF

Answer: A

Watch Video Solution

2. Statement-1: In  molecule resonance is possible. 


Statement-2: CO is used in purification of Ni. 

Statement-3:  is more acidic than .

A. TTT

B. TFT

C. FFT

D. FTF

CO2

H2CO3 H2SiO3

https://dl.doubtnut.com/l/_GRUNwMeA10ON
https://dl.doubtnut.com/l/_Xz1qGuH0MG83


Answer: A

Watch Video Solution

3. Statement-1: Al forms  when reacts with NaOH. 


Statement-2:  is amphoteric by nature. 


Statement-3:  is a neutral oxide.

A. FFT

B. FTT

C. TFF

D. TTF

Answer: D

Watch Video Solution

H2

Al2O3

Al2O3

https://dl.doubtnut.com/l/_Xz1qGuH0MG83
https://dl.doubtnut.com/l/_gU0lV4bsufc7


4. Statement-1:  is the starting material for linear polymer

of silicone. 

Statement-2:  is the starting material for 3-D polymer of

silicone. 

Statement-3:  is the starging material for 3-D polymerr of

silicone.

Watch Video Solution

R2SiCl2

R2SiCl2

R3SiCl

5. Statement-1: Molten state of  is slightly conducting. 


Statement-2:  is more reactive than . 


Statement-3: In molten state of , chlorine may possess 

hybridisation.

A. FTF

B. TFT

C. TTT

IF5

ICl Cl2

ClF3 sp3d2

https://dl.doubtnut.com/l/_SnmLHOi0r4zu
https://dl.doubtnut.com/l/_rznXvSEx0PUq


D. FFF

Answer: C

Watch Video Solution

6. Statement-1:  reacts with KOH and forms a paramagnetic

compound. 

Statement-2:  is paramagnetic. 


Statement-3:  gives  when heated with 

A. (a) FTF

B. (b) TFT

C. (c) TTT

D. (d) FFF

Answer: C

W h Vid S l i

O3

KO3

O2 O−
2 Na/NH3

https://dl.doubtnut.com/l/_rznXvSEx0PUq
https://dl.doubtnut.com/l/_HT2DaHmYGMtR


Watch Video Solution

7. Statement-1:  acid never exists. 


Statement-2:  is a thionic acid. 


Statement-3:  contain S-S bond.

A. TFT

B. FTF

C. FTT

D. FFF

Answer: B

Watch Video Solution

HNO4

H2S2O3

H2S2O7

8. Statement-1: HBr can be obtained by treating NaBr with . 


Statement-2: HBr is good oxodising agent. 

H2SO4

https://dl.doubtnut.com/l/_HT2DaHmYGMtR
https://dl.doubtnut.com/l/_5e3ekMh7fm5e
https://dl.doubtnut.com/l/_G5NVFNpapOHQ


Statement-3: NaBr is soluble in water.

A. FTT

B. TTT

C. FFT

D. TFT

Answer: A

Watch Video Solution

9. Statement-1: All halogens are coloured. 

Statement-2: Halogens exist in diatomic gaseous state. 

Statement-3:  is more reactive than 

A. TTT

B. TFT

F2 Cl2

https://dl.doubtnut.com/l/_G5NVFNpapOHQ
https://dl.doubtnut.com/l/_qL5wyrjlGQ2x


C. FTT

D. TFF

Answer: B

Watch Video Solution

10. Statement-1:  exists in ionic solid. 


Statement-2:  is a covalent compounds. 


Statement-3: All P-Cl bond lengths in  are equal.

A. TFF

B. TFT

C. FTT

D. TTF

Answer: D

PCl5

PCl5

PCl5

https://dl.doubtnut.com/l/_qL5wyrjlGQ2x
https://dl.doubtnut.com/l/_PSIOoZeX6xDB


Assignment Section-I)

Watch Video Solution

1. (a) Explain why  exists whereas  does not. 


(b) Compare the B-F bond length in  and 

Watch Video Solution

BF3 BH3

BF3 BF
−

4

2. How is boron obtained from borax ? Give the chemical reactions

involved. Draw the structure of  and give its reaction with 

.

Watch Video Solution

B2H6 HCl

https://dl.doubtnut.com/l/_PSIOoZeX6xDB
https://dl.doubtnut.com/l/_jB7IaHlKMYVs
https://dl.doubtnut.com/l/_IxLaIrjDjn6v


3. Boric acid can be titrated against sodium hydroxide using methyl

orange as indicator only in the presence of polyhydroxy compounds

wlike catechol, manniton etc. explain.

Watch Video Solution

4. (a)  molecule has different shapes. Expain. 


(b).  cannot be hydrolysed but  can be, why?

Watch Video Solution

BF3 and BrF3

CCl4 SiCl4

5. Although boric acid , contains three hydroxyl groups yet

it behaves as a monobasic acid. Explain why?

Watch Video Solution

B(OH)3

https://dl.doubtnut.com/l/_fyNuKKASuCSg
https://dl.doubtnut.com/l/_4NsteLSTFuyF
https://dl.doubtnut.com/l/_1oPP1vDgcRwy


6. An aqueous solution containing one mole of  and two moles

of NaI is orange in colour. On addition of excess NaI the solution

becomes colourless. The orange colour reappears on subsequent

addition of NaOCl. Explain with equation.

Watch Video Solution

HgI2

7. (a) On bolining a mineral  with  solution, a white

precipirtate  is formed. 

(b) The precipitate is fitered and the filtrate contains two conpounds

 and . The componds  is removed by crystallisation and

when  is passed through the mother liquor left,  changes to

. 


( c) On strongly heating , two compounds  and  are

formed. 

(d)  on heating with cobalt oxide provides blue-coloured

(A) Na2CO3

(B)

(C) (D) (C)

CO2 (D)

(C)

(C) (D) (E)

(E)

https://dl.doubtnut.com/l/_hAgCcdCNEUKU
https://dl.doubtnut.com/l/_y9ZfwZawpi8O


substance . 


Identify  to  and give chemical reaction for  to .

Watch Video Solution

(F )

(A) (F ) (a) (d)

8. Complete the following 

.

Watch Video Solution

9.  


'E' is same as graphite, identify (A) to (E)

W t h Vid S l ti

https://dl.doubtnut.com/l/_y9ZfwZawpi8O
https://dl.doubtnut.com/l/_XB3XeX9PKbeg
https://dl.doubtnut.com/l/_qKnbm37w0Eqh


Watch Video Solution

10. ?

Watch Video Solution

B(OH)3

HOCH2CH2OH
−−−−−−−−−→

11. Indicate whether the following statements are true or false.

Explain your answer in brief. 

(i) The decreasing order of electron affinity of F, Cl, Br is

. 


(ii) HBr is stronger acid than Hl because of hydrogen bonding.

Watch Video Solution

F > Cl > Br

12. Write balanced equations for the reactions of the following

compounds with water. (i)  , (ii)  , (iii)  , (iv)  ,

(v) 

Al4C3 CaNCN BF3 NCl3

XeF4

https://dl.doubtnut.com/l/_qKnbm37w0Eqh
https://dl.doubtnut.com/l/_ZOrTFj5ouu2T
https://dl.doubtnut.com/l/_JQLpCPmPc6Sw
https://dl.doubtnut.com/l/_xlvxV0dz5y33


Watch Video Solution

13. On gradual addition of  solution to  solution

initially produces a dark brown precipitate which dissolves in excess

of  to give a clear yellow solution. Given an explanation for above

observations.

Watch Video Solution

KI Bi(NO3)3

KI

14. An inorganic Lewis acid  shows the following reactions : 


(a) It fumes in moist air. 

(b) The intensity of fumes increase when a rod dippod in  is

brought near it. 

( c) To an aqueous solution of , addition of  and 

 gives a precipitate which dissolves in  solution. 


(d) An acidic solution of  does not give a precipitate with . 


Identify  and gives chemical reactions for  to .

(X)

NH4OH

(X) NH4Cl

NH4OH NaOH

(X) H2S

(X) (a) (d)

https://dl.doubtnut.com/l/_xlvxV0dz5y33
https://dl.doubtnut.com/l/_giZ62nDSsX8Q
https://dl.doubtnut.com/l/_EUAeRzafd4s6


Assignment Section-J)

Watch Video Solution

15. Write balanced equation for reaction of  with water. Also

name the reaction.

Watch Video Solution

XeF4

16. Arrange in increasing order of extent of hydrolysis

.

Watch Video Solution

[CCl4, MgCl2, AlCl3, PCl5, SiCl4]

1. Correct among the follownig

https://dl.doubtnut.com/l/_EUAeRzafd4s6
https://dl.doubtnut.com/l/_AQ6wyt0x9nw3
https://dl.doubtnut.com/l/_7By6dNU8yUlW
https://dl.doubtnut.com/l/_EZiTqQGqINBK


A.  is a better Lewis base than 

B.  does not form dimer as B-F bond is less polar.

C. Hydrides are the only species which may form 3 centre 2 

bond

D. All the hydrides form 3 centre i.e., bonds.

Answer: A

Watch Video Solution

BF3 BCl3

BF3

e−

2. Incorrect among the following

A.  is molecule with sp sate of hybridisation

B.  is a molecule with graphite like structure

C.  is a molecule with  hybridisation

D.  is prepared by reaction of  and 

(BN)x

(BN)x

(BN)x sp2

BN B2O3 NH3

https://dl.doubtnut.com/l/_EZiTqQGqINBK
https://dl.doubtnut.com/l/_M4pyh3G6N7GF


Answer: A::D

Watch Video Solution

3.  reacts with  to form

A. 

B. 

C. 

D. `All of these

Answer: A::B

Watch Video Solution

B2H6 NH3

B3N3H6

BN

[B2H5] Θ
NH

⊕
4

4. SiC is a/an

https://dl.doubtnut.com/l/_M4pyh3G6N7GF
https://dl.doubtnut.com/l/_jN9Lpmf5G4dY
https://dl.doubtnut.com/l/_Zz1ANxpxna5L


A. Abrasive

B. A hard material

C. Covalent carbide

D. Diamond like structure

Answer: A::B::C::D

Watch Video Solution

5.  is solid while  is gas. Why?

A. A3-D broad network solid

B. An insulator

C. Silica

D. An acidic oxide

Answer: A::B::C::D

SiO2 CO2

https://dl.doubtnut.com/l/_Zz1ANxpxna5L
https://dl.doubtnut.com/l/_WeuRcQSSXFEb


Watch Video Solution

6. Chain silicates can be represented as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(Si2O
6 −
7 )

(SiO4 −
4 )

n

(Si2O
4 −
6 )

n

(Si2O5)2 −
n

7. Which of the following halogens can oxidise  to S?

A. 

B. 

H2S

Cl2

F2

https://dl.doubtnut.com/l/_WeuRcQSSXFEb
https://dl.doubtnut.com/l/_Db8ECOMXvwqr
https://dl.doubtnut.com/l/_Iu0xFHcN76KB


C. 

D. All of these

Answer: D

Watch Video Solution

Br2

8.  


To obtain this product in large amount, we should use

A. Tap water as medium

B. Glue or gelatine in medium

C. Heavy metal ion in solution

D. by takin NaOCl in excess amount

Answer: B

Watch Video Solution

NH3 + NaOCl → NH2 − NH2 + NH4Cl

https://dl.doubtnut.com/l/_Iu0xFHcN76KB
https://dl.doubtnut.com/l/_L0C9VClwSe1I


9. Which of the following oxide does not form dimer?

A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

NO

ClO2

NO2

10. Choose the correct statement regarding ice.

A. Hexagonal rings are present.

B. In ice, one oxygen is surrounded by four hydrogen atoms

C. In ice, movement of  is faster than waterH +

https://dl.doubtnut.com/l/_L0C9VClwSe1I
https://dl.doubtnut.com/l/_bnrIft10sl0q
https://dl.doubtnut.com/l/_EypS4gxMCc6P


D. All of these

Answer: D

Watch Video Solution

11. Pure oxygen is colourless gas but liquid and solid  is pale blue

or blue coloured, this is because

A. Due to electronic transition triplet to singlet formation is not

favourable in gaseous state

B. Density of gas is less than density of liquid

C. Singlet state is diamagnetic

D.  cannot absorb photon in gaseous state.

Answer: A

Watch Video Solution

O2

O2

https://dl.doubtnut.com/l/_EypS4gxMCc6P
https://dl.doubtnut.com/l/_aZy3wiQITK6h


12. Choose the correct regarding heating of S.

A. At , the  rings break and the diradicals so formed

polymerise forming long chains of up to a million atoms

B. Due to heating viscosity decreases regularly

C. Due to heating viscosity increases regularly

D. at  all  molecule break up to .

Answer: A

Watch Video Solution

160∘ S8

200∘C S8 S2

13. In which, degree of hydrolysis is expected to be highest?

A. 

B. 

Na2S

CdS

https://dl.doubtnut.com/l/_aZy3wiQITK6h
https://dl.doubtnut.com/l/_bMsAmGzjVcBY
https://dl.doubtnut.com/l/_mN47mjLycKWA


C. 

D. 

Answer: A

Watch Video Solution

MoS

CuS

14. Choose the correct regarding bond length

A. 

B. 

C. 

D. `All of these

Answer: D

Watch Video Solution

CO+ < CO

NO+ < NO

N < N +
2

https://dl.doubtnut.com/l/_mN47mjLycKWA
https://dl.doubtnut.com/l/_UOPIVmJ8wNUQ
https://dl.doubtnut.com/l/_bHUY9hqF8CFB


15.  gas is of red brown colour and  gas is of violet volour. This

is because of

A.  is more E.N. than I

B. Energy difference between two consecutive level is lesser for

iodine than bromine

C. Br has small size than I

D.  has longer van der Waal's forces than .

Answer: B

Watch Video Solution

Br2 I2

Br

I2 Br2

16. Which of the following halides has  as a bridging atom?

A. (solid)

B. (liquid)

Cl−

BeCl2

Al2Cl6

https://dl.doubtnut.com/l/_bHUY9hqF8CFB
https://dl.doubtnut.com/l/_v22yy9nxbzI7


EXAMPLES

C. 

D. All of these

Answer: D

Watch Video Solution

Fe2Cl6

1. Give electronic configuration of Ga.

Watch Video Solution

2. Boron compound behave as Lewis acid because of

Watch Video Solution

https://dl.doubtnut.com/l/_v22yy9nxbzI7
https://dl.doubtnut.com/l/_rEdINT31zKbr
https://dl.doubtnut.com/l/_n1yVndrPUGB7
https://dl.doubtnut.com/l/_x3sFzQK5BWj4


3. Write oxidation state of boron family .

Watch Video Solution

4. How many B atoms are  hybridised in borax structure ?

Watch Video Solution

sp2

5. Give colour of bead when glassy bead reacts with TiO.

Watch Video Solution

6. What is the basicity of orthoboric acid ?

Watch Video Solution

https://dl.doubtnut.com/l/_x3sFzQK5BWj4
https://dl.doubtnut.com/l/_5xTvEacHcO1Q
https://dl.doubtnut.com/l/_AhPeE7FcYUBd
https://dl.doubtnut.com/l/_aedBwXLv0i0l


7. Why boron fibre is used in body armour?

Watch Video Solution

8. How boron isotope controls nuclear reaction?

Watch Video Solution

9. Name an aluminium compound that can be used in

chromatography.

Watch Video Solution

10. On moving down the group in carbon family stability of group

oxidation state +4 decreases why?

Watch Video Solution

https://dl.doubtnut.com/l/_UnLVUHLjcM8I
https://dl.doubtnut.com/l/_xdTNJVar9GCc
https://dl.doubtnut.com/l/_ZMP1FRFl3Z1v
https://dl.doubtnut.com/l/_0K1LVWjuubCD


11.  is solid while  is gas. Why?

Watch Video Solution

SiO2 CO2

12. Why  cannot exist?

Watch Video Solution

[SiCl6] −

13. Give correct order of increasing first ionization energy in carbon

family.

Watch Video Solution

14. Name two elements of carbon family which have nearly same

catenation tendency.

https://dl.doubtnut.com/l/_0K1LVWjuubCD
https://dl.doubtnut.com/l/_wSW1b4a04gMJ
https://dl.doubtnut.com/l/_dZjIWEYjs3SU
https://dl.doubtnut.com/l/_9nDx2E8Tka2H
https://dl.doubtnut.com/l/_LSpvm27HJ48q


Watch Video Solution

15. Which element of the carbon family does not dissolve in aqueous

NaOH to evolve hydrogen gas?

Watch Video Solution

16. Give three reasons for anomalous behaviour of carbon.

Watch Video Solution

17. Thermodynamically the most stable form of carbon is 

(a) diamond , (b) graphite 

(c) fullerenes , (d) coal

Watch Video Solution

https://dl.doubtnut.com/l/_LSpvm27HJ48q
https://dl.doubtnut.com/l/_wWShczOLPFYR
https://dl.doubtnut.com/l/_FHoMAD3CaNdd
https://dl.doubtnut.com/l/_m9Wimw8Ije96
https://dl.doubtnut.com/l/_OGe2UHyATadx


18. What is hybridisation of carbon in ?

Watch Video Solution

CO2

19. Give the uses of silicones.

Watch Video Solution

20. Why silicon dioxide in non-reactive?

Watch Video Solution

21. Though nitrogen exhibits +5 oxidation state, it does not form

pentahalide. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_OGe2UHyATadx
https://dl.doubtnut.com/l/_34NaipWogAgt
https://dl.doubtnut.com/l/_scUrJMJGMsN1
https://dl.doubtnut.com/l/_LgYdwLuCdgqI
https://dl.doubtnut.com/l/_CqX46qM4yZET


22.  has lower boiling point than . Why?

Watch Video Solution

PH3 NH3

23. Why does  act as a Lewis base ?

Watch Video Solution

NH3

24. Why does  acts as a Lewise base?

Watch Video Solution

NH3

25. In what way can it be proved that  is basic in nature?

Watch Video Solution

PH3

https://dl.doubtnut.com/l/_CqX46qM4yZET
https://dl.doubtnut.com/l/_WCr6QYp422Cf
https://dl.doubtnut.com/l/_dkpXwlgA6IRt
https://dl.doubtnut.com/l/_W2CPwTiuCkMc


26. Why does  dimerise ?

Watch Video Solution

NO2

27. Why does  fume in moisture ?

Watch Video Solution

PCl3

28. (a) Why does  fume in moisture ? 


(b) Are all the five bonds in  molecule equivalent ? Justify your

answer. 

( c) How do you account for the reducing behavior of  on the

basis of its structure ? 

(d) Give the disproportional reaction of .

Watch Video Solution

PCl3

PCl5

H3PO2

H3PO3

https://dl.doubtnut.com/l/_jeqk6GCBEGvI
https://dl.doubtnut.com/l/_clktuIG9W7r0
https://dl.doubtnut.com/l/_WnFuFbEN5ASv
https://dl.doubtnut.com/l/_bRkCriEhka65


29. (a) Why does  fume in moisture ? 


(b) Are all the five bonds in  molecule equivalent ? Justify your

answer. 

( c) How do you account for the reducing behavior of  on the

basis of its structure ? 

(d) Give the disproportional reaction of .

Watch Video Solution

PCl3

PCl5

H3PO2

H3PO3

30. Write the structure of pyrophosphoric acid.

Watch Video Solution

31. Name the radioactive element of Group 16 .

Watch Video Solution

https://dl.doubtnut.com/l/_bRkCriEhka65
https://dl.doubtnut.com/l/_MlJzIRMvA4IY
https://dl.doubtnut.com/l/_tqeMq74mMcCF
https://dl.doubtnut.com/l/_Pkwaj11bccbV


32. is less acidic than . Why?

Watch Video Solution

H2S H2Te

33. Why is  less acidic than  ?

Watch Video Solution

H2S H2Te

34. the structure of  is octahedral. what is the structure of 

Watch Video Solution

SF6 SF4

35. Which form of sulphur shows paramagnetic behaviour ?

Watch Video Solution

https://dl.doubtnut.com/l/_Pkwaj11bccbV
https://dl.doubtnut.com/l/_f14KyUAwT6wX
https://dl.doubtnut.com/l/_mbsbx8lgFbZ4
https://dl.doubtnut.com/l/_KvAsjUgNOFlF


36. What happens when : 

(i) Concentrated  is added to calcium fluoride ? 


(ii)  is passed through water ?

Watch Video Solution

H2SO4

SO3

37. Give one example each of acidic, basic, amphoteric and neutral

oxides.

Watch Video Solution

38. Draw the structure of peroxodisulfuric acid.

Watch Video Solution

https://dl.doubtnut.com/l/_7RdiMrnI5QJB
https://dl.doubtnut.com/l/_wOcl3P9cs5rG
https://dl.doubtnut.com/l/_jRSyhL1HhjFZ


39. (a) Halogens have maximum negative gain enthalpy in the

respective periods of the periodic table. Why? 

(b) Although electron gain enthalpy of fluorine is less negative as

compared to chlorine, fluorine is a stronger oxidising agent than

chlorine . Why? 

Fluorine exhibits only-1 oxidation state, whereas other halogens

exhibit  oxidation states also. Explain.

Watch Video Solution

+1, + 3, + 5, and + 7

40. Halogens have maximum negative electron gain enthalpy in the

respective periods of the periodic table. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_oRcCw36MGk6w
https://dl.doubtnut.com/l/_bDbyZX1diQ0b


41. Fluorine exhibits only -1 oxidation state whereas other halogens

show +1, +3, +5 and +7 oxidation states also. Explain.

Watch Video Solution

42. Give correct order of boiling point of hydride of group 17.

Watch Video Solution

43. Write balanced equation for reaction of  with hot and conc.

NaOH. Is this reaction a disproportionation one? Justify.

Watch Video Solution

Cl2

44. Give two use of 

Watch Video Solution

Cl2

https://dl.doubtnut.com/l/_uzUsgCDYBkyQ
https://dl.doubtnut.com/l/_ODgptY0gvUpD
https://dl.doubtnut.com/l/_XoTpgZSGe2CD
https://dl.doubtnut.com/l/_TCqOA44CIrFO


45. When HCl reacts with finely powdered iron, it forms ferrous

chloride and not ferric chloride, why?

Watch Video Solution

46. When HCl reacts with finely powdered iron, it forms ferrous

chloride and not ferric chloride. Why?

Watch Video Solution

47. Why are the elements of group 18 called noble gases?

Watch Video Solution

48. Noble gases have very low boiling points. Why?

https://dl.doubtnut.com/l/_TCqOA44CIrFO
https://dl.doubtnut.com/l/_p1VeClR3kcJo
https://dl.doubtnut.com/l/_DaAiu3rzxJLE
https://dl.doubtnut.com/l/_SwqLZCasO1xO
https://dl.doubtnut.com/l/_34yaqk5zaB05


EXERCISE

Watch Video Solution

49. Does the hydrolysis of  lead to a redox reaction?

Watch Video Solution

XeF6

50. Give equation for preparation of Radon from Radium .

Watch Video Solution

1. Number of B-O-B bond in borax

Watch Video Solution

https://dl.doubtnut.com/l/_34yaqk5zaB05
https://dl.doubtnut.com/l/_2TsSVzRT6nC2
https://dl.doubtnut.com/l/_Rw5ZF0cLBTtt
https://dl.doubtnut.com/l/_FQ7YUGcVi9JO


2. Among the group 13 the only element which is non -metal

A. B

B. Al

C. Ga

D. ln

Answer: A

Watch Video Solution

3. Products formed are 

A. Hl , Nal and 

B.  and Hl

2NaBH4 + l2
Polyether

−−−−−→

H2

B2H6, Nal

https://dl.doubtnut.com/l/_5XDMgRLHpqGz
https://dl.doubtnut.com/l/_7BAZh2fwnfVU


C.  and 

D. 

Answer: C

Watch Video Solution

B2H6, Nal H2

H3BO3 + H2

4. What is the hybridisation state of B and N in inorganic benzene

respectively ?

A.  and 

B.  and 

C. Both have 

D. Both have 

Answer: C

Watch Video Solution

sp2 sp3

sp3 sp2

sp2

sp3

https://dl.doubtnut.com/l/_7BAZh2fwnfVU
https://dl.doubtnut.com/l/_V7CZKbFTbN3v


5. Which type of hydride is  ?

A. covalent hydride

B. Electron precise

C. Electron excess

D. Lewis base

Answer: A

Watch Video Solution

BH3

6. Which one of the following is the correct statement ?

A. The hydroxide of boron is basic in nature

B. The hydroxide of boron is neutral in nature

C. The hydroxide of boron is acidic in nature

https://dl.doubtnut.com/l/_V7CZKbFTbN3v
https://dl.doubtnut.com/l/_3FKc8WWJEPdu
https://dl.doubtnut.com/l/_i9IBHXAkryek


D. Boron shows maximum oxidation state of +1 due to inert pair

effect

Answer: C

Watch Video Solution

7. Which of the following statement is incorrect regarding  ?

A. Each boron atom is  hybridised

B.  is electron deficient

C.  has banana bond

D. All of these

Answer: D

Watch Video Solution

B2H6

sp3

B2H6

B2H6

https://dl.doubtnut.com/l/_i9IBHXAkryek
https://dl.doubtnut.com/l/_DBmNKNYeEjOH
https://dl.doubtnut.com/l/_o9b2pcvCX4Yd


8. Boric acid is polymeric due to 

(a) its acidic nature , (b) the presence of hydrogen bonds 

(c) its monobasic nature , (d) its geometry

A. Its acidic nature

B. The presence of hydrogen bonds

C. its monobasic nature

D. Its geometry

Answer: B

Watch Video Solution

9. Which one of the following elements has the highest melting

point?

A. Al

https://dl.doubtnut.com/l/_o9b2pcvCX4Yd
https://dl.doubtnut.com/l/_11PxrrUBwD6A


B. Ga

C. B

D. ln

Answer: C

Watch Video Solution

10. In which of the following compounds banana bond is present ?

A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

BCl3

B2H6

B(OH)3

https://dl.doubtnut.com/l/_11PxrrUBwD6A
https://dl.doubtnut.com/l/_JL98hVvKQkS5


11. Which allotropic of carbon is thermodynamically more stable ?

A. Fullerence

B. Diamond

C. Graphite

D. Coke

Answer: C

Watch Video Solution

12. What is the correct order of I.E. ?

A. 

B. 

C < Si < Ge < Pb < Sn

C > Si > Pb > Ge > Sn

https://dl.doubtnut.com/l/_JL98hVvKQkS5
https://dl.doubtnut.com/l/_IeHstgncYcix
https://dl.doubtnut.com/l/_6UHyHaVoei4y


C. 

D. 

Answer: C

Watch Video Solution

C > Si > Ge > Sn > Pb

C > Si > Ge > Sn > Pb

13. In group 14 , which element show inert pair effect ?

A. Si

B. Pb

C. C

D. Ge

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6UHyHaVoei4y
https://dl.doubtnut.com/l/_rVebeEVSlOvE
https://dl.doubtnut.com/l/_GbwuYAYodL0o


14. Which of the following is neutral oxide?

A. CO

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

SiO2

Na2O

15. Which of the following halide cannot hydrolysed ?

A. 

B. 

C. 

CCl4

SiCl4

GeCl4

https://dl.doubtnut.com/l/_GbwuYAYodL0o
https://dl.doubtnut.com/l/_iOFlcRfGwXuO


D. 

Answer: A

Watch Video Solution

SiF4

16. Which polymorph of carbon act as hadest allotrope ?

A. Diamond

B. Fullerence

C. Graphite

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iOFlcRfGwXuO
https://dl.doubtnut.com/l/_XS5jgTsGopPk


17. SiC is popular with name

A. Acetylide

B. Methanide

C. Carborundum

D. Plumbago

Answer: C

Watch Video Solution

18. On heating oxalic acid with  , we get

A. 

B. 

C. 

H2SO4

H2CO3

CO2 and O2

CO2 and CO

https://dl.doubtnut.com/l/_5Jz2qTKDuxbe
https://dl.doubtnut.com/l/_UGWSesmUzrkd


D. 

Answer: C

Watch Video Solution

H2CO3 + CO2 + O2

19. Which allotrope of carbon leads to the formation of bucky ball ?

A. Graphite

B. Diamond

C. Fullerence

D. Nano tube

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UGWSesmUzrkd
https://dl.doubtnut.com/l/_i3lXuWgiXOpl


20. Which of the following is correct structur of anion of

pyrosilicates ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GUR41FFAF26K
https://dl.doubtnut.com/l/_bKm2VylPT526


21. Catenation property of group 15 elements follow the order

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N > P > As > Sb > Bi

P > N > As > Sb > Bi

N < P < As < Sb < Bi

P < N < As < Sb < Bi

22. Melting point of hydrogen of nitrogen family follows the order

A. 

B. 

C. 

D. 

NH3 < PH3 < AsH3 < SbH3

PH3 < NH3 < AsH3 < SbH3

PH3 < AsH3 < NH3 < SbH3

PH3 < AsH3 < SbH3 < NH3

https://dl.doubtnut.com/l/_bKm2VylPT526
https://dl.doubtnut.com/l/_Hr5PKSJY7mz0


Answer: D

Watch Video Solution

23. Which of the following halides of group 15 is not hydrolysed ?

A. 

B. 

C. 

D. Both (1) & (3)

Answer: D

Watch Video Solution

NF3

NI3

PF3

24. Choose the correct answer from the options given below : 

The brown ring test is used for detection of :

https://dl.doubtnut.com/l/_Hr5PKSJY7mz0
https://dl.doubtnut.com/l/_QUPnQ72JTRgc
https://dl.doubtnut.com/l/_D3mxB2OuCQbT


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PO
− 3
4

NO−
3

SO
2 −
4

HCO−
3

25. White phosphorus occurs as discrete  units , where P atom lie

at the corners of a regular tetrahedron . The PPP bond angle is

A. 

B. 

C. 

D. 

P4

90∘

109∘ 28'

60∘

120∘

https://dl.doubtnut.com/l/_D3mxB2OuCQbT
https://dl.doubtnut.com/l/_56luYZc5rmJw


Answer: C

Watch Video Solution

26. Orthophosphorus acid on heating gives ______

A. Hypophosphorus acid

B. Orthophosphoric acid

C. Phosphene gas

D. Both (2) & (3)

Answer: D

Watch Video Solution

27. Which of the following is correct ?

https://dl.doubtnut.com/l/_56luYZc5rmJw
https://dl.doubtnut.com/l/_VcjwqCuzi8hL
https://dl.doubtnut.com/l/_uma1zLxWd6dA


A.  is dibasic and reducing

B.  is dibasic and non - reducing

C.  is tribasic and reducing

D.  is tribasic and non-reducing

Answer: A

Watch Video Solution

H3PO3

H3PO3

H3PO4

H3PO3

28. The correct order of decreasing acidic strength of oxyacids of

group 15 elements is

A. 

B. 

C. 

D. 

HNO3 > H3SbO4 > H3AsO4 > H3PO4

H3PO4 > H3AsO4 > H3SbO4 > HNO3

HNO3 > H3PO4 > H3AsO4 > H3SbO4

HNO3 > H3AsO4 > H3PO4 > H3SbO4

https://dl.doubtnut.com/l/_uma1zLxWd6dA
https://dl.doubtnut.com/l/_3DHu9smz3GAN


Answer: C

Watch Video Solution

29. Which has maximum bond angle?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

PH3

AsH3

SbH3

30. When excess of  (aq) is added to a blue solution containing 

 ions

NH3

Cu2 +
( aq )

https://dl.doubtnut.com/l/_3DHu9smz3GAN
https://dl.doubtnut.com/l/_SkIzlwior5Bz
https://dl.doubtnut.com/l/_8sY0pxLCDbpN


A. Solution turns red due to formation of  ions

B. Solution becomes red due to formation of 

C. Solution become deep blue due to formation of

D. Solution becomes colourless due to excess colourless 

Answer: C

Watch Video Solution

Cu+

[Cu(NH3)4]
2 +

aq

[Cu(NH3)4]
2 +

aq

NH3

31. The correct order of acidity of hybrides of oxygen family

A. 

B. 

C. 

D. 

H2O > H2S > H2Se > H2Te

H2O < H2S < H2Se < H2Te

H2S > H2O > H2Se > H2Te

H2S < H2O < H2Se < H2Te

https://dl.doubtnut.com/l/_8sY0pxLCDbpN
https://dl.doubtnut.com/l/_2QPeAJ5Qtr21


Answer: B

Watch Video Solution

32. S and O both are non-metals in the oxygen family , but their

melting points are targely different , O = 90 K and S = 718 K . This is

because

A. S is large in size than O

B. S exhibits more oxidation state  and  whereas O

exhibits only  and  oxidation states

C. O exists as diatomic molecule whereas S exists as polyatomic

molecule 

D. S has more allotropes than O

Answer: C

Watch Video Solution

+2, + 4 +6

−2 +2

(S8)

https://dl.doubtnut.com/l/_2QPeAJ5Qtr21
https://dl.doubtnut.com/l/_2bCks5BUjo9H


Watch Video Solution

33. Which of the following is not a reducing oxide ?

A. 

B. 

C. TeO

D. 

Answer: D

Watch Video Solution

SO2

SeO2

SO3

34. Which of the following compound does not exist ?

A. 

B. 

SF6

S2Cl2

https://dl.doubtnut.com/l/_2bCks5BUjo9H
https://dl.doubtnut.com/l/_JcaSeqbMRUjS
https://dl.doubtnut.com/l/_0hcCFL9j72wt


C. 

D. 

Answer: D

Watch Video Solution

SCl2

SeBr2

35.  molecule is a resonance hybrid of the two structures I and II . 


 

The two oxygen - oxygen bond lengths in ozone molecule are

A. Identical

B. Slightly different

C. Largely different

D. Cannot be measured due to resonance

O3

https://dl.doubtnut.com/l/_0hcCFL9j72wt
https://dl.doubtnut.com/l/_YgMMwMRZzt2H


Answer: A

Watch Video Solution

36.  ring of both rhombic sulphur and monoclinic sulphur has

crown shaped structure . The S- S -S bond angle in  ring is

A.  28'

B. 

C. 

D. 

Answer: B

Watch Video Solution

S8

S8

109∘

107∘

104∘

120∘

https://dl.doubtnut.com/l/_YgMMwMRZzt2H
https://dl.doubtnut.com/l/_zjWtvBRQ08bo


37. In the contact process of manufacturing of  the catalyst

used is

A. 

B. 

C. 

D. NO

Answer: B

Watch Video Solution

H2SO4

P2O6

V2O5

Rh

38. Number of S = O bonds in pyrosulphuric acid are

A. Two

B. Four

https://dl.doubtnut.com/l/_bw5dgPF1DIyg
https://dl.doubtnut.com/l/_YcOzsyfB97Yi


C. Five

D. Six

Answer: B

Watch Video Solution

39.  in aqueous medium ionises in two steps 

 


 


What is relation between x and y ?

A. 

B. 

C. 

D. 

H2SO4

H2SO4(aq) + H2O(i) → H3O
+ (aq) + HSO

−
4 (aq), Ka1 = x

HSO
−
4 (aq) + H2O(l) → H3O

+ (aq) + SO
2 −
4 , Ka2 = y

x < y

x = y

x > y

x > > y

https://dl.doubtnut.com/l/_YcOzsyfB97Yi
https://dl.doubtnut.com/l/_M8KR85TwI5py


Answer: D

Watch Video Solution

40. What is the product when Mg react with  ?

A. Mg O

B. 

C. Mg S

D. Both (1) & (3)

Answer: D

Watch Video Solution

SO2

MgSO4

41. The decreasing order of electron affinity of halogen's is

https://dl.doubtnut.com/l/_M8KR85TwI5py
https://dl.doubtnut.com/l/_HBe8BvamUH4x
https://dl.doubtnut.com/l/_x25WU9dKvSFh


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F < Cl < Br < l

F > Cl > Br > l

Cl > F > Br > l

Cl > Br > I > F

42. Halogens exist in  oxidation

states. The halogen that exists only  state is

A. I

B. Br

C. F

D. Cl

−1, + 1, + 3, + 5 and + 7

−1

https://dl.doubtnut.com/l/_x25WU9dKvSFh
https://dl.doubtnut.com/l/_HX1MffKCDawg


Answer: C

Watch Video Solution

43. When  gas reacts with  it forms

A.  gas

B. gas

C. HOF

D. Both (2) & (3)

Answer: A

Watch Video Solution

F2 H2O

O2

O2F2

44.  combines with  to form  which areF2 O2 O2F2

https://dl.doubtnut.com/l/_HX1MffKCDawg
https://dl.doubtnut.com/l/_TkRLpRy0Sw4t
https://dl.doubtnut.com/l/_NszrXk3c7yjF


A. diOxygen difluorides

B. Oxides of fluorine

C. Anhydride of HOF

D. Both (2) & (3)

Answer: A

Watch Video Solution

45. The order of acidity of oxides of chlorine . 

 is

A. 

B. 

C. 

D. 

Cl2O Cl2O3 Cl2O5 Cl2O7

I II III IV

I < II < III < IV

I > II > III > IV

I > III > II > IV

IV > I > II > III

https://dl.doubtnut.com/l/_NszrXk3c7yjF
https://dl.doubtnut.com/l/_I7J2ChMwPm5F


Answer: A

Watch Video Solution

46. Deacon's process is used for the manufacture of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO3

I2

Cl2

Br2

47. Aqua regia , which is used for dissolving noble metals like gold

and plantium etc. is

https://dl.doubtnut.com/l/_I7J2ChMwPm5F
https://dl.doubtnut.com/l/_yoxSj2EUXqpg
https://dl.doubtnut.com/l/_r58D1FByy1Tk


A.  mixture of conc. HCl and conc. 

B.  mixture of conc. HCl and conc. 

C.  mixture of conc. HCl and conc. 

D.  mixture of dil.  and conc. 

Answer: B

Watch Video Solution

1: 3 HNO3

3: 1 HNO3

1: 1 HNO3

3: 1 HCl HNO3

48. Halogens react with oxygen to form many oxoacids , commonly

named as hypohalous acid , halous acid , halic acid and perhalic acid

. The halogen(s) which form (s) halous acid is/are

A. 

B. 

C.  and 

F2

Cl2

Cl2, Br2 I2

https://dl.doubtnut.com/l/_r58D1FByy1Tk
https://dl.doubtnut.com/l/_KSd20cXjC1d9


D.  and 

Answer: B

Watch Video Solution

F2, Cl2 Br2

49. The number of peroxide linkages in perchloric acid is

A. Zero

B. One

C. Two

D. Four

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KSd20cXjC1d9
https://dl.doubtnut.com/l/_we2MVGhdze3b


ASSIGNMENT (SECTION - A) (Objective Type Questions)

50. Which is the correct order of bond length ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2 < Br2 < F2 < I2

Cl2 < F2 < Br2 < I2

I2 < Br2 < F2 < Cl2

Br2 < I2 < F2 < Cl2

1. On moving down the group 13 density

A. Increase

B. Decrease

https://dl.doubtnut.com/l/_WeXoiq1SlzcG
https://dl.doubtnut.com/l/_MLNK0PAOXKjS


C. First decreases then increases

D. Remains same

Answer: A

Watch Video Solution

2. High melting point of boron is due to its existence as

A. Small covalent molecule

B. Giant covalent molecule

C. Giant covalent solid

D. Giant ionic molecule

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MLNK0PAOXKjS
https://dl.doubtnut.com/l/_VRlqdJw4fR9K
https://dl.doubtnut.com/l/_BuKFz42bwd5Y


3. Which element of group 13 forms covalent compounds only

A. Size of ions is small

B. Sum of three ionization energies is very high

C. Electronegativity values are high

D. All of these

Answer: D

Watch Video Solution

4. Group 13 elements show

A.  and 

B.  and 

C.  and 

+1 +3

+1, + 2 +3

+2, + 3 +4

https://dl.doubtnut.com/l/_BuKFz42bwd5Y
https://dl.doubtnut.com/l/_UTM9TE5oKD2s


D.  and 

Answer: A

Watch Video Solution

+1 +4

5. Which one of the following elements of group 13 can react with

alkali solutions to give  gas?

A. Boron

B. Aluminium

C. Gallium

D. All of these

Answer: D

Watch Video Solution

H2

https://dl.doubtnut.com/l/_UTM9TE5oKD2s
https://dl.doubtnut.com/l/_weG1rYS1lwLN
https://dl.doubtnut.com/l/_eS46GY5ezzOi


6. The correct order of Lewis acidic strength of boron trihalides :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Bl3 > BBr > BCl3 > BF3

BF3 > BCl3 > BBr3 > Bl3

BCl3 > BF3 > BBr3 > Bl3

Bl3 > BBr3 < BF3 < BCl3

7. Dimer  is formed because

A. Al is electron rich

B. Aluminium is having lone pair of electron

C. Aluminium forms coordinate bonds with chlorine to complete

its octet.

Al2Cl6

https://dl.doubtnut.com/l/_eS46GY5ezzOi
https://dl.doubtnut.com/l/_DI3rv2BtSqaD


D. Aluminium donates lone pair to form bridge

Answer: C

Watch Video Solution

8. What happens when Borax is heated strongly.

A. 

B. 

C. 

D. Both (1) & (2)

Answer: D

Watch Video Solution

NaBO2

B2O3

Na2B4O7

https://dl.doubtnut.com/l/_DI3rv2BtSqaD
https://dl.doubtnut.com/l/_x8cAOXEbfv5M


9.  accept how many  ions ?

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

B(OH)3 OH −

10. Boric acid is polymeric due to 

(a) its acidic nature , (b) the presence of hydrogen bonds 

(c) its monobasic nature , (d) its geometry

A. Basic nature

B. Acidic nature

https://dl.doubtnut.com/l/_VbE83RDyGgpH
https://dl.doubtnut.com/l/_iRMBMtuxc6z9


C. Hydrogen bonds

D. Co-ordinate bonds

Answer: C

Watch Video Solution

11. Select the incorrect statement for 

A. It contains B- B ionic bonds

B. Each boron is  hybridised

C. It has two types of hydrogen bonds

D. All of these

Answer: A

Watch Video Solution

B2H6

sp3

https://dl.doubtnut.com/l/_iRMBMtuxc6z9
https://dl.doubtnut.com/l/_WkBLNgAhwGfc
https://dl.doubtnut.com/l/_KdPbq3fHCGNO


12. If diborane each boron has three electrons bonds around each B

atom and form

A. Two bonds

B. Three bonds

C. Four bonds

D. Five bonds

Answer: C

Watch Video Solution

13. Which of the following structure is similar to graphite.

A. Boron nitride

B. Boron carbide

C. Aluminium oxide

https://dl.doubtnut.com/l/_KdPbq3fHCGNO
https://dl.doubtnut.com/l/_lZdnYHPsysM8


D. Aluminium carbide

Answer: A

Watch Video Solution

14. The number of sigma and pi bonds present in inorganic benzene

are respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3σ, 12π

12σ, 3π

3σ, 3π

12σ, 12π

https://dl.doubtnut.com/l/_lZdnYHPsysM8
https://dl.doubtnut.com/l/_VXsGNruk698h
https://dl.doubtnut.com/l/_k3Ur4XhybgcB


15. Aluminium is used for making alloys because of its

A. Resistance to corrosion

B. Poor conductivity

C. Heaviness

D. All of these

Answer: A

Watch Video Solution

16. Element of group 14 (IV A) have outer electronic configuration of

A. 

B. 

C. 

D. 

ns2

ns2np4

ns2np4

ns2np2

https://dl.doubtnut.com/l/_k3Ur4XhybgcB
https://dl.doubtnut.com/l/_KxTDFg5YdFxI


Answer: D

Watch Video Solution

17. Tendency of carbon for catenation is because carbon-carbon

atoms bond energy is

A. Low

B. High

C. Zero

D. Negative

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KxTDFg5YdFxI
https://dl.doubtnut.com/l/_d4rMy0xgLfaK


18. All elements except carbon have tendency to show maximum

covalency of six

A. Due to absence of vacant d-orbitals

B. Due to presence of vacant d-orbitals

C. Due to presence of partially filled d-orbitals

D. Due to presence of completely filled d- orbitals

Answer: B

Watch Video Solution

19. Most abundant metal in earth crust is :

A. Silicon

B. Germanium

https://dl.doubtnut.com/l/_rcJsb0eiucN4
https://dl.doubtnut.com/l/_4AdsWsikd140


C. Aluminium

D. Arsenic

Answer: C

Watch Video Solution

20. Metalloid among the following is

A. Carbon

B. Germanium

C. Lead

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4AdsWsikd140
https://dl.doubtnut.com/l/_EYCz2YdJYnzd
https://dl.doubtnut.com/l/_QZ9Koh3upU68


21. On moving down the group, acidic nature of oxides of group 14.

A. Decreases

B. Increases

C. Remains same

D. Increases then decreases

Answer: A

Watch Video Solution

22. Which one of the following elements forms double or triple bond

involving  bonding?

A. Carbon

B. Silicon

C. Germanium

pπ − pπ

https://dl.doubtnut.com/l/_QZ9Koh3upU68
https://dl.doubtnut.com/l/_vvCZbJwCKFfk


D. Tin

Answer: A

Watch Video Solution

23. Allotropy is due to

A. Differences in the number of atoms in the molecules

B. Difference in the arrangement of atoms in the molecule in the

crystal

C. Difference in chemical properties

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vvCZbJwCKFfk
https://dl.doubtnut.com/l/_LKRrAwH4Jc7X
https://dl.doubtnut.com/l/_aa6xdOtzyuOe


24. Hybridisation of carbon atoms in diamond is

A.  hybridised

B.  hybridisation

C.  hybridisation

D.  hybridisation

Answer: A

Watch Video Solution

sp3

sp

sp2

sp3d2

25. Graphite has

A. 2- D sheet structure

B. Van der Waals forces between different layers

https://dl.doubtnut.com/l/_aa6xdOtzyuOe
https://dl.doubtnut.com/l/_ZgOnYN6u2a0F


C.  hybridised carbon linked with other three carbon atoms in

hexagonal planar structure

D. All of these

Answer: D

Watch Video Solution

sp2

26. In graphite, the bond is

A. Ionic

B. Covalent

C. Co-ordinate

D. Metallic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZgOnYN6u2a0F
https://dl.doubtnut.com/l/_YMD7zMOhPaOc


27. Which one of the following is properties of CO gas?

A. It is a colourless gas

B. It is an odourless gas

C. It is a neutral oxide

D. All of these

Answer: D

Watch Video Solution

28. Carbonic acid is a

A. Weak tribasic acid

B. Weak dibasic acid

https://dl.doubtnut.com/l/_YMD7zMOhPaOc
https://dl.doubtnut.com/l/_pLFe3K79reju
https://dl.doubtnut.com/l/_uOgEvWFJjXJS


C. Strong tribasic acid

D. Strong dibasic acid

Answer: B

Watch Video Solution

29. Organosilicon polymers containing Si-O-Si linkage is called

A. Silicates

B. Silicones

C. Glass

D. Silica

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uOgEvWFJjXJS
https://dl.doubtnut.com/l/_esYDjsdXfHAM
https://dl.doubtnut.com/l/_1AylM9asqBIt


30.  ion has geometry

A. Triangular

B. Tetrahedral

C. Pentagonal bipyramidal

D. Linear

Answer: B

Watch Video Solution

SiO
4 −
4

31. Maximum covalent character is shown by

A. 

B. 

C. 

NCl3

PCl3

AsCl3

https://dl.doubtnut.com/l/_1AylM9asqBIt
https://dl.doubtnut.com/l/_YAixOP5qtmKg


D. 

Answer: A

Watch Video Solution

SbCl3

32.  on disproportionation gives  and

A. 

B. 

C. 

D. All of these can form

Answer: C

Watch Video Solution

HNO2 HNO3

NO2

N2O5

NO

https://dl.doubtnut.com/l/_YAixOP5qtmKg
https://dl.doubtnut.com/l/_8l6ped5NKAGs


33. The correct order of acidic character is

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

P4O10 > P4O6

N2O5 > N2O3

N2O3 > P4O8

34. In which of the following reactions, products given are not

correct?

A. 

B. 

(NH4)2Cr2O7

Δ
−−→ N2 + 4H2O + Cr2O3

Ba(N3)2

Δ
−−→ Ba + 3N2

https://dl.doubtnut.com/l/_cDiYlu64lWIP
https://dl.doubtnut.com/l/_45lohK6Ip3th


C. 

D. 

Answer: D

Watch Video Solution

3Mg + N2

Δ
−−→ Mg3N2

NH4Cl + NaNO2 → NaCl + NH3 + NO2

35. Oxide of nitrogen which is acidic in nature and blue solid

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O

NO

N2O3

NO2

https://dl.doubtnut.com/l/_45lohK6Ip3th
https://dl.doubtnut.com/l/_v5wKQahn7raO
https://dl.doubtnut.com/l/_lf26W5MsloKa


36. Valency and oxidation number of nitrogen in 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O5

5, + 5

4, + 5

3, + 3

3, + 5

37. Which of the following solid has maximum melting points?

A. 

B. 

C. 

NH3

PH3

AsH3

https://dl.doubtnut.com/l/_lf26W5MsloKa
https://dl.doubtnut.com/l/_C2cs7dIPYkPB


D. 

Answer: A

Watch Video Solution

SbH3

38. In which of the following N-N bond is not present ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O5

N2O

N2O4

N2O3

https://dl.doubtnut.com/l/_C2cs7dIPYkPB
https://dl.doubtnut.com/l/_a8ncDrFTJpHL


39. Which set of oxide of nitrogen is paramagnetic in monomeric

state?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO, N2O

NO2, N2O

NO, NO2

N2O, NO, NO2

40. The incorrect statement among the following is

A. Reducing character of hydrides of group 15 increases down

the group

https://dl.doubtnut.com/l/_zpJITb2KNKNM
https://dl.doubtnut.com/l/_eSl7h9BiQzKX


B. Basicity of hydrides of group 15 increases down the group

C. Phosphorus and arsenic can form  bond but not

nitrogen

D.  does not exist

Answer: B

Watch Video Solution

pπ − dπ

NCl5

41. Metal which become passive with conc. 

A. 

B. Zn

C. Al

D. Both (1) & (3)

Answer: D

HNO3

Cr

https://dl.doubtnut.com/l/_eSl7h9BiQzKX
https://dl.doubtnut.com/l/_kOKEVmkq9yVo


Watch Video Solution

42. In brown ring test for nitrate ions, brown ring is formed due to

complex

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(H2O)6]
2 +

[Fe(H2O)5NO]
2 +

[Fe(H2O)5NO]
3 +

[Fe(H2O)5NO2]
2 +

43. Allotrope of phosphorus which is polymeric consisting of chains

of  tetrahedral linked together isP4

https://dl.doubtnut.com/l/_kOKEVmkq9yVo
https://dl.doubtnut.com/l/_fORl6hqUS1bG
https://dl.doubtnut.com/l/_iqHtcsRToONd


A. White phosphorus

B. Red phosphorus

C. Yellow phosphorus

D. Both (1) & (2)

Answer: B

Watch Video Solution

44. Which is dibasic?

A. Orthophosphoric acid

B. Pyrophosphoric acid

C. Orthophosphorus acid

D. Hypophosphorus acid

Answer: C

https://dl.doubtnut.com/l/_iqHtcsRToONd
https://dl.doubtnut.com/l/_GGVN8yEa7orC


Watch Video Solution

45. Cyclotrimeta phosphoric acid has total number of P=O & P-O

bonds respectively

A. 5 , 3

B. 3 , 9

C. 3 , 6

D. 5 , 6

Answer: B

Watch Video Solution

46. The one with lowest electron affinity in group 16 is

A. Oxygen

https://dl.doubtnut.com/l/_GGVN8yEa7orC
https://dl.doubtnut.com/l/_nTg0mucJmdHI
https://dl.doubtnut.com/l/_JPnuBB2LO6Ze


B. Sulphur

C. Selenium

D. Tellurium

Answer: A

Watch Video Solution

47. Write down the hybridization of central atom and shape of 

A.  , square planar

B.  , octahedral

C.  , see saw

D.  , trigonal bipyramidal

Answer: C

Watch Video Solution

SF4.

sp3d2

sp3d2

sp3d

sp3d

https://dl.doubtnut.com/l/_JPnuBB2LO6Ze
https://dl.doubtnut.com/l/_T69VFBN8UHkK


48. The correct order of boiling point is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

:

H2O < H2S < H2Se < H2Te

H2Te < H2Se < H2S < H2O

H2S < H2Se < H2Te < H2O

H2O < H2Te < H2Se < H2S

49. Dioxygen can be prepared by

A. Heating 

B. Thermal decomposition of oxides like  etc

KClO3

Ag2O, Pb3O4

https://dl.doubtnut.com/l/_T69VFBN8UHkK
https://dl.doubtnut.com/l/_qt9fgDQ19egn
https://dl.doubtnut.com/l/_mvRpWEkCinOU


C. Electrolysis of water

D. All of these

Answer: D

Watch Video Solution

50. The set containing acidic oxides only are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO2, Cl2O7, CO

Al2O3, NO, N2O5

NO, N2O3, N2O5

N2O3, SO2, N2O5

https://dl.doubtnut.com/l/_mvRpWEkCinOU
https://dl.doubtnut.com/l/_MeWDJrm3HVEM
https://dl.doubtnut.com/l/_24kQfEnAHX2S


51. The incorrect statement regarding structure of ozone

A. The two oxygen- oxygen bond length in ozone are identical

B. It is linear

C. Bond angle is less than 

D. Both (2) & (3)

Answer: B

Watch Video Solution

120∘

52. Which form of sulphur shows paramagnetic behaviour ?

A.  - Rhombic

B.  - Monoclinic

C.  in vapour state

S8

S8

S2

https://dl.doubtnut.com/l/_24kQfEnAHX2S
https://dl.doubtnut.com/l/_ULSWE8jpao7I


D. Not possible

Answer: C

Watch Video Solution

53. Which has bleaching action due to reducing property and it is

temporary?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2

O3

SO2

Cl2

https://dl.doubtnut.com/l/_ULSWE8jpao7I
https://dl.doubtnut.com/l/_nTo4Yvt0HzdG
https://dl.doubtnut.com/l/_aTWfp786PI7U


54. On reaction of moist  with potassium permangnate (Acidic)

which is correctly observed?

A. Colour of  is decolourised

B.  is oxidised to 

C.  is reduced to 

D. All of these

Answer: A

Watch Video Solution

SO2

KMnO4

SO2 SO3

MnO
−
4 MnO2

55.  bond is present in

A. 

B. 

C. 

S − S

H2S2O7

H2S2O8

H2S2O6

https://dl.doubtnut.com/l/_aTWfp786PI7U
https://dl.doubtnut.com/l/_YDsexNJABboT


D. 

Answer: C

Watch Video Solution

H2SO5

56. Deacon's process of manufacture of chlorine is represented by

the equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO2 + HCl → MnCl2 + Cl2 + H2O

KMnO4 + HCl → KCl + MnCl2 + H2O + Cl2

HCl + O2

CuCl2
−−−→ Cl2 + H2O

NaCl + MnO2 + H2SO4 → Cl2 + MnCl2 + NaHSO4 + H2O

https://dl.doubtnut.com/l/_YDsexNJABboT
https://dl.doubtnut.com/l/_GzqVz8Qxpq68


57. The colour shown by halogen is incorrectly given by

A. - yellow

B.  - Colourless

C.  - Red

D.  - Violet

Answer: B

Watch Video Solution

F2

Cl2

Br2

I2

58. Which is incorrectly given according to order incicated?

A.  , Oxidising power

B.  , Acidic strength

C.  , Bond dissociation enthalpy

F2 > Cl2 > Br2 > l2

Hl > HBr > HCl > HF

F2 > Cl2 > Br2 > l2

https://dl.doubtnut.com/l/_GzqVz8Qxpq68
https://dl.doubtnut.com/l/_bUFis297LHHw
https://dl.doubtnut.com/l/_Z6SvCkQJbjJZ


D.  , Boiling point

Answer: C

Watch Video Solution

HF > Hl > HBr > HCl

59.  on reaction with excess of  gives

A. 

B. 

C.  only

D. 

Answer: A

Watch Video Solution

Cl2 NH3

NH4Cl + N2

NCl3 + HCl

NH4Cl

NH4Cl + NCl3

https://dl.doubtnut.com/l/_Z6SvCkQJbjJZ
https://dl.doubtnut.com/l/_b9xe5HRX2Uvv


60. When cold  reacts with  which of the following is

formed

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaOH Cl2

NaOCl

NaClO3

NaClO4

NaClO2

61.  


Shape of compound (A) is

A. Linear

B. Tetrahedral

Cl2 + F2
(Excess )

573K
−−→ (A)

https://dl.doubtnut.com/l/_Wudu3R6k7esD
https://dl.doubtnut.com/l/_ZPW0EGCuE0fT


C. T- shape

D. Trigonal bipyramidal

Answer: C

Watch Video Solution

62. The correct order of acidic strength is

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

HClO4 > HClO3 > HClO2 > HClO

HClO3 + HClO2 > HClO3

H3PO2 > H3PO3 > H3PO4

https://dl.doubtnut.com/l/_ZPW0EGCuE0fT
https://dl.doubtnut.com/l/_cR2ydKQ8dAdk
https://dl.doubtnut.com/l/_Co8vSIZ6RPkF


63. The one with maximum oxidising power is

A. Hypochlorous acid

B. Chlorous acid

C. Chloric acid

D. Perchloric acid

Answer: A

Watch Video Solution

64. Which is mismatched regarding the shape?

A.  - Square planar

B.  - Square pyramidal

C.  - Distorted octahedral

XeF4

XeOF4

XeF6

https://dl.doubtnut.com/l/_Co8vSIZ6RPkF
https://dl.doubtnut.com/l/_BujBLfeHiIgV


D. - Bent T shape

Answer: D

Watch Video Solution

XeO3

65. Structure of  is correctly represented by

A. 

B. 

C. 

XeO2F2

https://dl.doubtnut.com/l/_BujBLfeHiIgV
https://dl.doubtnut.com/l/_yAzDwsMptZCg


ASSIGNMENT (Section - B) (Objective Type Questions)

D. Both (2) & (3)

Answer: B

Watch Video Solution

1. Why boron compounds behave as lewis acid ?

A. Acidic nature

B. Covalent nature

C. Ionisation nature

D. Electron deficient nature

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yAzDwsMptZCg
https://dl.doubtnut.com/l/_KEmfSV540h08


2. The compound that is not a Lewis acid is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BF3

AlCl3

PCl3

SnCl4

3. Borax is

A. 

B. 

C. 

Na2[B4O5(OH)4]8H2O

Na2[B4O5(OH)6]7H2O

Na2[B4O3(OH)6]6H2O

https://dl.doubtnut.com/l/_KEmfSV540h08
https://dl.doubtnut.com/l/_HQUI6aCjRhPC
https://dl.doubtnut.com/l/_Gm1h02ChnY8s


D. 

Answer: A

Watch Video Solution

Na2[B4O2(OH)10]5H2O

4. In Diborane , the incorrect statement is

A. All 6 B-H bond are on same plane

B. 4 B- H bonds are on the plane and two B- H bonds above and

below the plane

C. It is the 12  species

D. Two  are attached with three centre electron pair bond

Answer: A

Watch Video Solution

e−

BH3

https://dl.doubtnut.com/l/_Gm1h02ChnY8s
https://dl.doubtnut.com/l/_KQny5VjW1nFa
https://dl.doubtnut.com/l/_h6TimAFOcKzm


5. On strong heating boric acid yields

A. B

B. 

C. 

D. 

Answer: C

Watch Video Solution

B2H6

B2O3

BO2

6. In which of the following reaction boron does not act as reducing

agent ?

A. 

B. 

C. 

B + CO2 →

B + Mg →

B + SiO2 →

https://dl.doubtnut.com/l/_h6TimAFOcKzm
https://dl.doubtnut.com/l/_mzZQ04jgGZqX


D. 

Answer: B

Watch Video Solution

B + HNO3 →

7. Which of the following statement is correct ?

A. Boron and aluminium halides behave as Lewis acids

B. Al forms  ion but B does not form  ion

C. The  back bonding occurs in the halides of boron and

not in those of aluminium

D. All of these

Answer: D

Watch Video Solution

[AlF6]3 − [BF6]3 −

pπ − pπ

https://dl.doubtnut.com/l/_mzZQ04jgGZqX
https://dl.doubtnut.com/l/_nVMuVUpf3xd2
https://dl.doubtnut.com/l/_FyRxGLdnLn3R


8. Statement-1: Aluminium chloride has chloro-bridged structure in

vapour phase. 

Statement-2: Aluminium chloride in acidified aqueous solution forms

A. Tetrahedral  ion

B. Octahedral  ion

C. Tetrahedral  ion

D. Octahedral  ion

Answer: D

Watch Video Solution

[Al(H2O)6]
3 +

[Al(H2O)4]
+ 3

[Al(H2O)4]
3 +

[Al(H2O)6]
+ 3

[Al(H2O)6]
+ 3

9.  


 


Na2B4O7

740 ∘C
−−−−−→

Δ
2NaBO2 + B2O2

X     +     Y


Transparent

Z + CuO(s) → Cu(BO2)
2


Blue Bead

https://dl.doubtnut.com/l/_FyRxGLdnLn3R
https://dl.doubtnut.com/l/_MiUZ4m1C8nyB


The Z will be

A. X

B. Y

C. Mixture of X & Y in 2: 1 ratio

D. Mixture of X & Y in 1 : 2 ratio

Answer: B

Watch Video Solution

10. Reaction of ammonia with diborane gives initially 

which can also be written as

A. 

B. 

C. 

B2H62NH3

[BH2(NH3)2]
+

[BH4] −

[BH4] + [BH2(NH3)2]
+

[BH3NH3] + [BH4] −

https://dl.doubtnut.com/l/_MiUZ4m1C8nyB
https://dl.doubtnut.com/l/_Rtjl7nBsxXTg


D. 

Answer: A

Watch Video Solution

[B2N2H6] + [H3] −

11. Diborane can't be obtained from

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2B4O7 + HCl

NaBH4 + I2

BF3 + liAlH4

BF3 + NaH

https://dl.doubtnut.com/l/_Rtjl7nBsxXTg
https://dl.doubtnut.com/l/_Hqovs5zKdVfW


12. White fumes appear around the bottle of anhydrous aluminium

chloride. Give reason.

A. Decomposition of 

B. Hydrolysis of  liberating  gas

C. Hydrolysis of  liberating  gas

D. Hydrolysis of  liberating HCl gas

Answer: D

Watch Video Solution

AlCl3

AlCl3 H2

AlCl3 Cl2

AlCl3

13. Number of hydroxy group attached to Boron in Borax are

A. Four

B. Five

https://dl.doubtnut.com/l/_Fl24wYII1D5m
https://dl.doubtnut.com/l/_ryak9iPTD5qG


C. Six

D. Ten

Answer: A

Watch Video Solution

14. The correct match is

A.  - Buckminster fullerence

B.  - Kemite

C. Borazole - 

D. All of these

Answer: D

Watch Video Solution

C60

Na2B4O7. 4H2O

B3N3H6

https://dl.doubtnut.com/l/_ryak9iPTD5qG
https://dl.doubtnut.com/l/_qLMb0JtBwmiy
https://dl.doubtnut.com/l/_9Irsgjqm879m


15. The correct match is

A.  - basic

B. - amphoteric

C.  - basic

D.  - only acidic

Answer: B

Watch Video Solution

B(OH)3

SnO, PbO

GeO2

PbO2

16. In which complex C-O bond length is maximum ?

A. 

B. 

C. 

CH3CHO

CO2

CO

https://dl.doubtnut.com/l/_9Irsgjqm879m
https://dl.doubtnut.com/l/_VQ6AgMk53J9q


D. 

Answer: D

Watch Video Solution

CO2 −
3

17. Dry ice piece is composed of ……………………..

A. Solid He

B. Solid 

C. Solid 

D. Solid 

Answer: B

Watch Video Solution

CO2

SO2

C6H6

https://dl.doubtnut.com/l/_VQ6AgMk53J9q
https://dl.doubtnut.com/l/_pXvJKULHUwLo


18. The metallic character of element of group 14

A. Decreses from top to bottom

B. Increases from top to bottom

C. Does not change gradually

D. Metallic character is not seen

Answer: B

Watch Video Solution

19. The tendency of group 14 elements to show +2 oxidation state

increases in the order of

A. 

B. 

Ge < Sn < Pb

Pb < Sn < Ge

https://dl.doubtnut.com/l/_O46hmdoPfJ6j
https://dl.doubtnut.com/l/_ePbOWWD35FSh


C. 

D. 

Answer: A

Watch Video Solution

Sn < Ge < Pb

Sn < Pb < Ge

20. Which one of the following is correct statement of fullerenes -

 ?

A. Fullerenes are made by heating of graphite in an electric arc in

the presence of Hydrogen

B. Fullerenes are the only impure form of carbon due to presence

of dangling bonds

C. Both (1) & (2)

C60

https://dl.doubtnut.com/l/_ePbOWWD35FSh
https://dl.doubtnut.com/l/_fYqsEJJneCQ0


D. It contains twenty six - membered rings and twelve five

membered rings

Answer: D

Watch Video Solution

21. The miture of CO and  is known as

A. Water gas or producer gas

B. Water gas or synthesis gas

C. Synthesis gas or producer gas

D. Producer gas

Answer: B

Watch Video Solution

H2

https://dl.doubtnut.com/l/_fYqsEJJneCQ0
https://dl.doubtnut.com/l/_lkWdIUOSHBZa
https://dl.doubtnut.com/l/_0FiXH7qXDKfD


22. When  is allowed to undergo hydrolysis it gives

A.  - Silicic acid

B.  - Silicic acid

C.  - Silicic acid

D.  do not undergo hydrolysis

Answer: B

Watch Video Solution

SiCl4

SiO2

Si(OH)4

Si(OH)Cl3

SiCl4

23. Which of the following is correct for a carbon family?

A. Tin mainly occurs as Cassiterite , 

B. Silicon is the third most abundant element on earth's crust

C. Only two isotopes of carbon are present  and 

SnO2

C 12 C 13

https://dl.doubtnut.com/l/_0FiXH7qXDKfD
https://dl.doubtnut.com/l/_cK6T949hCiXF


D. Germanium is most abundant than other members of carbon

family

Answer: A

Watch Video Solution

24.  multiple bond is seen in

A. Mostly carbon

B. All carbon family member

C. Sn but not in carbon

D. Boron family and not in carbon family

Answer: A

Watch Video Solution

pπ − pπ

https://dl.doubtnut.com/l/_cK6T949hCiXF
https://dl.doubtnut.com/l/_vlPMUSFCHGbd
https://dl.doubtnut.com/l/_dxKhsBmcbjtA


25.  


 


 


A , B & X respectively are

A.  , Carbon , 

B. 

C. 

D.  , Carbon , 

Answer: B

Watch Video Solution

A + CO → CO2

B + CO → CO2

X + O2 → CO2

CH4 Fe2O3

Fe2O3, ZnO, CH4

Fe2O3, CH4, ZnO

HCOOH CH4

26. The geometry of  is

A. Tetrahedral

SiCl4

https://dl.doubtnut.com/l/_dxKhsBmcbjtA
https://dl.doubtnut.com/l/_1uHWM0eQbZiH


B. Square planar

C. Octahedral

D. Planar triangular

Answer: A

Watch Video Solution

27. The silicates which contain discrete anions are

A. Sheet silicates

B. Ortho silicates

C. Three dimensions silicates

D. Pyrosilicate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1uHWM0eQbZiH
https://dl.doubtnut.com/l/_LaCWZgTvcApw


28.  


Y & X respectively are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3Cl + Si
CuPowder

−−−−−−→
570

X
2H2O

−−→ Y

(CH3)2SiCl2, (CH3)2Si(OH)2

(CH3)2Si(OH)2, (CH3)2SiCl2

SiCl4, Si(OH)4

Si(OH)4, SiCl4

29. Hydrolysis of dimethyldichloro silane ,  followed by

condensation polymerisation yields straight chain polymer of

(CH3)2SiCl2

https://dl.doubtnut.com/l/_LaCWZgTvcApw
https://dl.doubtnut.com/l/_zsTU8PTArgTw
https://dl.doubtnut.com/l/_8swHvOX1UG0k


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30. Silicones are

A. Water repelling in nature

B. With high thermal stability

C. With high dielectric strength

D. All of these

https://dl.doubtnut.com/l/_8swHvOX1UG0k
https://dl.doubtnut.com/l/_UHlrjjIFVrU0


Answer: D

Watch Video Solution

31. Which one is correct statement for zeolite ?

A. They are alumino silicates

B. Hydrated zeolites are used as ion exchangers in hardening of

soft water

C. ZSM - 5 is used to convert gasoline to alcohol

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UHlrjjIFVrU0
https://dl.doubtnut.com/l/_P692ZSkQ0nyX


32. The correct statement is

A. Diamond is covalent yet it has high melting point

B.  is known whereas  is not

C.  only exist at high temp

D. All of these

Answer: D

Watch Video Solution

[SiF6]2 − [SiCl6]2 −

SiO

33. (i)  


(ii)  


The products of (ii) & (i) respectively are

A. 

B. 

SiO2 + NaOH → ?

SiO2 + HF → ?

H2SiF6, SiO4 −
4

SiF4, Na2SiO3

https://dl.doubtnut.com/l/_jLVp9WDKSUO0
https://dl.doubtnut.com/l/_OXrShZJ8dqkj


C. 

D. 

Answer: B

Watch Video Solution

Na2SiO3, SiF4

Na2SiO4, H2SiF6

34. Assertion : Calcium carbide on hydrolysis gives methane. 

Reason : Calcium carbide contains  anion.

A. If both A and R are true and R is the correct explanation for A.

B. If both A and R are true and R is not the correct explanation

for A.

C. If A is true and R is false.

D. If A is false and R is true.

Answer: B

C 2 –
2

https://dl.doubtnut.com/l/_OXrShZJ8dqkj
https://dl.doubtnut.com/l/_h4B3k7d1dYuz


Watch Video Solution

35. Carbon Suboxide has the formula

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2CO3

C2O3

C3O2

CO

36.  


, 


 


A, B and C are:

NH3 + O2

Pt
−−→

Δ
A + H2O

A + O2 → B

B + O2 + H2O → C

https://dl.doubtnut.com/l/_h4B3k7d1dYuz
https://dl.doubtnut.com/l/_V5DgUbYQkFuZ
https://dl.doubtnut.com/l/_YE42cFC1Wxql


A. 

B.  and 

C. NO_2 , HNO_3 N_2 O`

D. N_2 O , NO HNO_3`

Answer: A

Watch Video Solution

NO, NO2, and HNO3

NO2, NO HNO3

and

and

37. Which of the following will be hydrolysed with warm water

A. 

B. 

C. 

D. All of these

Answer: D

TeF6

NCl3

SF6

https://dl.doubtnut.com/l/_YE42cFC1Wxql
https://dl.doubtnut.com/l/_pZ3DMdXTN0Ws


Watch Video Solution

38. Phosphine on reaction with hydrobromic acid gives

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PBr3

P2H4Br2

PBr5

PH4Br

39. In  the number co-ordinate bonds is

A. 1

B. 8

P4O10

https://dl.doubtnut.com/l/_pZ3DMdXTN0Ws
https://dl.doubtnut.com/l/_j73fS6LG2Bwl
https://dl.doubtnut.com/l/_ghPe3LmeGMtt


C. 3

D. 4

Answer: D

Watch Video Solution

40. Calomel  on reaction with ammonium hydroxide gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(Hg2Cl2)

Hg2O

HgO

HgNH2Cl

NH2Hg2Cl

https://dl.doubtnut.com/l/_ghPe3LmeGMtt
https://dl.doubtnut.com/l/_lWGCXWPQ2b8v
https://dl.doubtnut.com/l/_mqm9Lyb1VpKb


41.  on complete hydrolysis gives

A. Xe

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF6

XeO2

XeO3

XeO2F2

42. Which of the following is most basic ?

A. 

B. 

C. 

Cl−

F −

I −

https://dl.doubtnut.com/l/_mqm9Lyb1VpKb
https://dl.doubtnut.com/l/_dQbWaV7FDtF4


D. 

Answer: B

Watch Video Solution

Br−

43. Nitrogen is obtained when  reacts with

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaNO2

NH4Cl

NH4NO3

(NH4)2CO3

NH4OH

https://dl.doubtnut.com/l/_dQbWaV7FDtF4
https://dl.doubtnut.com/l/_EiPz3HmL6KPF


44. Which of the following compound will not form during the

hydrolysis of  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeF6

XeO3

XeOF4

XeO2F2

XeOF3

45. The final product formed , when alkaline Kl solution reacts with

ozone and water is

A. 

B. 

l2

KlO3

https://dl.doubtnut.com/l/_f8NJoa1rODB5
https://dl.doubtnut.com/l/_T8qwVR7EqfBb


C. 

D. Reaction will not occur

Answer: A

Watch Video Solution

Hl

46. Which of the following is a sesqui oxide ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O4

N2O3

N2O

N2O5

https://dl.doubtnut.com/l/_T8qwVR7EqfBb
https://dl.doubtnut.com/l/_Wo31pqTcymcI
https://dl.doubtnut.com/l/_759Br6ODOyEj


47.  


The product 'P' will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2PtCl4

H2PtCl6

H2PtCl2

H3PtCl3

48. What is the product formed when  reacts with excess of 

?

NH3 Cl2

https://dl.doubtnut.com/l/_759Br6ODOyEj
https://dl.doubtnut.com/l/_RDR1ehdMme12


A.  & HCl

B.  & 

C.  & HCl

D.  & 

Answer: C

Watch Video Solution

NH4Cl

NH4Cl N2

NCl3

NH4Cl NCl3

49. Hybridisation of central N atom in  is

A. 

B. 

C. 

D. sp & 

Answer: A

N2O

sp

sp2

sp3

sp2

https://dl.doubtnut.com/l/_RDR1ehdMme12
https://dl.doubtnut.com/l/_lM4vS40Q8Kq3


Watch Video Solution

50. The most acidic oxide among the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO3

P2O5

Cl2O7

SiO2

51.  in solid state exists as.

A. 

B. 

PCl5

[PBr4] + [PBr6] −

[PBr5] + [PBr5] −

https://dl.doubtnut.com/l/_lM4vS40Q8Kq3
https://dl.doubtnut.com/l/_aA6T51xXhawF
https://dl.doubtnut.com/l/_sRndA5i6XhGF


C. 

D. 

Answer: C

Watch Video Solution

[PBr4] + [Br− ]

PBr5

52. Which metal gives , when react with dilute 

acid?

A. Fe

B. Ti

C. Cu

D. Hg

Answer: A

Watch Video Solution

NH4NO3 HNO3

https://dl.doubtnut.com/l/_sRndA5i6XhGF
https://dl.doubtnut.com/l/_eRVYE7uq8aiI


53. In iodide of Million's base formed by the reaction of Nessler's

reagent with , the coordination number of Hg will be

A. 2

B. 3

C. 4

D. 6

Answer: A

Watch Video Solution

NH3

54. The compound insoluble in aqueous  is

A. 

B. 

NH3

Agl

AgCl

https://dl.doubtnut.com/l/_eRVYE7uq8aiI
https://dl.doubtnut.com/l/_qrPRlkWCpJZs
https://dl.doubtnut.com/l/_oBT0llHUGMNx


C. 

D. 

Answer: A

Watch Video Solution

ZnSO4

HgCl2

55. When Cu is reacted with hot concentrated solution of 

then the gas obtained is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO4

O2

H2

SO2

SO3

https://dl.doubtnut.com/l/_oBT0llHUGMNx
https://dl.doubtnut.com/l/_4wRTZ7xf6xH6


56. A metal X when burnt in air ,X -forms oxide and nitride both , X

can be

A. Mg

B. Rb

C. Na

D. Li

Answer: B

Watch Video Solution

57. In xenon fluorides most reactive in  and  is

A. 

B. 

XeF6, XeF4 XeF2

XeF6

XeF2

https://dl.doubtnut.com/l/_4wRTZ7xf6xH6
https://dl.doubtnut.com/l/_RzGFK8WpEksF
https://dl.doubtnut.com/l/_eQg49pBQ4jKr


C. 

D. All are equally reactive

Answer: A

Watch Video Solution

XeF4

58. The shape of  , is

A. Linear

B. Trigonal bipyramidal

C. Square pyramidal

D. T -shape

Answer: A

Watch Video Solution

ClF −
2

https://dl.doubtnut.com/l/_eQg49pBQ4jKr
https://dl.doubtnut.com/l/_2ggNqWTUbPUo
https://dl.doubtnut.com/l/_0m0Bdd6t61lT


59. Which of the following is called mixed anhydride ?

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

NO2

N2O3

N2O5

60. Reaction of  with hot and conc.  produces

A. NaClO

B. 

C. 

Cl2 NaOH

NaClO3

NaClO4

https://dl.doubtnut.com/l/_0m0Bdd6t61lT
https://dl.doubtnut.com/l/_fOnKpxO4vwW8


D. 

Answer: B

Watch Video Solution

NaClO2

61. Which of the following do not exist ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

NCl5

PH5

[BCl6]3 −

https://dl.doubtnut.com/l/_fOnKpxO4vwW8
https://dl.doubtnut.com/l/_JH3socMEmQpN


62.  . What are A and B

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCl3 + H2O → A + B

H3PO2 + HCl

H3PO4 + HCl

H3PO3 + HCl

HPO3 + HClO3

63. Thermodynamically the most stable form of carbon is 

(a) diamond , (b) graphite 

(c) fullerenes , (d) coal

A. Fullerene

B. Diamond

https://dl.doubtnut.com/l/_rTy4dXwaIf32
https://dl.doubtnut.com/l/_JdJy4XbxWsZO


ASSIGNMENT (Section - C) (Previous Years Questions)

C. Graphite

D. All are equally stable

Answer: C

Watch Video Solution

1. Name the gas that can readily decolourise acidified 

solution.

A. 

B. 

C. 

D. 

KMnO4

CO2

SO2

NO2

P2O5

https://dl.doubtnut.com/l/_JdJy4XbxWsZO
https://dl.doubtnut.com/l/_bfmglieNnoXD


Answer: B

Watch Video Solution

2. In which pair of ions both the species contain S-S bond ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S2O
2 −
7 , S2O

2 −
3

S4O
2 −
6 , S2O

2 −
3

S2O
2 −
7 , S2O

2 −
6

S4O
2 −
6 , S2O

2 −
7

3. It is because of inability of  electrons of the valence shell to

participate in bonding that

ns2

https://dl.doubtnut.com/l/_bfmglieNnoXD
https://dl.doubtnut.com/l/_Gn6CVcGAvkSI
https://dl.doubtnut.com/l/_WDdWG3yUNeRn


A.  is reducing while  is oxidising

B.  is oxidising while  is reducing

C.  and  are both oxidising and reducing

D.  is reducing while  is oxidising

Answer: A

Watch Video Solution

Sn2 + Pb4 +

Sn2 + Pb4 +

Sn2 + Pb2 +

Sn4 + Pb4 +

4. Match the interhalogen compounds of column I with the

geometry in column II and assign the correct code 

https://dl.doubtnut.com/l/_WDdWG3yUNeRn
https://dl.doubtnut.com/l/_ZXsljcEf7tQ7


A. a(iii) , b(iv) , c (i) , d (ii)

B. a (iii) , b (i) , c(iv) , d(ii)

C. a (v) , b (iv) , c (iii) , d(ii)

D. a(iv) , b(iii) , c (ii) , d (i)

Answer: B

Watch Video Solution

5.  is a soluble in HF only in presence of KF. It is due to the

formation of

A. 

B. 

C. 

D. 

AlF3

K3[AlF3H3]

K3[AlF6]

AlH3

K[AlF3H]

https://dl.doubtnut.com/l/_ZXsljcEf7tQ7
https://dl.doubtnut.com/l/_vRxWGgNPjVbC


Answer: B

Watch Video Solution

6. When copper is heated with conc.  it produces

A.  and 

B.  and 

C.  and NO

D.  and 

Answer: B

Watch Video Solution

HNO3

Cu(NO3)2 N2O

Cu(NO3)2 NO2

Cu(NO3)2

Cu(NO3)2, NO NO2

7. Which is the correct statement for the given acids ?

https://dl.doubtnut.com/l/_vRxWGgNPjVbC
https://dl.doubtnut.com/l/_qkQ47af5RQfk
https://dl.doubtnut.com/l/_wEDYypocQyic


A. Phosphinic acid is a diprotic acid while phosphonic acid is a

monoprotic acid

B. Phosphinic acid is a monoprotic acid while phosphoric acid is a

diprotic acid

C. Both are diprotic acids

D. Both are triprotic acids

Answer: B

Watch Video Solution

8. Among the following the correct order of acidity is

A. 

B. 

C. 

HClO4 < HClO2 < HClO < HClO3

HClO3 < HClO4 < HClO2 < HClO

HClO < HClO2 < HClO3 < HClO4

https://dl.doubtnut.com/l/_wEDYypocQyic
https://dl.doubtnut.com/l/_Yj4PbMMG7vHt


D. 

Answer: C

Watch Video Solution

HClO2 < HClO < HClO3 < HClO4

9. The product obtained as a result of a reaction of nitrogen with

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaC2

Ca2CN

Ca(CN)2

CaCN

CaCN3

https://dl.doubtnut.com/l/_Yj4PbMMG7vHt
https://dl.doubtnut.com/l/_oj7OadiNE3jU
https://dl.doubtnut.com/l/_zJVpEEgGfEHD


10. Which one the following orders is correc for the bond

dissociation enthalpy of halogen molecules?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F2 > Cl2 > Br2 > l2

l2 > Br2 > Cl2 > F2

Cl2 > Br2 > F2 > l2

Br2 > l2 > F2 > Cl2

11. Stability of monovalent and trivalent cations of  lie in

following sequence :

A. 

B. 

Ga, In, Tl

T l < ln > Ga

ln < Ga < Tl

https://dl.doubtnut.com/l/_zJVpEEgGfEHD
https://dl.doubtnut.com/l/_Px0hKgJFfitu


C. 

D. 

Answer: D

Watch Video Solution

Ga < ln < Tl

Ga < ln < Tl

12. The variation of the boiling point of the hydrogen halides is in

the order . What explains the higher

boiling point of hydrogen fluoride?

A. The bond energy of HF molecules is greater than in other

hydrogen halides

B. The effect of nuclear shielding is much reduced in fluorine

which polarises the HF molecule

HF > HI > HBr > HCl

https://dl.doubtnut.com/l/_Px0hKgJFfitu
https://dl.doubtnut.com/l/_HWIvm37T65XV


C. The electronegativity of fluorine is much higher than for other

elements in the group

D. There is strong hydrogen bonding between HF molecules

Answer: D

Watch Video Solution

13. Which of the statements given below is incorrect ?

A. ONF is isoelectronic with 

B.  is an oxide of fluorine

C.  is anhydride of perchloric acid

D.  molecule is bent

Answer: B

Watch Video Solution

O2N
−

OF2

Cl2O7

O3

https://dl.doubtnut.com/l/_HWIvm37T65XV
https://dl.doubtnut.com/l/_VqXAXEsMU1me


14. Strong reducing behaviour of  is due to

A. Low oxidation state of phosphorus

B. Presence of two - OH groups and one P-H bond

C. Presence of one - OH group and two P-H bonds

D. High electron gain enthalpy of phosphorus

Answer: C

Watch Video Solution

H3PO2

15. Acidity of diprotic acids in aqueous solutions increases in the

order

A. 

B. 

H2S < H2Se < H2Te

H2Se < H2S < H2Te

https://dl.doubtnut.com/l/_VqXAXEsMU1me
https://dl.doubtnut.com/l/_Ri6451bCk7Ae
https://dl.doubtnut.com/l/_b3MiLvRTQiwF


C. 

D. 

Answer: A

Watch Video Solution

H2Te < H2S < H2Se

H2Se < H2Te < H2S

16. Which of the following structure is similar to graphite.

A. B

B. 

C. 

D. 

Answer: D

Watch Video Solution

B4C

B2H6

BN

https://dl.doubtnut.com/l/_b3MiLvRTQiwF
https://dl.doubtnut.com/l/_uo8RFnDcbxGh
https://dl.doubtnut.com/l/_JXbkLomDnLe0


17. Which of these is not a monomer for a high molecular mass

silicon polymer

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Me2SiCl2

Me2SiCl

PhSiCl3

MeSiCl3

18. Which of these is least likely to act as a Lewis base ?

A. 

B. 

C. 

F −

BF3

PF3

https://dl.doubtnut.com/l/_JXbkLomDnLe0
https://dl.doubtnut.com/l/_vrI5ufonc6Wj


D. 

Answer: B

Watch Video Solution

CO

19. The basic structural unit of silicates is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SiO
4 −
4

SiO2 −
3

SiO
2 −
4

SiO−

https://dl.doubtnut.com/l/_vrI5ufonc6Wj
https://dl.doubtnut.com/l/_tHWU5brEObGI


20. Which of the following is electron deficient ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(SiH3)2

(BH3)2

PH3

(CH3)2

21. Which is the strongest acid in the following ?

A. 

B. 

C. 

HClO3

HClO4

H2SO3

https://dl.doubtnut.com/l/_ZQPfmCTSbiOr
https://dl.doubtnut.com/l/_yL0qNVVeCOEs


D. 

Answer: B

Watch Video Solution

H2SO4

22. Roasting of sulphides gives the gas X as a by-product. This is a

colourless gas with choking smell of burnt sulphur and causes great

damage to respiratory organs as a result of acid rain. Its aqueous

solution is acidic acts as a reducing agent and its acid has never

insolated. The gas X is

A. 

B. 

C. 

D. 

SO2

CO2

SO3

H2S

https://dl.doubtnut.com/l/_yL0qNVVeCOEs
https://dl.doubtnut.com/l/_r9P4MHgBSXHY


Answer: A

Watch Video Solution

23.  is isostructural with

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF2

ICl−
2

SbCl3

BaCl2

TeF2

24. Which of the following does not give oxygen on heating?

https://dl.doubtnut.com/l/_r9P4MHgBSXHY
https://dl.doubtnut.com/l/_SEwbnMkDC4d6
https://dl.doubtnut.com/l/_DNPvIUrVBGrq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Zn(ClO3)2

K2Cr2O7

(NH4)2Cr2O7

KClO3

25. Which of the following species contains three bond pairs and

one lone pair around the central atom?

A. 

B. 

C. 

D. 

NH −
2

PCl3

H2O

BF3

https://dl.doubtnut.com/l/_DNPvIUrVBGrq
https://dl.doubtnut.com/l/_YL18fhA1p4sd


Answer: B

Watch Video Solution

26. When  gas reacts with hote and concentrated sodium

hydroxide solution, the oxidation number of chlorine changes from

A. Zero to  and zero to 

B. Zero to  and zero to 

C. Zero to  and zero to 

D. Zero to  and zero to 

Answer: D

Watch Video Solution

Cl2

−1 +3

+1 −3

+1 −5

−1 +5

https://dl.doubtnut.com/l/_YL18fhA1p4sd
https://dl.doubtnut.com/l/_69diLZApiCl9


27. A mixture of potassium chlorate, oxalic acid and sulphuric acid is

heated. During the reaction which element undergoes maximum

change in the oxidation number?

A. Cl

B. C

C. S

D. H

Answer: A

Watch Video Solution

28. Sulphur trioxide can be obtained by which of the followng

reaction?

A. S + H2SO4

Δ
−−→

https://dl.doubtnut.com/l/_pEw4wPboAGjQ
https://dl.doubtnut.com/l/_8K32TKpMTAnN


B. 

C. 

D. 

Answer: D

Watch Video Solution

H2SO4 + PCl5
Δ

−−→

CaSO4 + C
Δ

−−→

Fe2(SO4)3

Δ
−−→

29. Which of the following statement is not valid for oxoacids of

phosphorus?

A. All oxoacids contain tetrahedral four coordinated phosphorus

B. All oxoacids contain atleast one P = O unit and one P-OH group

C. Orthophosphoric acid is used in the manufacture of triple

superphosphate

D. Hypophosphorous acid is a diprotic acid

https://dl.doubtnut.com/l/_8K32TKpMTAnN
https://dl.doubtnut.com/l/_rd11md9lpfP4


Answer: D

Watch Video Solution

30. In which of the following arrangements, the sequence is not

strictly according to the property written against it ?

A.  : Increasing acidic strength

B.  : increasing  values

C.  : Increasing acidic character

D.  : Increasing oxidising power

Answer: B

Watch Video Solution

HF < HCl < HBr < Hl

(H2O) < H2S < H2Se < H2Te pKa

NH3 < PH3 < AsH3 < SbH3

CO2 < SiO2 < SnO2 < PbO2

31. Which of the following is least likely to behave as Lewis base ?

https://dl.doubtnut.com/l/_rd11md9lpfP4
https://dl.doubtnut.com/l/_lXcpLabY1Mmi
https://dl.doubtnut.com/l/_xF8TMg2fDpaP


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

OH −

H2O

NH3

BF3

32. Name the type of the structure of silicate in which one oxygen

atom of  is shared ?

A. Three dimensional

B. Linear chain silicate

C. Sheet silicate

D. Pyrosilicate

[SiO4]4 −

https://dl.doubtnut.com/l/_xF8TMg2fDpaP
https://dl.doubtnut.com/l/_H8Q0xRKpUwki


Answer: D

Watch Video Solution

33. Which of the following oxide is amphoteric?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SiO2

CO2

SnO2

CaO

34. Which one of the following molecules hydrides acts as a Lewis

acid ?

https://dl.doubtnut.com/l/_H8Q0xRKpUwki
https://dl.doubtnut.com/l/_f2cisEvPWWu8
https://dl.doubtnut.com/l/_tNvMdRlkvOZ0


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

H2O

B2H6

CH4

35. The tendency of  and  behave as Lewis acid

decreases in the sequnece


(a) 



(b) 



(c) 



(d)

A. 

bF3, BCl3 BBr3

BCl3 > BF3 > BBr3

BBr3 > BCl3 > BF3

BBr3 > BF3 > BCl3

BF3 > BCl3 > BBr3

BCl3 > BF3 > BBr3

https://dl.doubtnut.com/l/_tNvMdRlkvOZ0
https://dl.doubtnut.com/l/_MI6V987ARkM3


B. 

C. 

D. 

Answer: B

Watch Video Solution

BBr3 > BCl3 > BF3

BBr3 > BF3 > BCl3

BF3 > BCl3 > BBr3

36. The correct order of increasing bond angles in the following

species is

A. 

B. 

C. 

D. 

Answer: C

Cl2O < ClO2 < ClO−
2

ClO2 < Cl2O < ClO−
2

Cl2O < ClO−
2 < ClO2

ClO−
2 < Cl2O < ClO2

https://dl.doubtnut.com/l/_MI6V987ARkM3
https://dl.doubtnut.com/l/_aiogkanWesBD


Watch Video Solution

37. How many bridging oxygen atoms are presents in  ?

A. 6

B. 4

C. 2

D. 5

Answer: A

Watch Video Solution

P4O10

38. Which of the following molecules acts as a Lewis acid ?

A. 

B. 

(CH3)2O

(CH3)3P

https://dl.doubtnut.com/l/_aiogkanWesBD
https://dl.doubtnut.com/l/_94ZQS4lILKky
https://dl.doubtnut.com/l/_VGpu7xj295lq


C. 

D.  B

Answer: D

Watch Video Solution

(CH3)3N

(CH3)3

39. Which of the following is the strongest oxidising agent ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Br2

l2

Cl2

F2

https://dl.doubtnut.com/l/_VGpu7xj295lq
https://dl.doubtnut.com/l/_AtiboMrzN0so
https://dl.doubtnut.com/l/_mXDZzrprm6IR


40. Which one of the following anions is present in the chain

strucutre silicates ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SiO
4 −
4

Si2O
6 −
7

(SiO2 −
3 )

n

(Si2O
2 −
5 )

n

41. Which of the following oxidatioin states are the most

characteristics for lead and tin respectively?

A. 

B. 

+2, + 2

+4, + 2

https://dl.doubtnut.com/l/_mXDZzrprm6IR
https://dl.doubtnut.com/l/_v8JF454k6fWu


C. 

D. 

Answer: C

Watch Video Solution

+2, + 4

+4, + 4

42. Which one of the following orders correctly represents the

increasing acid strengths of the given acids:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOClO3 < HOClO2 < HOClO < HOCl

HOCl < HOClO < HOClO2 < HOClO3

HOClO3 < HOCl < HOClO3 < HOClO2

HOClO2 < HOClO3 < HOClO < HOCl

https://dl.doubtnut.com/l/_v8JF454k6fWu
https://dl.doubtnut.com/l/_bnHgGreIhixS


43.  can be converted into anhydrous  by heating

A.  with HCl gas

B.  with NaCl in solid state

C. A mixture of  and carbon in dry  gas

D.  with  gas

Answer: C

Watch Video Solution

Al2O3 AlCl3

Al2O3

Al2O3

Al2O3 Cl2

Al2O3 Cl2

44. Which of the following is the most basic oxide ?

A. 

B. 

C. 

Al2O3

Sb2O3

Bi2O3

https://dl.doubtnut.com/l/_bnHgGreIhixS
https://dl.doubtnut.com/l/_G5JBx72ZykMp
https://dl.doubtnut.com/l/_D9goBPPcsmc9


D. 

Answer: C

Watch Video Solution

SeO2

45. Which of the following is not isostructural with  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SiCl4

SCl4

SO
2 −
4

PO
3 −
4

NH
+

4

https://dl.doubtnut.com/l/_D9goBPPcsmc9
https://dl.doubtnut.com/l/_DVUde5XGDOSC


46. In which of the following molecules are all the bonds not equal ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ClF3

BF3

AlF3

NF3

47. Which one of the following orders is not correct in accordance

with the property stated against is ?

A.  : Oxidising power

B.  , Acidic property in water

F2 > Cl2 > Br2 > l2

Hl > HBr > HCl > HF

https://dl.doubtnut.com/l/_UaCtx31pBThw
https://dl.doubtnut.com/l/_rKeI0Ll14v1k


C.  , Electronegativity

D.  : Bond dissociation energy

Answer: D

Watch Video Solution

F2 > Cl2 > Br2 > l2

F2 > Cl2 > Br2 > l2

48. Which of the following is the electron deficient molecule -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B2H6

C2H6

PH3

SiH4

https://dl.doubtnut.com/l/_rKeI0Ll14v1k
https://dl.doubtnut.com/l/_mRgBHicwoBo0
https://dl.doubtnut.com/l/_TKxdFku3Tt9j


49. Which statement is wrong ?

A. Feldspars are not aluminosilicates

B. Beryl is an example of cyclic silicate

C.  is orthosilicate

D. Basic structural unit in silicates  is the tetrahedron

Answer: A

Watch Video Solution

Mg2SiO4

SiO
4 −
4

50. Carbon and silicon belong to group . The maximum

coordination number of carbon in commonly occuring compounds

is four whereas that of silicon is six. This is due to

A. Availability of low lying d-orbitals in silicon

B. Large size of silicon

IV

https://dl.doubtnut.com/l/_TKxdFku3Tt9j
https://dl.doubtnut.com/l/_Kapaq3OaHf3r


C. More electropositive nature of silicon

D. Both (2) & (3)

Answer: A

Watch Video Solution

51. Which of the following statements about  is not correct ?

A. It has a layer structure in which planar  units are joined

by hydrogen bonds

B. It does not act as proton donor but acts as a Lewis acid by

accepting hydroxyl ion

C. It is a strong tribasic acid

D. It is prepared by acidifying an aqueous solution of borax

Answer: C

H3BO3

BO3

https://dl.doubtnut.com/l/_Kapaq3OaHf3r
https://dl.doubtnut.com/l/_KCWkfpEWpjUd


Watch Video Solution

52. Aluminium (III) chloride forms a dimer because aluminium

A. Belongs to  group

B. Can have higher coordination number

C. Cannot form a trimer

D. Has high ionization energy

Answer: B

Watch Video Solution

3rd

53. Why boron compounds behave as lewis acid ?

A. Ionisation property

B. Electron deficient nature

https://dl.doubtnut.com/l/_KCWkfpEWpjUd
https://dl.doubtnut.com/l/_WUaF4mlX6ZSH
https://dl.doubtnut.com/l/_irCdXNB76LQA


C. Acidic nature

D. Covalent nature

Answer: B

Watch Video Solution

54. In graphite, electrons are

A. Localised on each C-atom

B. Localised on every third C- atom

C. Delocalised within the layer

D. Present in anti-bonding orbital

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_irCdXNB76LQA
https://dl.doubtnut.com/l/_Kd9qICYHyQpy
https://dl.doubtnut.com/l/_nDxzA4uVNKyr


55. In borax bead test which compound is formed ?

A. Orthoborate

B. Metaborate

C. Double oxide

D. Tetraborate

Answer: B

Watch Video Solution

56. Which one of the following statements about the zeolite is false?

A. They are used as cation exchangers

B. They have open structure which enables them to take up small

molecules

https://dl.doubtnut.com/l/_nDxzA4uVNKyr
https://dl.doubtnut.com/l/_c1UksgIz8BAL


C. Zerolites are aluminosilicates having three dimensional

network

D. Some of the  units are replaced by  and 

ions in zeolites

Answer: D

Watch Video Solution

SiO
4 −
4 AlO

5 −
4 AlO9 −

6

57. The straight chain polymer is formed by

A. Hydrolysis of  followed by condensation

polymerisation

B. Hydrolysis of  followed by condensation

polymerisation

(CH3)2, SiCl2

(CH3)2SiCl

https://dl.doubtnut.com/l/_c1UksgIz8BAL
https://dl.doubtnut.com/l/_YR0Kwm0URyGF


C. Hydrolysis of  followed by condensation

polymerisation

D. Hydrolysis of  Si by addition polymerisation

Answer: A

Watch Video Solution

CH3SiCl3

(CH3)4

58. The metal oxide which cannot be reduced to metal by carbon is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe2O3

Al2O3

PbO

ZnO

https://dl.doubtnut.com/l/_YR0Kwm0URyGF
https://dl.doubtnut.com/l/_5jV8TUa8R0NU


59. Oxalic acid on treatment with conc.  gives

A. CO only

B.  only

C. 

D. 

Answer: D

Watch Video Solution

H2SO4

CO2

CO2 + H2O

CO + CO2 + H2O

60. Chemical formula of phosgene is :

A. 

B. 

COCl2

CaOCl2

https://dl.doubtnut.com/l/_5jV8TUa8R0NU
https://dl.doubtnut.com/l/_wa3hIW5bBK4x
https://dl.doubtnut.com/l/_4vwHwroIl2ij


C. 

D. 

Answer: A

Watch Video Solution

CaCO3

COCl

61. In which of the following compounds, nitrogen exhibits highest

oxidation state?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N3H

NH2OH

N2H4

NH3

https://dl.doubtnut.com/l/_4vwHwroIl2ij
https://dl.doubtnut.com/l/_nR9ktjqQHpn1


62. Which of the following displaces  from an aqueous solution

containing bromide ions ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br2

I2

I −
3

Cl2

Cl−

63. Repeateed use of which one of the following fertilizers would

increases the acidity of the soil ?

A. Ammonium sulphate

https://dl.doubtnut.com/l/_nR9ktjqQHpn1
https://dl.doubtnut.com/l/_S61cKQK4twVZ
https://dl.doubtnut.com/l/_QDgiIWr8IuNx


B. Superphosphate of lime

C. Urea

D. Potassium nitrate

Answer: A

Watch Video Solution

64. Which of the following oxides is most acidic ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

As2O5

P2O5

N2O5

Sb2O5

https://dl.doubtnut.com/l/_QDgiIWr8IuNx
https://dl.doubtnut.com/l/_2qii8mhvCYcV


65. Which of the following is phosphorus is the most reactive ?

A. Scarlet phosphorus

B. White phosphorus

C. Red phosphorus

D. Violet phosphorus

Answer: B

Watch Video Solution

66. The decomposition of organic compounds, in the presence of

oxygen and without the development of odoriferous substances, is

called

A. Nitrification

https://dl.doubtnut.com/l/_2qii8mhvCYcV
https://dl.doubtnut.com/l/_9ogishXOyP4z
https://dl.doubtnut.com/l/_ka8K5O4RjQ2Z


B.  - fixation

C. Decay

D. Denitrification

Answer: C

Watch Video Solution

N2

67. Nitrogen forms stable  molecule but phosphorus is converted

to  because

A. Triple bond present between phosphorus atom

B.  bonding is weak

C.  bonding is strong

D. Multiple bonds form easily

Answer: B

N2

P4  from P2

pπ − pπ

pπ − pπ

https://dl.doubtnut.com/l/_ka8K5O4RjQ2Z
https://dl.doubtnut.com/l/_mgOmZpgERtGr


Watch Video Solution

68. Which reaction is not feasible ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2Kl + Br2 → 2KBr + l2

2KBr + l2 → 2Kl + Br2

2KBr + Cl2 → 2KCl + Br2

2H2O + 2F2 → 4HF + O2

69. Which one of the following statements is not true

A. Among halide ions , iodide is the most powerful reducing

agent

https://dl.doubtnut.com/l/_mgOmZpgERtGr
https://dl.doubtnut.com/l/_sgQoRNHcLGGX
https://dl.doubtnut.com/l/_yr5iNpZsAL5p


B. Fluorine is the only halogen that does not show a variable

oxidation state

C. HOCl is a stronger acid than 

D. HF is a stronger acid than HCl

Answer: D

Watch Video Solution

HOBr

70. Oxidation states of P in  respectively

are

A. 

B. 

C. 

D. 

H4P2O5, H4P2O6, H4P2O7

+3, + 4, + 5

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

https://dl.doubtnut.com/l/_yr5iNpZsAL5p
https://dl.doubtnut.com/l/_8AzwZlkOmBQw


Answer: A

Watch Video Solution

71. In which one of the following species the central atom has the

type of hybridisation which is not the same as that present in the

other three ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

SF4

I −
3

SbCl2 −
5

https://dl.doubtnut.com/l/_8AzwZlkOmBQw
https://dl.doubtnut.com/l/_b4yGnjlNmEC9


72. Least volatile hydrogen halide is

A. HF

B. HCl

C. HBr

D. Hl

Answer: A

Watch Video Solution

73. Pb on reaction with conc.  gives

A. 

B. 

C. 

HNO3

Pb(NO3)2 + NO2

PbNO3 + N2O

Pb(NO3)2 + N2O3

https://dl.doubtnut.com/l/_fd8X39VuNvnX
https://dl.doubtnut.com/l/_2eiPtNT5BVFl


D. 

Answer: A

Watch Video Solution

Pb(NO3)2 + N2O

74. Which has ability to release bromine from KBr ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l2

Br2

Cl2

SO2

https://dl.doubtnut.com/l/_2eiPtNT5BVFl
https://dl.doubtnut.com/l/_EEC4QjP3UFAq


75. Which of the following has P-P linkage ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H4P2O6

H4P2O7

HPO3

H3PO4

76. The bonds present in  are .

A. Only covalent

B. Only ionic

C. Covalent and coordinate

N2O5

https://dl.doubtnut.com/l/_xcWc12q46f2H
https://dl.doubtnut.com/l/_oRbUAJoXHxX0


D. Covalent and ionic

Answer: C

Watch Video Solution

77. Which of the following dissolves in water but does not give any

oxyacid solution ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2

OF2

SCl4

SO3

https://dl.doubtnut.com/l/_oRbUAJoXHxX0
https://dl.doubtnut.com/l/_ET6jSGiDI0Kt
https://dl.doubtnut.com/l/_8k1WVrTC3spz


ASSIGNMENT (Section - D) (Assertion-Reason Questions)

78. Which of the following is used during the preparation of fluorine

by Whytlaw-Gray met

A. KF(aq)

B. HF(aq)

C. Molten 

D. 

Answer: C

Watch Video Solution

KHF2

NH4F

1. A : Borazine is more reactive than benzene . 

R : Borazine is isostructural with benzene

https://dl.doubtnut.com/l/_8k1WVrTC3spz
https://dl.doubtnut.com/l/_oFJS4lnmSSsn


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

2. A : In Diborane containing eight -B-H bonds only four B-H bonds

are on the plane . 

R : Boron in  is  hybridised .B2H6 sp2

https://dl.doubtnut.com/l/_oFJS4lnmSSsn
https://dl.doubtnut.com/l/_eAQkbkgLgBEp


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

3. A : All the oxides of boron family with the general formula 

are basic . 

R : From  to  basic character decreases .

M2O3

B2O3 Tl2O3

https://dl.doubtnut.com/l/_eAQkbkgLgBEp
https://dl.doubtnut.com/l/_2TVgw1OVs3uv


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

4. A : When borax is strongly heated it forms transparent glassy

bead . 

R : Borax is the other name for sodium tetraborate decahydrate.

https://dl.doubtnut.com/l/_2TVgw1OVs3uv
https://dl.doubtnut.com/l/_DuGSVIuDe8KO


A. Both Assertion & Reason are true and the reason is the

correct explanation of the assertion

B. Both Assertion & Reason are true but the reason is not the

correct explanation of the assertion

C. Assertion is true statement but Reason is false

D. Both Assertion and Reason are false statements

Answer: B

Watch Video Solution

5. A :  is thermally more stable than  . 


R : C- Br bond energy is more than C-l

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

CBr4 Cl4

https://dl.doubtnut.com/l/_DuGSVIuDe8KO
https://dl.doubtnut.com/l/_ZSuqahi54bUf


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

6. A : Boric acid is weak monobasic acid . 

R : Boric acid give one  ion .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

H +

https://dl.doubtnut.com/l/_ZSuqahi54bUf
https://dl.doubtnut.com/l/_Zl0ML7L4ped5


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

7. A : Al forms  


R : It is octahedral complex .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

[AlF6]3 −

https://dl.doubtnut.com/l/_Zl0ML7L4ped5
https://dl.doubtnut.com/l/_gbiY11nNkfhY


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

8. A : Anhydride of carbonic acid is  . 


R : Carbonic acid is dibasic .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

CO2

https://dl.doubtnut.com/l/_gbiY11nNkfhY
https://dl.doubtnut.com/l/_IfufkXrkn6ZR


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

9. A :  is interstitial carbide 


R : Calcium ions are present in the Interstices .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

CaC2

https://dl.doubtnut.com/l/_IfufkXrkn6ZR
https://dl.doubtnut.com/l/_N7STTS3rgmK4


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

10. A : Fullerene is the purest allotrope of carbon . 

R : They have smooth structure without danging bonds .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

https://dl.doubtnut.com/l/_N7STTS3rgmK4
https://dl.doubtnut.com/l/_MpPXbmVCWH4E


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

11. A :  is easily hydrolysed by water . 


R : Central atom can accommodate lone pair of  from oxygen

atom of water molecules in 

GeCl4

e−

GeCl4

https://dl.doubtnut.com/l/_MpPXbmVCWH4E
https://dl.doubtnut.com/l/_VoPFot1KJB1s


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

12. A : Carbon has maximum tendency of catenation among group 14

. 

R : C- C bond strength is very strong .

https://dl.doubtnut.com/l/_VoPFot1KJB1s
https://dl.doubtnut.com/l/_UtLKJxSPEomr


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

13. A : Oxides of carbon in higher oxidation state is more acidic than

in lower oxidation state . 

R : Both  and CO can exist .CO2

https://dl.doubtnut.com/l/_UtLKJxSPEomr
https://dl.doubtnut.com/l/_u2TXVFoRkYOX


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

14. A : Heavier elements of 14th group do not form  bonds . 


R : Atomic orbital of heavier elements are too large and do not have

effective overlapping .

pπ − pπ

https://dl.doubtnut.com/l/_u2TXVFoRkYOX
https://dl.doubtnut.com/l/_NJSK8gEGfiTB


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

15. A : Carbon shows anamolous behaviour in group Gp- 14 . 

R : Carbon has maximum covalency of 4 .

https://dl.doubtnut.com/l/_NJSK8gEGfiTB
https://dl.doubtnut.com/l/_Oou8HgwPw0Nd


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

16. A :  is the only hydride of chalcogen family which is liquid . 


R : Acidic nature of hydrides of chalcogen family increases down the

group .

H2O

https://dl.doubtnut.com/l/_Oou8HgwPw0Nd
https://dl.doubtnut.com/l/_JHrqg7qZGBbr


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

17. A :  and  have similar shapes . 


R : All the bond lengths are equal 

PF5 IF5

PF5

https://dl.doubtnut.com/l/_JHrqg7qZGBbr
https://dl.doubtnut.com/l/_F1b0yoYez13y


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

18. A : Atomic size of F is smaller than that of Cl . 

R : F- F bond is stronger than Cl-Cl bond .

https://dl.doubtnut.com/l/_F1b0yoYez13y
https://dl.doubtnut.com/l/_1Jrdjl6eBR2x


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

19. Assertion (A) :  is more reactive than  


Reason (R) :  bonds are relatively weaker than 

P4 N2

P − P N ≡ N

https://dl.doubtnut.com/l/_1Jrdjl6eBR2x
https://dl.doubtnut.com/l/_5kGj0mRImeoD


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

20. A : Noble gases have highest ionization energies in their

respective periods . 

https://dl.doubtnut.com/l/_5kGj0mRImeoD
https://dl.doubtnut.com/l/_i20n2vTC5G6E


R : The outer most sub-shell of noble gases in which electron enters

is completely filled .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_i20n2vTC5G6E


21. A : The bond angle of  is greater than  . 


R : 'Bi' is metal while N is non - metal .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

NH3 BiH3

https://dl.doubtnut.com/l/_4H9D6vpWd9Ox


22. A :  on the reaction with RbF gives  


R :  is non - reactive .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

XeF6 Rb[XeF7]

XeF6

https://dl.doubtnut.com/l/_0OPOH9uQG1vX


23. A : Tailing of Hg caused by ozone is due to formation of HgO . 

R : In the presence of  , Hg does not loses its meniscus .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

O3

https://dl.doubtnut.com/l/_kpUJF23qRZgF


24. A : The valency and oxidation number of sulphur in 

respectively are 2 and 0 . 

R :  Rhombic is the most stable allotropic form of sulphur .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

S8

S8

https://dl.doubtnut.com/l/_00xYa1IzUkkA


25. A : Dissolution of concentrated  in water is highly

exothermic process . 

R : Sulphuric acid is always diluted by adding acid to water slowly .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_IqGyGwdURTok


26. A :  is more stable than  . 


R : Bond order of  is more than that of  .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

N2 O2

N2 O2

https://dl.doubtnut.com/l/_2NwfORhDcqEM


27. A :  is not possible . 


[R] :  oxidation state of phosphorus is not possible .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

PH5

−5

https://dl.doubtnut.com/l/_CjdjiD4LdySL


28. A :  is more polar than  . 


R :  cannot be hydrolysed .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

NH3 NF3

NF3

https://dl.doubtnut.com/l/_4wiwJKKtRcqJ


29. A :  is better oxidizing agent than  . 


R :  converts Ag to  .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

O3 H2O2

O3 Ag2O

https://dl.doubtnut.com/l/_W7xrlygxen9j


30. A :  on reaction with  gives  . 


R : This reaction involves colour and electronic change both .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

Na2S2O3 l2 Na2S4O6

https://dl.doubtnut.com/l/_O4DyIIOeOMYg


31. A :  on reaction with NaOH (cold and dilute) gives  . 


R :  get oxidized only in this reaction .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

Cl2 NaClO3

Cl2

https://dl.doubtnut.com/l/_le3WGR3rcpwJ


32. A :  is a reaction having 

. 

R :  is better oxidizing agent than  .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

2F − + Cl2 → 2Cl− + F2 ΔG0 = − ve

Cl2 F2

https://dl.doubtnut.com/l/_tH5BWbM7SMzj


33. A :  is less acidic than  . 


R : Oxidation state of phosphorus in  .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

H3PO4 H3PO3

H3PO4 < H3PO3

https://dl.doubtnut.com/l/_bNVSXoxD0Lg7


34. A :  is pseudohalide . 


R :  is pseudohalogen .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

CN −

(CN)2

https://dl.doubtnut.com/l/_WG0qt7ukQM6p


35. A : Xe is the only element of group 18 which from compounds . 

R : Xe does not form clatherates

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_eAR2aTc35RZq

